
����������� ����	�
 ��� 
���������

���� �
��
	���	
 �
���	
�
���

��	��
��������
�������

����� ��
����

������ ����

���������	 
���� 
��
� 
� ��������

��������� 
� ������� �� ���������� ��
��������

����� �����





����������� ����	�
 ��� 
���������

���� �
��
	���	
 �
���	
�
���

��	��
��������
�������

����� ��
����

������ ����

������������

����� 	������ � � ���

����� !��"� #$� ��% � $&���'

���������	 
���� 
��
� 
� ��������

��������� 
� ������� �� ���������� ��
��������

����� �����



������ ���� 	�
 ������ �����

���� ��� ������ ��������� ����� ��������� ������� ���
������� �������� ������ �� �	���� ���� ��  !! � ��""� ����#"�
���� � ����"��� ��
�$%$ � �$&! ��� '���"� "�����( �� ��"����������� 	�� �"�	� �������"� � �� ��"��"�)
* ������� +�������� �����

� 	�� #�� "�����"����� ,� ���� "��� ����� ��� �����

�
������ ��	������ �� "������� "���
���� ����� -����� �� �����
����� �������������
������ � 	��
����� ���� ��������� 	�� ����� � .����� , ��"������ ��	������� ����
�����	���� ���� �������
���� �������� �� ������ ��� ���	���� ��� ������� �� �������
�� +�����+�� ����� ���� ����� -������



���� ��� ���������

� 	
� �� ��
�� ����

� � 	
� �
� �������





�

��������

�������� �	


 ����
����	
� 


��� /���������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �

��� 0�����1 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �

��! .������������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �

� �
���
� ��� ���	���	
� 
����	�� �

��� ������������ "������ �������2 � � � � � � � � � � � � � � � � � � � � � � %

����� 0���� �- �3� ��� � � � � � � � � � � � � � � � � � � � � � � � � � %

��� ������������ ���������� �������2 � � � � � � � � � � � � � � � � � � � � �

����� 0���� �- �3� ��� � � � � � � � � � � � � � � � � � � � � � � � � � �4

��! '������������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��

��� '3�	��� ������1 � � � � � � � � � � � � � � � � � � � � � � � � � � � ��

� �	��	����	
� �
����� 
�

!�� ,������"���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �$

!�� '����� ����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 

!�! '��� ����1 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��

!�� '������ 	������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��

!�$ '��	������� ���������� -��� �� ���������� 	���	�"���� � � � � � � � �!



�� '�������

!� 5��������� 	������ � � � � � � � � � � � � � � � � � � � � � � � � � � �$

!�% ���	������� �������� 2��3 	��6"��	����� "����������� ������� � �&

!�& '3�	��� ������1 � � � � � � � � � � � � � � � � � � � � � � � � � � � !�

� �����������	 
����	 
�	�
�� ��

� �
���
� ���
�	��� ��

��� ,������"���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � !%

��� .�������1 "��"�	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � !&

��! '����������� "��������� � � � � � � � � � � � � � � � � � � � � � � � � � !�

��!�� ���������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � �4

��!�� 5+�������"� 2��3 "����������� ., � � � � � � � � � � � � � � � �!

��!�! ����62����	 -������ � � � � � � � � � � � � � � � � � � � � � � �!

��!�� ������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �$

��� '��"��� "��������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � 

����� ���������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 

����� ����62����	 -������ � � � � � � � � � � � � � � � � � � � � � � ��

����! ���������� �- � "��"��� ., -��� � � � � � � � � � � � � � � � � $4

����� �1����"� �� ��"��� ����� -��� � � � � � � � � � � � � � � � � $!

����$ ������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � $�

��$ '�7 "��������� ����� �� '������ �1�	���� -��"����� � � � � � � � � $$

��$�� ���������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � $$

��$�� ����62����	 -������ � � � � � � � � � � � � � � � � � � � � � � $�

��$�! ���������� �- � "����������� '�7 ., -��� � � � � � � � � � �  4

��$�� �1����"� �� ��"��� ����� -��� � � � � � � � � � � � � � � � �  �

��$�$ ������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  !

��$� ��8����"�� 2��3 "��"��� "��������� � � � � � � � � � � � � � �  �



'������� ���

�� '3�	��� ������1 � � � � � � � � � � � � � � � � � � � � � � � � � � �  �

� �
���
� ��������� ��

$�� ,������"���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  %

$�� '������ ����"���� -�� "����������� "��������� � � � � � � � � � � � � �  &

$���� 0���"����� ����1��� -�� "����������� "��������� 6 '9� � � � �  �

$���� 0���"����� ������� -�� "����������� "��������� 6 '9� � � � � � %�

$���! 0���"����� ����1��� -�� "����������� "��������� 6 '9� � � � � %&

$���� 0���"����� ������� -�� "����������� "��������� 6 '9� � � � � � &�

$�! '������ ����"���� -�� "��"���6�1	� "���������� � � � � � � � � � � � � &%

$�!�� 0���"����� ����1��� -�� "��"���6�1	� "���������� 6 '9� � � � &%

$�!�� 0���"����� ������� -�� '��"��� "��������� 6 '9� � � � � � � � &&

$�!�! 0���"����� ����1��� -�� "��"���6�1	� "���������� 6 '9� � � � ��

$�!�� 0���"����� ������� -�� '��"��� "��������� 6 '9� � � � � � � � �!

$�!�$ 0���"����� ������� -�� '�7 "��������� 6 '9� � � � � � � � � � ��

$�!� 0���"����� ������� -�� '�7 "��������� 6 '9� � � � � � � � � � ��

$�� '3�	��� ������1 � � � � � � � � � � � � � � � � � � � � � � � � � � � �4�

�� �����������	 
����	 ���������	 ���

� ���	���	
� ���������� ���� �	� 
!�

 �� ,������"���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �4%

 �� 0���"����� ����1��� � � � � � � � � � � � � � � � � � � � � � � � � � � � �4&

 ���� 0���"����� ����1��� 6 59� � � � � � � � � � � � � � � � � � � � �4&

 ���� 0���"����� ����1��� 6 59� � � � � � � � � � � � � � � � � � � � ���

 �! '3�	��� ������1 � � � � � � � � � � � � � � � � � � � � � � � � � � � ���

� ���	���	
� ���
�	��� 

�



���� '�������

%�� :�������" 5�������� �:5( � � � � � � � � � � � � � � � � � � � � � � ��$

%���� ��#������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��$

%���� ��1�	����" ����� 	��	������� ������� �� � :5 � � � � � � � ��%

%���! ������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��%

%�� 5;������ <����� 7����� � � � � � � � � � � � � � � � � � � � � � � � � ��&

%���� 5;������ <����� 7����� 2��3 "��	���� ���������� � � � � � ��&

%���� 5;������ <����� 7����� 2��3 	������ ���������� �=5<7( � ���

%�! '3�	��� ������1 � � � � � � � � � � � � � � � � � � � � � � � � � � � ��4

" ���	���	
� ���������� ������� 
�


&�� ,������"���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ���

&�� 5��������� 9�>�"���� � �59�( � � � � � � � � � � � � � � � � � � � � � ���

&���� :5 ����"����� ������� 6 59� � � � � � � � � � � � � � � � � � � ��!

&�! 5��������� 9�>�"���� � �59�( � � � � � � � � � � � � � � � � � � � � � ���

&�!�� :5 ����"����� ������� 6 59� � � � � � � � � � � � � � � � � � � �!�

&�� '3�	��� ������1 � � � � � � � � � � � � � � � � � � � � � � � � � � � �! 

# �
���
� ��� ���	���	
� ���������� �
������	
�� 
��

��� ,������"���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �!%

��� '������ ��� ���������� ��>�"���� � �'9��59�( � � � � � � � � � � � �!&

����� '����������� "��������� � � � � � � � � � � � � � � � � � � � � �!�

����� '�7 "��������� � � � � � � � � � � � � � � � � � � � � � � � � � �!�

��! '������ ��� ���������� ��>�"���� � �'9��59�( � � � � � � � � � � � ��4

��!�� '����������� "��������� � � � � � � � � � � � � � � � � � � � � ��4

��!�� '�7 "��������� � � � � � � � � � � � � � � � � � � � � � � � � � ��!

��� '3�	��� ������1 � � � � � � � � � � � � � � � � � � � � � � � � � � � ��!



'������� �;


! �
�����	
�� ��� $����� �������� 
��

�4�� '��"������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��$

�4�� 7����� ������"3 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��&

� %
���������� 
�#

&�$������� 
��

��'�
����������� 
�#





����	
��

,� �3�� �3����� �3� 	������ �- "���������� ��� ���������� "��	�������� �- ��������
�� � �����"��	����� "����� 2��3 ���	������� ������������ �� ���������� �3��
2��? �� ��������� �1 �3� ��"�����1 �- ��( ���������� ���� �- �3� �@���� "��	���6
����� ������ �3� 	���"����� ������ -�� � ����� ��	�������� �� �	��� �- ���������"��
�������� �3� "����� �� A�"�������� �� -��� A�2 ����� "��	������� ��� ���	���6
����� ��� ���( ���������� ��"3 "��	�������� �� ����� �� ������� �3� ��	��������

�3��� 	������� "����� �� 	��"��"���1 ������ �1 "��	������� ����1
���� ��"����
�- �3��� 3��3 "���� �- 	��"3��� ��� ���������"�� �3��� ����������1 ������ ��� �3�
����1� �� ��������� "��	������� ������������� � 	������� �������� �� �3� ��6
	��1���� �- ���	������� ������������� 23�"3 �� ��� 	������ �3� ��������6
������ �3���"������� ,� � �����"��	����� ������������ "������ �3� "��	��������
�� � ���1 ��� ��� ���+���1 ���������� �1 �3� ���	������� �� �3� ���� ���1� ���
�3���-��� ���	������� ������� "����� 	������ "��	������� "������ ��� ����������
2��3��� �8���� �3��� � ���3������1 �3�� 	������ �3� �"3�������� �- "��	�������
"������ ��� ���������� ��>�"����� 2��3�� � 	������������ �������"� �� ��"�����1�
�3� ���3������1 ����������� �� �3�� �3���� �� �		���� �� � ��;6"��	����� '!6'�
�	������ �3����3 ���������� �;��	��� �� ����� �� �� �������� �� �3� ����� �- �3�
����"����� �������� �""������ �� ��8����� "������ ��� ���������� ��>�"������

B��3 "������ ��� ���������� 	������� ��� ������ �3����3 � ���#�� ���3������1
�3�� "������� �� �3� 	�������� �- ���3 	������� ���� � ����"����� ��� �� �������36
��" 	���� 	��� �����3�� ��"3��+��� ������1 ��	��1�� ��� ��2 ������ ��� 	������
� �1�������" ������� �� ������� �3� "������ 	���� �3� ����"���� �� ��#��� �� �3�
>���� ����"���� �- ��( �3� ���	�������� �� �� ��������� ��� ���( �3��� 	������ 2��3
�3� "3���� ����	������ ���������� 23��� �3� �������3� �� �3� �1����" ���� 	��6
"����� �3�� 	��"����� ���	������� ������������ �� ����� �� 	��-��� �3� "������
���?� 9� �3� ��3�� 3���� ��������� �3� ���������� 	���� �3� ����"���� �� ��#���
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	������� ��� ���+�����1 ������ ��� ���������� ��� �3� ���	�"���� ������ �- �3�
��� ��� 	��������� 7�����1� ��� ���3�������"�� �		���"3 �� 	�������� ��� "��6
	���� 2��3 ���	�"� �� �3� �;������ ����������� 2��3 �3� �������
����� �- �3� ����
"������������ �- �3� 	������ �3�����
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������������ "������ ��� �������� �� ��	����� � ����� ������ ���� �2� �� ���� �-6
A���� 	����"�� 23��� ?�1 "��	����� ��	������� ��� ��������� ������ 	���"�����
������� �3� ������� "������ 	������ "������� �� �8�"�����1 	��-������ �3�� ��	�6
������ �� �	��� �- ���������"�� ������1 -��� A�2 ����� "��	������� ��� ���	��6
�����(� 2��3 �3� ������� 2���� �- �����1 ��� �3� 3��3��� ��"����1 �- �@����
	����"�� 2��3 �3� �	�"�#�� ��+���������� �3��� �;���� � 3��� ���������� �����
������������ "������� ��� �3���-��� � "3��������"�� 	����������� �- �3� ��	�" 2����
�� ���1 "��	��"���� ��� ��1��� �3� �"�	�� �- �3� 	������ �3����� �3��� ���1 �3�
���� ��	������ 	�	��� ��� 	�������� �����3�� 2��3 �3� ��8����� 	����� "�������
2��3 �3� ��� �- ���������� ��� 2��? �� �3� ���3� �- �3� �;������ �����������
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�- 	��"3����� ��� ���������"�� ����������1 	�������� ��� ����������� ����1��
23�"3 ������ �� �����+��"1 -�� ������ "��	������� "������� �3���-���� "�����
�@���� "��	�������� ��� ������1 ������"��1 "��������� �3����3 ���	������� ���6
���������� 23�"3 �� ��� 3��� �3� �3���"������ ����"����� �� ����"� "��	�������
����1���� ,� �����1 ������������ "������� "��	�������� ��� ���+���1 ������� ��
���	������� �� ���� ���1� 9� �3� ��3�� 3���� �3�� �� ��� ���� -�� �3� �����"��6
	����� "���� ��� �3��� ������� �� � "��	������� �8���� ��� ���	������� "������
�� �		��	����� ��"������ "�� 	������ �M"���� "��	������� ����������� 7���3��6
����� �3� ��� �- �����	�� ���	������� ������������ 	�� ��"���� �"��"���6�1	�
"����������( "�� �-��� ��	���� 	��-�����"��

N3�� ����� ���	������� "������ -�� ������"��1 ���������� 	����"� "��	���������
� "������ ����� �� �3� ������ ��"������ �� �		��	����� ����"���� �- ���	�������
"������ ���1� �M"�����1 	������ �3� ���������� �- �3� "������ ��>�"����� ��8�����
"������� 3��� ���� ��	��1�� �� ����� �� "3���� �3� ���� ���	������� ������ ��"�6
����� ��� ���� �- ���� ���� ��+���� �3� ����"���� �- ���1� 2��3H ��( �3� ������� ���1
�� ���1 ���	������� �������� �=�����?�� �� ���� ��%$() ���( �3� ������� ��������� ��
���	������� -�� � "3���� �� ����	������ ��������� ��������� ��� /"'���� ��&4()
����( �3� ������� "�������� ������ �- �3� �����16����� ��	��6���	�� ���� �����;
�/����� ����(� �3� ���	������� ����"���� ���? �� ���� ��M"��� -�� � �����"��	�6
���� "������ 23��� ���6?�1 "��	������ "�� �������1 ��A���"� �3� ���	�������H
�� �3�� "��� =�����?�� �� ��� ���%$( ���������� �� �������� �� �3� ������� ���6
	������� �������� "�������� �3�� ������� �� ��"���� 23��� ���6?�1 "��	��������
��� ������ "�������� ��1��� ��44 ( "��	���� #�� 2����1 ���� "������� -�� ����"�6
��� ���� "������ ���1 ��"����� -�� � #��6"��	����� ��	��	���
�� ������ ���1
"������( ��� �� �3� ����� �- �����16����� 	��-�����"�� ��������� �3�� ��"������
"���� �� �3� ������� �3� ��	� ��� �3� -��� ������ �3���� �� �������� �""������
�� "������������� �� =�����?�� �� ��� ���%$(� 0��� "��"������� 2��� ������� -��
� �����6"��	����� ��	��	���
�� �1 D��� ��� 0?������� ��44%(� 23� "�������
"������������� �� ���	������� ���������� ���������� �� ���	�������� -�� "3�����
�� ����	������ ��������� ��� ��A���"� �- ���6?�1 "��	������� D�2����� �� ���
?��2������ �� ����� �3�� � �1�������" �����16����� ���3�� -�� �3� ����"���� �-
�3� ���� ���	������� ������ ��"����� -�� "������ 	��	���� �3�� "������� ���	��6
����� ����������1 ��� "��	����� "������������ "������������� ���� ��� �;��� -��
�3� �����"��	����� "����

9�"� 	�������� �������� ��� "�������� ������ ��� #;��� �2� "������ ��	��� ������
���������� ,� ������6��� "������ ����"������ ���1 ��� �- �3� ��������� ����	������
��	��� �� ���� �� "������ ��� ���	�������� �3� ��������� ��� �� ���3�� ?�	�
#;�� �� ������� 2��3 ���� ��3�� A�2� 2��3 �3�� ����� ?�	� "�������� �� �3��
�3� ������� "��	������� �8��� �� �"3������ 0�������� ������6��� "������ ��
��� �8�"���� -�� �3� ���������� ��>�"������ ��� �3� ��� �- �3� �2� ��	��� -��
���������� �2� ���	�������� ����� �3� "����� �� ������� �3�� ��� ����6��� "������
�� ��+������ �3� �8�"�������� �- ��"3 �- �3��� ����"����� �������1 ��	���� ��
�3� "������ ��>�"����� ��	�"����1 �� 3�2 ���1 	����"� "��	�������� ���� �� ��
���������� N3�� ���1 ��� 	����"� "��	������� ����� �� �� ���������� ������6
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	����"� "��	�������� ���� �� �� #;��� � ���	�� ���� 23�"3 	������ �� ��"���
���2��� ������6��� �� ����6��� "������ 3�� ��� ���� -���� 1�� ���1���� �44 )
D��� ��� 0?�������� �44%(� �3� ��>����1 �- "������ �� "��������� 2��3 � ������6
��� "��#�������� ���"� ����6��� "������ �� "��������� �� � ���� ��M"��� ���?�
/�������� 23�� ����6��� "������ �� �		���� �� �3� "������ �3� 	���������1 �-
����� �2�62�1� ���62�1� �� �� ��"��	����� ���� �� ������������ �7������? ��
���� ��&!) '����������60�3��L� �� ���� �44 (�

�3� ��� �- ������� ���	������� ���	���� �3�� ��� �3� "����������� �- ��8�����
���	������� ������� 	�� "������ ���	 �"��"���6�1	� "����������( 2�� ������ �� ��
���� �8�"���� -�� ���������"� ��>�"���� �� ���� ����������� 0��� �;��	��� ���
����� �� O� ��� ��1��� ���&�( ��� '����������60�3��L� �� ��� ��44$(�

�3� 	������ �- "���������� 	����"� "��	�������� �� � ������������ "����� 3��
���� �;��������1 ��������� 2��3 ������� �������3��� �3� ��>����1 �- "������
��� ��""���-���1 "��������� 2��3 ���3�� ., �� /.' �"3����� =�"����1� -����6
������� "����"����� ����� 	�������1� �	�������1 ��� ���������� �� ���������
"������"���� "������ �3���1 �0�	��"3�� �� ���� ���%( 3��� ���� �		���� �� ��6
���1 ������������ "������� ��� �� 3�� ���� ��������3�� �3�� �3� ��������� ���	��6
-�����"? 0,09 ���6	���� �-�� ������6��� "������( �� /,/9 �2�6	���� �-�� ����6
��� "������( "��	������� �'����������60�3��L� ��� J�����
� �44 (� ���	���6
���� �'����������60�3��L� �� ���� �44$( ��� "��"��� "��	�������6��6���	�������
�'����������60�3��L� �� ���� �44 ( "��������� ��3������ "�� �� ��"������ �1 �����
�- ��������6����� "���������� 2��3 ������6��"�������
�� ., "��	������� ������� ��
� "������ �������3� 2��3H ��( �1�������" ������ ������ ����� -�� ��1 ����"�����
�������� �3�� ������� ��� ��� �� �3� ����"���� �����- ��� ��� �� �3� ������� ���
���( ����62����	 "�	������1 ��� �� �3� �������� ���������� �� �3� "����������
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�3��� ��"���� �- 	��������1 ���"����� �3���"������� �� ��� ������1 	�������� �
	������� ���3�� -�� ������� �3�� 	������ �� �3� ��	��1���� �- "��	������� ����6
������ 23�"3 ��	��1 ���	������� ������������ ��� ����2 �3� ������ �������� �-
�3� "��	�������� �- ��������� 0�"3 ��������� ���� ��� 2��3�� � ����� ����������
�1 �3� ���������� "������ ����������1 -�� �3� "��	����� ��� �1 �3� ��"�������1 �-
�3� ��������� �;	��������� "��"��������� ������������� B������ �3� ����������
	��	����� "��	������� ��������� "�� �� ���� ���� ��( -�� �������1 ���	�������
"������� ��	�1��� � ���6	���� ��>������� �""������ �� "��	������� ������ ��� ���(
-�� ��-�������� "������� �� ���3 "����������� ��� "��	�������6���	������� 	�������
"��"��� �2��3 � ������ "��	������� ���	 �� "��>��"���� 2��3 � ����� ���	�������
���( -����
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�3� #��� �����	� �� ������	 � "��	������� ��������� 2�� ���� �� I���	3 ���
B������2 ���%&(� 23��� 	����"� "��	�������� 2��� ��-����� �1 ����� �- ���	���6
���� ��� A�2 ������������� 23�"3 ��� "3���� �� �3� ����� �- � �����6�8 ���2���
����������� ����� ��� "�������� ������� 2��3 � �������
�� ������ 1������� �3�
��6"����� B������2�� ����������

O� ��� ��1��� ���&%( �;������ �3� B������2�� ��������� �� � �������� ���������
���������� ��� ���� �� -�� � �����"��	����� ������������ "���� #����� �3�� C − 1
���	������� ������������ ��� ������ -�� � "����� �3�� ��	������ � ��;���� 2��3
C "��	������� 0�"3 ���	������� ������������ ��� "3���� 2��3 �3� 0�������
P���� ��"��	������� �0P�( "��������

��������6/����� �� ��� �����( ������ �3�� ���� �3���3 �3� "����� �� ������6
���� 2��3 C − 1 ���	������� ������������� �� ����� C ������� ��� ��"�����1 ��
�3� ��������� -�� �8�"��������� ��� C + 2 ������������ ��� ������ -�� ������
"��������"��

/�>���� ��� 0?������� ����!( "��	���� �3� ��� �- B������2�� ���������� <�����
#����� .���"�	�� "������ ���������� �.'=( ��� .������ ����� �+����� �.�0( ��"36
��+���� �3�1 -���� �3�� �3� B������2�� ��������� �� ��� ���� -�� ���6"����������
	����� ��� ��"�������� �3� ��� �- �3� ���	�� .'= ���������� 7���3������� �3�1
��"�������� ��� �� ��� A�2 ������������ -�� ���������� 	��	�����

B������ �� ��� ����$( ��� B������ �� ��� ����&( ��	��1�� �� 5;������ <����� 7��6
��� �5<7( -�� ��-������ 	����"� "��	�������� �� �;	��������� �����1 ��� ������1
"������� ����� ���	������� ������������� �3�1 ������ �3�� �� �""����� ��6
�"��	���� �- �3� ��	��6��+��� �+��������� �P�5( �� ���1 ��	������ -�� ���������
���� 	��-�����"��

<��� �� ��� ��444( ������	�� � �1����" .�0 -�� �3� ��-�������� "������ �- � ���6
��"��	����� "����� ����� ���	������� ������������ ��� ��3�� ��	�� ���������
�� A�2� ��� 	���������

03�� �� ��� ��444( 	��	���� � ��������� 	��#�� �������� ����� �� 2��� �3���1
����� ���	������� �������������

�� 5<7 -�� ��-������ �@���� "��	�������� �� �����"��	����� ���"3 ������������
2�� ��	�������� �1 9������"� ��� '��
 ��444) �44�( -�� ������1 "������ ��� �1
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�3� ���� �������� "��	�������

�1����"�� ������������ ������ ��� 2����1 ���� ���"� �3�1 ��� 	�2��-�� ����� -��
A�;���1 3������� ��8����� 	��"����� ��� �	�������� ������ "�����6���	 ���	������
�����6�	 ��� �3����2� 	��"������� ��"�(� �3� ����� �- �3� ��� "�� �� ���� ����6
23��� ������ :��� �� ��� ���& (� ��1��� ���&�((H 3��� �� ��M"�� �� ������� �3��
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������������ ������ ���� �� "�	���� �3� ���� ��3����� �- � "����� ������1 	������
�3� -����2��� -�������H

• %��� ������ 23�"3 �� ��� �� �3� ����� ��� �- 9�5� �3�� ������ -��� �3�
�������� �"��	������� ��� 3����	( ��� ���3��	1 �����"�� �� ��"3 ���1�
�3� ������ �- ��"3 ?��� �- �����"� �+������� ��"������ 2��3 �3� ������
�- ���1�� ���"� ��� �+������ 	�� ���1 �� ������) ��������� �3� ������ �-
"��	������� �����"� �+������� ����� 2��3 �3� ������ �- "��	������ �� 2����
���"� ��� �+������ 	�� ���1 ��� "��	����� ���� ��� ���( �� ��+������

• *����� ������������� 23�"3 �� 	������ ��"���� �- �3� ��	��6��+��� �+���������
�P�5(� 23�"3 �� ���"����� �1 � ��������� -��"�����

• !��������������� �� ���� ��������������� "����� �1 �3� -�"� �3�� �3� ���	���
��� ��"3 ���� ��������� �� "������ "����������� �- ��	��� �3�� �� ��3���
�0?������� ��� /������ ��&&(�

• *��0��

� ���������� �1 �3� ��	������� ���2��� ����� ��� ����� ���� "��6
������ ������� �� ���2 ��� -��� "����� �1����"� ��1���� �� ���� ��%$(�

������������ ������ "�� �� "�����#�� �� ������� 2�1�� 9� �3� ����� �- �3� �����"��
��?�� ���� �""����� �3�1 ��� �-��� ������� �� ��( 5/'� ���( /' ��� ����( ' �������
23��� 5� / ��� ' ����� -�� ���3��	1� ���� ��� "��	������� �����"�� ���	�"�����1
����1 �� ���� �� �(� 5/' ������ ��� �3� ���� ��������� ���"� ���3 ���3��	1�
3����	 ��� "��	������� �����"�� ��� ��"������ /' ������ �� ��� ��?� �����1
�����"�� ���� �""����� �����1 ��"���� �- ������ �+��� ��	���
����� 3���� 23�"3
��	�1 "������� ����� A�2� ����� �3� "������ 7�����1� ' ������ ���1 ��"����
"��	������� �����"�� ���"� "������� 3����	� ��� �������� /����� "�� ���� ��
������� �� ��
	���� �- �����"�� ��� ������� -�� ��"3 ���1 ��� "��	������ ���
�� ������� �- ���� ���1 �� "��	������� �����"� �� �����"��� �� ���	���

�3� ?��� �- ����� ���	��� �������1 ��	���� �� ��� 	��	���H 23�� � ����� ��
���� -�� ���������� ��� ����1��� � +���� �������� ����� �� ������1 ��+�����) ��
�3� ��3�� 3���� ������ ���	��� -�� ������ "������ �� ���������� ���� �� ��� 3���
�� �� "��	��; �� ����� �� ����� ����� "��	����� ������

��� ���
�	 �����

�3� ��
	���� 
���� �3�� �� ����� �� �� ���"����� "�� �� ���� -�� ����������
�3� �1����"� �- � �����"��	����� "����� 2��3 ��1 ������ �- ������ ��� "��6
	������� ����� �3� -����2��� �������� �����	����� �0?�������� ���%) B������ ��
���� ���&(H

• 5����1 �����"�� �����"��� �� ��"3 ���1 ��� "������� ��+��� ��� ��	�� A�2
����� -�� ��"3 "����� ��"����� '3����� �� A�2 ����� ��� ���1 ��� �� -����
��A�; ��� ��	�� �������� ��� �� -��� ��� ��A�; ���"��������
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• D����	 �1����"� ��� �����"���� ������� �3�1 ��� ������� �� �� "��������
,� "�� �+���������1 �� ������� �3�� �������� ��� "�������� 3����	� ���
���3� "���������� �3�� ����� �3�� -��� "����� �1����"� ��� ��� ���"������
0��"� ����� "���������� �"� �� 3����	 ������� 3��� �� �� ������� �3�� �3�
���������" 3����	 �� "������� 23��� �3� ����� ��� �� �	����� �� �3� �����
�- �3� "��	������� �� �3�� ���1�

• ������ 	������� ���	 �� ������� ����� �3� "������

• �3� �������� �� ������� �� �� ����� ��	������� ����� �	������ ��������(� 23���
�3� "�������� �� ������

,- 	������� �����	����� 3���� � "����� 2��3 N ������� C "��	������ ��� m
���	������� ������� "�� �� ������� �3����3 �3� -����2��� �+�������H

'��	������� ������ �i = 1, . . . , N � j = ρ1, . . . , ρC−1(

ċj
i = f j

i (�i−1, �i, �i+1, Q, R, F, �F , TF ) �!���(

���	�������� �k = 1, . . . , m(

Tsk
= βsk

(�sk
) �!���(

�""������ �� 	������� ����� "�����#"������ 5+� �!��( �� � ' ����� ����1 �� ����
�� �(� ���"� ���1 "��	������� �����"�� ��� �������) -���3������� 5+� �!��( �� �
��
	���� ����� ���"� �����"�� ��� 	������ -�� ��"3 "��	����� �� ��"3 ������

,� 5+� �!��(� cj
i �� �3� ��+��� ���� -��"���� �- �3� "��	����� j �� ����� i� Q �� �3�

�������� ���1� R �� �3� ��A�;� F �� �3� -��� A�2� TF ��� Tsk
��� -��� ��� sk6�3

����� ���	��������� 2��3 sk �������� �3� ����� 23��� �3� k6�3 ������ �� 	��"��� ρj

�� �3� ��� ����"����� �� �3� j6�3 "��	������ �i ��� �F ��	������ �3� "��	�������
��"���� �� i6�3 ��� -��� ����� ���	�"�����1� �3� "��	������ cρC

i -�� i = 1, . . . , N
��� ��� �������� ����� ���+���1 ���������� �1 �3� ���� "����������� "��������∑C

j=1 c
ρj

i = 1�

f j
i ��� βsk

��� �3� ���� �����"� �-�� "��	����� j �� i6�3 �����( ��� �3� ������6
	���� ��� sk6�3 �����( -��"�����H �3��� �;	�������� ��� ����� �1 �3� ��;� �+�������H

=������� �i = 1� j = ρ1, . . . , ρC−1(

ċj
1 =

LS(cj
2 − cj

1) − VSvj
1

H1
:= f j

i (�1, �2) �!���(
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:�����" ����� i �� �3� ����		��� ��"���� �i = 2, . . . , NF − 1� j = ρ1, . . . , ρC−1(

ċj
i =

LS(cj
i+1 − cj

i ) − VS(vj
i − vj

i−1)
Hi

:= f j
i (�i−1, �i, �i+1) �!���(

7��� ���1 �i = NF � j = ρ1, . . . , ρC−1(

ċj
NF

=
LEcj

i+1 − LScj
i − VEvj

i + VSvj
i−1 + Fcj

F

HNF

:= f j
NF

(�NF −1, �NF , �NF +1, �F )

�!��"(

:�����" ����� i �� �3� ����"3��� ��"���� �i = NF +1, . . . , N −2� j = ρ1, . . . , ρC−1(

ċj
i =

LE(cj
i+1 − cj

i ) − VE(vj
i − vj

i−1)
Hi

:= f j
i (�i−1, �i, �i+1) �!���(

��	 ���1 �i = N − 1� j = ρ1, . . . , ρC−1(

ċj
N−1 =

LT cj
N − LEcj

N−1 − VT vj
N−1 − VEvj

N−2

HN−1
:= f j

N−1(�N−2, �N−1, �N )

�!���(

'�������� �i = N � j = ρ1, . . . , ρC−1(

ċj
N =

VT vj
N−1 − LT cj

N

HN
:= f j

N(�N−1, �N ) �!��-(

,�	��"�� ������6	���� -��"���� βsk
�k = 1, . . . , m(

ρC∑
j=ρ1

cj
sk

P j
sk

(Tsk
) − Psk

= 0 �!���(

�3� ����� �- �3� i6�3 ����� �� ���"����� �1 �3� (C − 1)6����������� "��	�������

��"��� �i =
[
cρ1
i . . . c

ρC−1
i

]T
� Hi �� �3� ����� 3����	 �� i6�3 ������

5�"3 ��	�� "��	������� vj,∗
i �� �+��������� 2��3 �3� "�����	������ ��+��� ��� cj

i

�� ����� �1 �3� ����� ��+���6��	�� �+��������� �+������H

vj,∗
i = cj

i

P j
i (Ti)
Pi

23��� P j
i �� �3� 	������ 	������� �� i6�3 ����� ��� �� �3� "��	����� j ��� Pi ��

�3� ����� 	������� �� i6�3 ������
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�3� 	������ 	�������� P j
i ��� "��	���� �1 �3� -����2��� 5;������ ������� 5+��6

����� 23�"3 �� � 76"������� �;������� �- �3� �������� ������� 5+������H

P j
i = exp

(
Aj − Bj

Cj + Ti
+ DjTi + Ej ln(Ti) + FjT

Gj

i

)

�3� "��	������� �- ��	�� ������� �3� i6�3 ����� -�� �3� "��	����� j �� "��	����
-��� �3� "�����	������ �+��������� ����� vj,∗

i �3����3 �3� /��	3��� �M"���"1 E
�� -����2�H

E =
vj

i − vj
i−1

vj,∗
i − vj

i−1

L ��� V ��� �3� ��+��� ��� ��	�� ����� A�2� ����� �3� "������ ��� �3���
�������"�� S� E� ��� T ����� -�� ����		��� ��"����� ����"3��� ��"����� ��� ��	
���1 ���	�"�����1� �3�1 ��� "��	���� �""������ �� -����2��� �+�������H

LT = R VS = V

LE = LT + ΔVR VE = VS − ΔVF

LS = LE + F + ΔVF VT = VE − ΔVR

F � R ��� V ��� �3� -���� ��A�; ��� ��	�� �������� �3� ������( ����� A�2�
���	�"�����1� ΔVF ��� ΔVR ��� �3� ����� A�2 ���������� ��� �� -��� ��� ��A�;
���"�������� ����� �1

ΔVF =
FCp,NF (TNF − TF )

λv,NF

ΔVR =
RCp,N (TN − TR)

λv,N

=�A�; ���	������� TR �� ������� �3�� �+��������� ���	������� �� "��������
����� TN ��� �� ���"������� Cp,i ��� λv,i ��� ���	�"�����1 �3� 3��� "�	�"��1 ���
3��� �- ��	���
����� �� i6�3 ������

,�	�� ��� ���������"�� A�2� �������� �3� ����� ��� ����� �� ���������" ������
23��� �3� �������� ���1 �� ����� �� "�����" ������ �3� ���������" A�2� ��� ���6
��+�����1 "�������� �� ���� ����� �� �3� ����� �- �3� "������ "��	�������� 23���
�3� �������� ���1 Q �� "�������� ���� �3� ���	�"���� ��	�� ����� A�2 V �=��� ��
���� ���&(�
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�3� �����"��	����� "����� ���>�"� �- �3� 	������ 2��? �� � 	�����1	� �- �� ���
��
����� 
�����
	����� #1�#2 
	������� 23��� �1����"� ��� ��������� �1 5+� �!��(�
�3� "����� �� �����1 -�� 2��3 � A�2 23�"3 	������� �����#"��� "��"����������
�- 	��	��� �'!(� ���6������ ��'�( ��� �6������ ��'�(� 23��� ��3��� �'�(� ���6
	������ ��'$( ��� �6	������ ��'$( ��� �3��� �� ��"3 ������� �������� �3�
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"����� 3�� 35 K����� 7���� P���� ���1� �2��3 � �������� �- 2 � ��� � �	�"���
�- 610 ��(� � ?����� �������� �16�� �����( ��� � ����� "�������� �376�3 �����(� -��
� ����� �- N = 37 ������� 7��� ����� �� ��"���� �� 196�3 ����� �NF = 19(� �3�
"�������� ���"������ �TR − TN ( �� �+��� �� 5 <� ��� �3� �M"���"1 E �� �+��� ��
0.8�

0�"3 "����� �� �������� �� 	��-��� �3� ��	������� �- �3� �2� ?�1 "��	������H
�3� '! ����3� ?�16"��	������ ����� 3������� ����� ���3� "��	������( ��� �3�
�'� �3���1 ?�16"��	������ ����� ���3���� ����� 3���1 "��	������(� ,� ����� ��
������ �3� ������� ��	�������� ��� �� �2� ?�1 ��	�������� �3�� ��� '! �� �3� ������
�cC3

1 ( ��� �'� �� �3� ���������� �ciC4
N (� ���� �� ��������� ������ �3��� ������� 00

�������

,� �3�� �3����� �2� ��8����� ������� 00 �	������� "��������� ������� �� 00�
������16����� �( ��� 00� ������16����� �( ��� "���������� 0�"3 "��������� ���
������ �� �3� -����2���� ��� �3� ������ �- ?�1 ��	������� �� �3��� "��������� ���
��	3���
��� 5�"3 �- �3� �����16������ "��������� 2��� �� �����+�����1 ������� ��
� "������ ��>�"����� 23�"3 "������� �� �3� ���������� �- ��� �� �2� ?�1 ��	�������
������ �3��� ������� ������ �3��� -�� ��"3 "������ ��>�"���� "���������� �3� ��6
����� ���������� ��>�"���� 2��� �� �3� ���������� �- �3� "��������� ?�1 ��	��������
7��� ��2 ��� �3� �1���� (̄·) 2��� ����� -�� �3� ������� ����� �� �3� ���6	���� �-
� ���������

%
�	��� +���� ,����� -++
.

�3� 00 ������� "��������� ������� �� 00� ��� ��	����� �� ����� !���

F̄ c̄C2
F c̄C3

F c̄iC4
F c̄nC4

F c̄iC5
F T̄F

88.2 �3 3−1 0.0036 0.281 0.236 0.4746 0.0004 320 <

Q̄ R̄
3876645 ?"�� 3−1 61.62 �3 3−1
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�� �� "�� �� ���� -��� 7����� !��� 23��� "��	������� ��� ���	������� 	��#���
�� 00� ��� �3�2�� ?�1 ��	������� 	������ �3� -����2��� ������H

c̄iC4
D = c̄iC4

N ≈ 0.02 �!�!�(

c̄C3
B = c̄C3

1 ≈ 10−5 �!�!�(

,� 00� "���� "����� �� 2��?��� �� 3��36	����1 "��������� �� �3� ������ ��"�����
�� �� "�� �� ���� -��� �3� ���1 ����� ������ �- '! ���� 5+� �!�!�((� �3�� 2���
��A���"� �3� "������ ��>�"���� ������� �� �3��� �	������� "���������� �� 2��� ��
����������� ������
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F̄ c̄C2
F c̄C3

F c̄iC4
F c̄nC4

F c̄iC5
F T̄F

88.2 �3 3−1 0.0036 0.281 0.236 0.4746 0.0004 320 <

Q̄ R̄
2665688 <"��·3−1 34.99 �3 3−1
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'��	������� ��� ���	������� 	��#��� �� 00� ��� ��	�"��� �� 7����� !��� 23���
�� "�� �� ���� �3�� ?�1 ��	����1 ������ ��� �3� -����2���H

c̄iC4
D = c̄iC4

N ≈ 0.02 �!���(

c̄C3
B = c̄C3

1 ≈ 0.02 �!���(

,� �3�� "���� �� ��"���� �- �3� "����� �� 2��?��� �� 3��36	����1 "���������� ���
�3���-��� �3� ������� �������� 3��� ���1 Q̄ ��� �3� ��A�; ���� R̄ ��� ������� �3��
�� 00� "���� ��	�1��� � ������ ������ �- �@���� 	����"�� ��� � ������� ������
�- �����1 ������ -�� 	��-������ �3� ��	�������� �3� "������ ��>�"���� -�� �3�
"����� �	������� �� 00� "��������� 2��� �� ��8����� -��� 00� "���� �� 2��� ��
�3�2� �-���2�����
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7����� !��H 0����16����� "��	������� ��� ���	������� 	��#��� -�� 00�

��� ��	���� �������

�3� "������ 	������ -�� � ������������ "����� "������� �� 	��-������ �3� ��+�����
��	������� �� �	��� �- �3� ���������"�� �������� �3� "������ 	������1 2��3 �3�
��;���� +������1 �- �@���� 	����"�� 2��3 �3� �	�"�#�� ��+��������� ��� �3�
������� "�����	���� �- �����1� �1	�"�� ���������"�� ��� "3����� �� -��� A�2
����� "��	������� ��� ���	�������� ��������1 ��� �� ������ A�2� 23�"3 ���� -���
�	������ ������

,� ����� �� 	��-��� ��"3 ��	�������� ��������1 ��� �� �2� ?�1 ��	������� ������
'! �� �3� ������ ��� �3� �'� �� �3� ����������� -�� �3� 	������ "���( 3��� ��
�� #;�� ������ �3��� ������� 00 ������� ������� �3�� "��	�������� 3��� �� ��
��������� 2��3�� � 	���"����� ������ ��� �� "����� �������������1 �- "��	���6
���� ����1
��� -�� "������ 	��	����� �� �3�� �3���� ?�1 ��	������� ��� ������"��1
��������� �3����3 ��� �� ���� �		��	����� ���	������� ������������ -�� ��"3
"������ ���	� �1 ����	������� �������� 3��� ���1 ���T�� ��A�; A�2 �����

9� �3� ����� �- �3� ��8����� 00 ������� "��������� 00� ���� 5+� �!�!(( ��� 00�
���� 5+� �!��((� �2� ��8����� "������ ��>�"����� ��� 3��� "���������H

�
���
� /�0���	�� 
 -�/
.1 �3�� ��>�"���� �� �3� ���������� �- �'� �� �3�
���������� �3���16?�1 ��	����1( ������ �3� ������� ����� �0.02( 2��3�� � "������
����� �0.005(� ��� 3�� �� �� �"3����� �� �3� ������� "��������� 00� �����		���



!�$� '��	������� ���������� -��� �� ���������� 	���	�"���� �!

��"���� 2��?��� �� 3��36	����1 "���������( ������ �� ����� !���

ciC4
D ∈ c̄iC4

D ± Δc = 0.02 ± 0.005 �!�$(

�
���
� /�0���	�� � -�/�.1 �3�� ��>�"���� �� �3� >���� ���������� �- �'� ��
�3� ���������� �3���16?�1 ��	����1( ��� �- '! �� �3� ������ ����3�6?�1 ��	����1(
������ �3� ������� ����� �0.02( 2��3�� � "������ ����� �0.005(� ��� 3�� �� ��
�"3����� 23�� ������� "��������� ��� �3� ���� �� 00� ��� ��"���� 2��?��� ��
3��36	����1 "���������(� ������ �� ����� !���

ciC4
D ∈ c̄iC4

D ± Δc = 0.02 ± 0.005 �!� �(

cC3
B ∈ c̄C3

B ± Δc = 0.02 ± 0.005 �!� �(

�!� "(

�3� ��;���� "��	������� �8��� ����2�� �� Δc = 0.005� ��� �3�� �� �+��������
�� ��1 �3�� �3� ��;���� �������� ����� 3�� �� ��� 2��3�� ±25%� ,�	����1 ������
������ �3�� 0.025 2���� ��	�1 �3� ��	��"������ �- �3� 	����"�� ���"� �3� +�����1
�� ������� �3�� ��+�����) �� �3� ��3�� 3���� ������ ������� �3�� 0.015 ���� �3��
�3� 	����"� 	����1 ��� �3� "�����	���� �- �����1 ��� 3��3�� �3�� ��"�����1�

K��� �3�� �3� ��>�"���� '9� ���1 "������� �� ���������� �3� "��	�������� �- �'�
�� �3� ����������� ��� �� �3� -�"� �3�� �@���� ������ 	����"� �� ����	���#�� ���
�3���-��� '! "��	������� ���� ��� ���� �� �� ��������� ���"� �� �� ���-6�����������
9� �3� ��3�� 3���� ���3 ?�1 ��	����1 "��	�������� ���� �� �� ��������� �� '9�
"����

�3� "������ 	������ �� ������ �3����3 ��� 	�������� ���� � ����"����� ��� ��
�������3��" 	���� �3� "������ ����"����� 	������ "������� �� ��( �3� ����"���� �-
�3� ��"����� 23��� ���	������� ������� ��� 	��"�� ���� �� ����� �""������ ��
�3� ��	��1�� �������3�(� ���( �3� ����	������ ���������� ��� ����( �3��� 	������
23�� ����6��� "��#��������� ��� "���������� 9� �3� ��3�� 3���� �3� "������
�������3��" 	������ �� ��	������1 ��������� 2��3 ! "������ �������3�� ����� ��
	�������1 "��"�	�� ��� ��������� "������"���� �3���1 �0�	��"3�� �� ���� ���%(H
��( � "����������� "���������) ���( � "��"��� "���������) ����( � '�7 "��������� ��
"��"���6�1	� "��������� ����� �� �1�	���� ��������1 �3�����(�

��� �����
����	 �
�������	  ��� �	 �	�

����� ���!

�������

,� ���������� ����������� "��	�������� �� �� ��������� 3��� �� ���1 2��3�� � "��	�6
������ ����� �� ����� �� �����-1 +�����1 ��� �����1 ������ ��+���������� '��������
-�� ������"�� �3� ���������� �- ��� �- �3� ?�1 ��	�������� �3� �'� �� �3� �����������
23�� �3� "����� �� 2��?��� �� 00� "��������� �!�!(H �� ��"3 "��� �3� "���������
3�� �� �������� �3�� "��	������� ������ ��� ������� ����� c̄iC4

D = 0.02� 0�		����
�� ���� �� 0�"���� !��� �3�� ���������� �� ���1 	�������� 2��3�� � ±0.005 �����
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7����� !�!H .������� 1����1 ����� -�� �'� ���������� "��	�������

����� �������� ����� �+��� �� ±25% �� ����2��(� ,� �1	�"�� ���������� 	��"������
��"3 "��	������� 	������� ����� A�"�������� ������ � ���� 	����� ���� �3���3 �
"������ �"���� �� 	��-�����H � 	������� ��3����� ������ � 1��� �� �������
�� �1
�3� 	���������1 ������1 -��"���� �������� �� �� :������� -�� ��?�� �- ���	��"6
��1( �� 7����� !�!� 23��� �� "�� �� ����� �3�� ciC4

D -��+�����1 ���� ���2��� 0 ���
0.05� ��� ���( ��� 1����1 ������� 0.025 �� ��8����� -��� �3� ����� ���6	����� �3��
����� �3�� �-���� �� ���������� ����������� �3� 	����"� ���� ��� �����-1 	���"�����
��+����������

B�"���� �- �3� �������������1 �- ����"� "��	������� ����1
���� � "��	������� ��6
������� ������ �1 ���	������� ������������ �� ������� N��3 ��"3 ���������� ��
�� 	������� �� ��	���� �3� ��	������� 	��-�����"� �3����3 ��( �������1 "�������
���( ��-�������� "������� ��� ����( "��	�������6���	������� "��"��� "������� 5��� �-
�3��� "������ �	����� 2��� ��� �� �;	����� �� �3� 	������ �3����� �� �� ��	������ ��
���������� �� �3� ��	��1���� �- ��"3 ��������� 3�� � 	������� �8�"� �� "���������
��3������

� 	������� ciC4
D 1����1 ����� �� �� �������� �3����3 �3� ��� �- �� ��������� ��

�3�2� �� 7����� !��� 23��� �� �� ���� "��	���� �� �3� �"���� ����� 2��3��� �3�
��������"� �- �3� ����������

�3� ��>�"���� "�� �� �"3����� �3����3 �� ������ "��	������� ��������� 23���
cD
iC4 �������� ������������ �������� �� �� �������� �� 2���( �� ����������� ��
7����� !�$� ��� "��	���� �� �3� ������� "��	������� ������

,� ���� �� ����� �3�� �3� ���������� ����� ������������ 3�� �� �� ��M"�����1
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7����� !��H .������� 1����1 ����� -�� �'� ���������� "��	������� 2��3
�3� ��������"� �- � "��	������� ���������� ��� "��	������ 2��3 �����
2��3��� ��������� ��������"��

������� �3�� �3� ��� �- �3� ������� "��	������� ������ ��� �� �� ��� ��"�����1
�3�� "��	������� ������ ��� �� � ����� ������� �3�� �3� �1	�"�� "��	������� ���6
�������� ����� ���� ,����� �� �� ��	������� �� ������ "��������� 	��-�����"� 2��3
���� �""���"1 �3�� � "��	������� ����1
���� ��"���� �� �� ��	������� �� �		��"�6
��� � "��	������� ����� ������� �3�� ����1
�� �""���"1�

,� �3� -����2��� ��"������ �3� ���������� 	������ 2��� �� �������"�� 2��3 �3�
��������� �- �3� ���������� ��>�"����� ��� �3� ���������� ����� 2��� �� �����
�""������ �� �3� "������������� �- �3�� ��"�����

��" #
�������	 �������

�3� ���������� 	������ ��������� �� �3�� �3���� �� �3� ������ "��	������� ��-��6
���� �- ��� �� �2� ?�1 ��	������� ������ �3� 	���"����� ������ �""������ �� �3�
"������ ��>�"���� �� �� �"3������ ������� �3�� �3� ��	������� �� �� ���������
��� �3� "��������� ����� ,������ ��"3 ��	������� ���� �� �� ��������� �� ����� ��
������� �3� ������� ��	�������) 3�2����� ��"���� �- �3� �������������1 �- �����
-�� ������ ��������� ��"3 "��	��������� ���������� ������ �1 ��������� �������6
����� ���� �� �� ����� ,� �3�� �3����� �2� ���������� ��>�"����� ��� "����������
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controller trend

7����� !�$H '��	������ �- 1����1 ����� -�� �'� ���������� "��	�������
"��������� 2��3 �3� ��������"� �- � "��	������� ���������� ��� ��"�����1
���������� ������

2��3 ��"3 �- �3�� ������� �� ��� �- �3� "������ ��>�"����� '9� ���� 5+� �!�$((
��� '9� ���� 5+� �!� ((H

���	���	
� /�0���	�� 
 -�/
.1 �3�� ��>�"���� "������� �� �3� ���������� �-
���������� �'� �1����"� 2��3�� �3� 	���"����� ����� 23�� �3� "������ ��>�"����
'9� ����������� �- ���������� �'�( �� �"3������ ��� 3�� �� �� �������� 2��3 �������
"��������� 00� �����		��� ��"���� 2��?��� �� 3��36	����1 "���������(� ������ ��
����� !��

ĉiC4
D (t) ∈ ciC4

D (t) ± Δĉ = ciC4
D (t) ± 0.015 �!�%(

���	���	
� /�0���	�� � -�/�.1 �3�� ��>�"���� "������� �� �3� >���� ������6
���� �- ���������� �'� ��� ������ '! �1����"� 2��3�� �3� 	���"����� ����� 23��
�3� "������ ��>�"���� '9� �>���� ���������� �- ���������� �'� ��� ������ '!( ��
�"3������ ��� 3�� �� �� �������� 2��3 ������� "��������� 00� ��� ��"���� 2��?���
�� 3��36	����1 "���������(� ������ �� ����� !��

ĉiC4
D (t) ∈ ciC4

D (t) ± Δĉ = ciC4
D (t) ± 0.015 �!�&�(

ĉC3
B (t) ∈ cC3

B (t) ± Δĉ = cC3
B (t) ± 0.015 �!�&�(

,� 5+� �!�%( ��� �!�&(� ��� �� �3� -����2���� �3� �1���� (̂·) ������ -�� ���������
�""������ �� �3� ���������� ��>�"������ ��	������� �- �������� ���� �� ������ ��6



!� � 5��������� 	������ �%

-����� 2��3�� �� ���������� ����� �Δĉ = 0.015(� ��� ���������� ���3 �1 �3�
���������� "������ ����������1 -�� �3� "��	����� ��� �1 �3� ��"�������1 �- �3�
��-��+���� ��� ����1�� �;	��������� "��"��������� ��������������� �� �����������
�� 0�"���� !�$� �3� ���������� ���� �� �������� �� � "��	������ ����� �	����
���������� ��� ���	��"��1� ,� �3�� �3����� �� ����� �� ������ � ���	�� ��� -���
���������� � ������� 
���� �� ����� 0�"3 ����� 3�� � ������� ������ �- 9�5�
"��	���� �� �3� N(C − 1) ���� ��"�����1 -�� �������� �3� �"���� "������ ��
�� 5+� �!��(� ��� �� ������ �1 ���	������� ������������� �3����3 �3� ������6
���� �- ���� �		��	����� "��	������� ������� �� ����� �� ��-�� �3� "��	��������
�- ��������� � -���3�� ����� ����"���� "�� �� �������� �1 �		��;������� �3�
���	������� �� � "����� ������ ��� �� ����������( �� �3� ������� ���� �3� >����
����"���� �- ��( �3� "��	������ �� �� �������� ���( �3� ������ ��� ��"����� �-
���	������� ������������ ����� �3� "������ ����( �3� "��	������� ������ �� ��
���������� ��� ���( �3� ������� 23��� ���	������� �� �		��;������ �� �3� �������
���� -��� �3� �
��
����� 
�������� 	�������

�3� 23��� ����"����� 	������ �� ��2 ��������� �� ���3�����"�� ������ �3�
"����� �1���� �!��( "�� �� 2������ �� "��	�"� -��� ��H

�̇ = $c(�,�,�) �!���(

 = βββ(�) �!���(

,� 5+� �!��(� � = [�1
T · · · �N

T ]T ∈ R
n �� �3� ����� ��"��� ��� ��"����� ��� "��	�6

������� -�� ��"3 "��	����� ��� ����� ����� �3� "�����) � = [R Q]T �� �3� ��	��
��"���) � = [F �F TF ]T �� �3� ���������"� ��"���)  = [Ts1 · · ·Tsm ]T ∈ R

m �� �3�

���	�� ��"��� �3�� ��"����� ��� �������� ���	��������) $c = [$1T · · · $N T ]
T
� 2��3

$i = [fρ1
i . . . f

ρC−1
i ]T � ��"����� �3� ���� �����"� -��"����� -�� ��� "��	��������

������ ���( �� ��"3 �����) βββ = [βs1 · · ·βsm ]T �� �3� ������6	���� -��"���� ��"����

,� �3� "��� �� �;��� �3� ����� �- �3� ����� 23�"3 ���"����� �3� �"���� "����� ��
n = N(C−1) = 185� �3�� ��� 185 9�5� ���� �� �� ���������� �� ����� �� ��������
"����� �1����"�� �3� ���������� 	������ "������� �� ��������� � "��	�������
��������� �""������ �� �3� �	�"�#" ���������� ��>�"����� ��� "�� �� �	��� ���� �3�
�
��
����� 
�������� ������ ��� �3� �
��
����� ��������
 ����"�����

�� ������� �3� ���������� ����"����� 	������� �3� #��� ���? ��������� �� �3��
�3���� �� �3� ������	���� �- � ����"�� ��������� ����� 23��� ���1 CM < C
"��	������ ��� �������H �� "��	�"� �������� ��"3 ����� �� ���"����� ��

˙̂� = $̂(�̂, �̂, �̂) �!��4�(

 ̂ = β̂ββ(�̂) �!��4�(

�3� ��������� ����� ��"��� x̂ = [�̂T
1 · · · �̂T

N ]
T ∈ R

nM �� 5+� �!��4( 3�� � �������
��������� �nM < N( �3�� �3� �1���� ����� ��"��� �� 5+� �!��(� ,������ �3� ��6

������� �- ��"3 ��"��� �̂i = [ĉφ1
i · · · ĉφCM −1

i ]� 23��� φj �� �3� ��� ����"����� �� �3�
j6�3 "��	����� �- �3� ����"�� ������ �� CM − 1� ������� �3�� �3� ����� �- �3�
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�1���� �� nM = N(CM −1) < n� 7�� �3� ���� ������� �3� ��������� ���������"�

��"��� �̂ = [F̂ �̂T
F T̂F ]

T
3�� � ������� ��������� �3�� �3� ���������"� ��"��� w

�� 5+� �!���(� �3� �����+���� ���? �� �3� ����"���� �- m �������� ���	��������
�����3�� 2��3 �3��� ��"������ s1, · · · , sm -�� ���������� 	��	����� 0����+�����1�
�3� ���������6������������ ����� 	�������� [x̂I , x̂II ] ���� �� �������1 ����"����
������� �3�� �3� "��	������� ������ 23�"3 ���� �� ��������� 2��3 ���	�������
����������� ��>�"���� ���� �� "3����� 7�����1� �3� ���	������� �� �		��;������
�� �3� ������� ��� �� ���� ������� �� �� ����������� ������� �� � -���3�� �����
�		��;������� �"3���� �� -��"���� �		��;������� f̂( ��� ����"���� ������� �-
������ ������� �3�� nM (� �3� ������ ���������� ����"����� 	������ 2��� �� ��6
������� ����� �� '3�	���  �

9� �3� ��3�� 3���� �3� ��3�� 	��� �- �3� ���������� 	������ �� �3� �������������
�- �3� �
��
����� ��������
� 23�"3 �� �3� �1����" ���� 	��"����� �3�� 	��-����
�3� ���������� ���?� ��� 2��� �� ���"����� �-���2����H 3��� �� �� ��M"���� �� ��1
�3�� �3� -�"�� �� �� :�������" 5�������� �:5( �������3� 2��3 	������ �����������
23��� �3� 2���6?��2� 5;������ <����� 7����� �5<7( 2��3 	������ ��� "��	����
���������� 2��� �� ���� -�� ��?�� �- "��	�������

��$ %�� ��������
�� &�����	� ���� ���!�����	�	�
��	����
���	 ���&���

,� ����� �� ������ � ���� "������ ��� �������� �- �3� "��	������ �- �������� 2��3
���	������� ������������ ���1� �� �� ��"�����1 �� ���������� �3� ��3����� �-
�3� "������ ������� �3�� ���� �3�����1����" "������������� ��� ������� �3�
���� ���� �� �3� "��	��3������ �- �3� ���������3�	 ���2��� �3� ���	������� ��
��� ���1 ��� �3� "�����	������ ��;���� "��	�������� �� �3� ���� ���1�� ,� ��
���� ��	������ �� ����1
� �3� ����������1 ����� �3� "������ �1 #����� �3� ���1�
23��� ���� �- �3� ��	������� ��?�� 	��"��

7�� � �����1 "������ �3� "�����	�����"� ���2��� �3� ���	������� ��� �3� "��6
	������� �� �3� ���� ���1 �� ���+���1 ���������� 23�� �3� 	������� �� "��������
�3���-���� �� �3�� "���� �3� ���1 ?��2����� �- �3� ���	������� 	��#�� ��M"�� ��
������ "��	�������� ����� �3� "������ 9� �3� ��3�� 3���� �3� ���� �������� ��
��� ������3�-��2��� 23�� �����"��	����� "���� ��� "���������� ���"� "��	���6
����� "�� ��� �� ���������� ��"� �3� ���	������� ��� 	������� �� �3� ���1 ���
?��2��

,� �3�� 2��?� 2� 	��	��� �3� ��
	������� �������� ���� 	�����
	����� ���������
���� ������
 �� � ��2 ���� �� �� ���� �� ����� �� ����1
� �3�����1����"� �� �
�����"��	����� "������ �3�� ������� ������� -��� �3� 2���6?��2� ���	�������6
���	� ��"3��+�� �=�����?�� �� ���� ��%$(� 23��� ���	������� 	��#�� �� "��	����
�� �3� ������� 00 "��������� ��� ���	������� ����������� ������� -�� "������
	��	���� ��� 	��"�� �� �3� ������ 2��3 �3� ������� �����6��6����� ���������� ,� �



!�%� ���	������� �������� 2��3 	��6"��	����� "����������� ������� ��

�����"��	����� "������ ���	������� ��������� 2���� ��� �� ��M"���� -�� �����6
������ 	��6"��	����� "������������� ��� �3���-��� �3� ������� ������� "�� ��
��#��� �3����3 �3� �������� �- ��"3 "�������������

.��6"��	����� "������������ ��� "��	���� �� -����2�H �������� -��� � �������
�	������� "��������� 23��� ���	������� ��� "��	������� 	��#��� ��� ?��2�� ���
��������� �1 �3� 	��"����� "�������������� "������� �3� ������ 	���� �;	�������
�!���( �� ����� i� �		��;����� �3� ���	������� �������� ���� �3� "����� �!��(�
��� ������ �3� -����2��� ���������3�	 ���2��� �3� �����6��6����� ���	������� ���
�3� 	��6"��	����� ���������

ΔT̄i ≈
ρC∑

j=ρ1

β̄
′
i,jΔc̄j

i =
ρC∑

j=ρ1

ΔT̄cj
i

�!���(

ΔT̄i = T̄i+1 − T̄i, Δc̄j
i = c̄j

i+1 − c̄j
i , β̄

′
i,j =

∂Ti

∂cj
i

∣∣∣∣
�̄i

,� 5+� �!���(� �3� +������1 ΔT̄cj
i
�� �3� �		��;������ "����������� �- �3� "��6

	����� j �� �3� ���	������� �������� �� i6�3 ������ ��� "������� �� �3� 	����"�
�- �3� "��	������� �������� Δc̄j

i �1 � ���� �3�� ��	������� �3� ����������1 �- T̄i

2��3 ���	�"� �� c̄j
i � �3�� ����� �3�� �3� "���������� �- � ����� "��	����� ���6

�������1 2��3 ����� "��"��������� ��������� 1����� �3� ������� "����������� �� �3�
������� ���	������� ��������� 0�"3 ����������1 ���� �� "��	���� ����1��"���1� ��
�3� ����� �- 5+� �!���(�

9�"� "��	����� "������������ ��� "��	����� �2� 	���� ��� "������"��� �� �����
�� ������ �� ���1 �� ���� ��	�����������H �3� #��� ��� �3�2� �3� ���	�������
��������� ����� �3� "����� ����� 	��� �- ���	�������6���	� ��"3��+��(� 23��� �3�
��"��� ��� �3�2� �3� �������� 	��6"��	����� "������������ �� �3� ���	�������
���������� �3� 	��� -�� ������� �	������� "��������� �- "��� 00� ������ !��(
�� �3�2� �� 7����� !� ��� �3� ���� 	��� -�� "��� 00� ������ !��( �� �3�2� ��
7����� !�%�

,� �3� -����2���� ��"3 ������� 2��� ���� �� ��-����� �� �������� �������� ��� ��2
����1
� �� -�� �3� �2� �	������� "��������� 00� ��� 00��

++
1 ,� "�� �� ����� -��� 7����� !� �3�� ������� ���	������� ��������� ���
�� �3� ����"3��� ��"����� ��� ���� �	�"�#"���1 ������ �3� 306�3 ������ 9� �3�
"������1� ��������� �� �3� ����		��� ��"���� ��� "����������1 �������� �;"�	� -��
�3� ���1� ����������1 ����2 �3� -��� ������ �3�� ����� �3�� ����"3��� ��"����
�3�2� � ������ ����������1 �3�� �3� ����		��� ���� ��� �3�� �� ��� �� �3� 3��36	����1
"��������� �� �3� �������� ,� ������� �3� "��	����� 23�"3 �����1 "����������
�� �3� ������� ��������� ����� �3� "����� �� �3� '!� ���"� �� 	������� �3� �������
"������������� ��� �3��� 3��� �3� ���� ���� �- �3� ���	������� ��������� �'� ���
�'� ���� 	������ � �����#"��� "������������ ��� ���� �3�� �'� �������� -��+�����1
"3����� ����"���� ��� -��� ���1 ��� �� �3� ������ �- ���3 ��"�����(� 23��� �'�
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7����� !� H 0����16����� ���	������� �������� 2��3 	��6"��	����� "��6
��������� ������� -�� "��� 00�

"����������� �� ��2�1� �		����� �� �3� ��� �- �3� ���	������� ��������� '� ��
��� ���������� ���1 �� �3� ��	 ���1�� 23��� �'$ ��� �'$ ���1 3��� � ���1 �����
"����������� �� ������ ������

++�1 ��8������1 -��� 00� "���� �� "�� �� ���� �� 7����� !� �3�� � ������ 2��3
����� ��������� "�� �� -���� �� ���3 ����		��� ��� ����"3��� ��"������ ������ 56�3
��� 306�3 ���1� ���	�"�����1� ������� �3�� ���3 ��"����� ��� +���� ���������� K���
���� �3�� ���	������� ��������� �� �3� ���� ��������� ���� �- �3� ����"3��� ��"�����
��� ������ 1 < ������� �3�� �� 00� "���� 7�� �3� ����� �3� ���� "�������������
�- 00� "��� 3����

,� �3�� �3����� �3� ���	������� �������� 2��3 	��6"��	����� "����������� ���6
���� �����3�� 2��3 �1�������" 	��"������ �� ���� �� ���� -�� ����"���� 	��� �-
"������ ����"���� ��3� ����"���� �- ���	������� ������ ��"������(� ��� �3� ��6
���� ���������� ��� �����"���� �- ��( �3� ����"�� ������ �- "��	������ -�� �3�
���������� ������ ���( ������ ��� ��"����� �- ���	������� ������������� ����(
"��	������� ������ �� �� ���������( ��� ���( ������� 23��� ���	������� "�� ��
�		��;������ �� �3� ������� ���� �3� �������� ������� ��� �3� 	��"������
-�� �3� ����"���� ����"���� ��� "����������1 ���	��� ��� ���� ��������� �3�� �3�
��>����1 �- 2���6?��2� ���3���� ��� ��������� "�� �� �����1 ���� �1 	��"��� ��6
�������� �3��� ��� -�� �3� "������ ��� ���������� ����"����� ���? 2��� �� ����1
��
�� �3� "�����	������ '3�	����
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�3�� '3�	��� ������ 2��3 �3� ���"��	���� �- �3� "��	���� ����� ���� �� ����� ��
�������� �3� �"���� �1����"� �- �3� ��;6"��	����� '!6'� �	������ "��������� ��
�3�� �3����� 0�"3 �����"��	����� "����� �� �����+�����1 ���"������ K�;�� �3�
"������ ��� �3� ���������� 	������ ��� �������"��� �����3�� 2��3 �3� ���3����6
��1 ��	��1�� -�� ������� �3��� �3� ���3������1 �� �������� ��� "������� �� �3�
	�������� �- ��"3 	������ �� � ����"����� ��� �� �������3��"�� 	���� �3� ����
���� �- ��"3 ���3������1 �� �3� ���	������� �������� 2��3 	��6"��	����� "��6
��������� �������� 23�"3 �� 	��	���� �� � ���	�� ���� �� ����1 �3�����1����"�
�� � �����"��	����� "������ ��� �������"��� .��� �- �3� "������ ����"���� ���
�3� ������ ���������� ��� 2��� �� ����"��� �� �3� ����� �- �3� �������� �������� ��
"��>��"���� 2��3 �1�������" 	��"�������





!!

���� �

�������
���� ������ ����	��





!$

�
���
� (��� 
����	��

�3� "������ 	������ ���? 3�� ���� �������"�� �� 0�"���� !��H 3��� �� ���� ���1
�� ��"����� �3�� �3� ��>�"����� "������ �� ������"��1 ���������� ��� �� �2� ?�1
��	������� �- �3� �����"��	����� '!6'� �	������ ���"����� �� 0�"���� !�!� �3��
��� �3� �'� �� �3� ���������� ��� �3� '! �� �3� ������� �� ����� �� 	��-��� �3�
������� ��	������� �� �	��� �- ���������"�� �������� �3� "������ �3� 	������ ��
������ �1 	����������� �� ���� � ����"����� ��� �� �������3��"�� 	����

�3� "������ .��� �� ������
�� �� -����2�H

���(��� �1 ,� �3�� '3�	���� �3� "������ �������3��� �3�� ��� �3� �1����" 	��6
"������ �3�� 	��-��� �3� "������ ���?� ��� ������������ �3��� �������3�� ��� �����
�� �3� ��������� "������"���� �3���1 ��� 	�������1 "��"�	��� 23�"3 ��� ��	��1��
�� �3�� �3���� �� ����� �� ������	 ��������6����� ���	������� "���������� 2��3
����62����	 	����"���� -�� ������"��1 ���������� ?�1 ��	�������� 0�"3 "����������
��� �3� -����2���H ��( � "����������� "���������) ���( � 	������� "��"��� "���������)
����( � "��"���6�1	� "��������� ����� �� '������ �1�	���� 7��"����� �'�7(�

���(��� �1 ,� �3�� '3�	���� �3� "������ ����"���� ����1��� ���� �� ����� ��
����"� �3� ���� "������ ����"���� -�� �3� ����� "������ ��>�"���� �� 	��������� �3�
����"����� 	������ "������� �� ����"���� ��( �3� ��"����� �- ���	������� ��������
���( �3� ����	������ ��������� ��� ����( �3��� 	������ �-�� ����6��� "����������(�
.��� �- �3� "������ ����"����� �3�� ��� �3� ����"���� �- ���	������� �����������
��"������� �� "3���� �3����3 �3� ���	������� �������� 2��3 	��6"��	����� "�����6
������ ������� �� "��>��"���� 2��3 � �1�������" 	��"������ 9�"� �3� "��������
����"����� ��� "3����� �3� "��"������ ������� ��� �3�2� ��� ���������
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,� �3�� '3�	���� �3� ������	���� �- �3� "������ �������3�� ������ �3� �1����"
���� 	��"������( ���� �� ����� �� "���1 ��� �3� "������ ���? �� ���������� 0�"3
�������3�� ��� ����� �� �3� ��������� "������"���� "������ �3���1 ��� 	�������1
"��"�	��� 23�"3 3��� ���� 3��� ���� -�� ������	��� ��������6����� ���	�������
"���������� 2��3 ����62����	 	����"���� -�� �3� ������"� "��	������� ���������� �-
�3� ?�1 ��	������� �- �3� �����"��	����� '!6'� �	������ ����������� �� 0�"���� !�!�
�3� �������3�� ��� �3� -����2���H ��( � "����������� "���������) ���( � 	�������
"��"��� "���������) ����( � "��"���6�1	� "��������� ����� �� '������ �1�	����
7��"����� �'�7(�

��� �	����
����	

�3� "������ 	������ -�� � ������������ "����� 3�� ���� ��������� 2��3 � ��� �-
��8����� �������3��� �3� ��>����1 �- "������ ��� ��""���-���1 "��������� 2��3
���3�� ., �"3���� �� /.' ����� ��� �� ���������� �3��� �;���� � ����� ������ �-
������� 23�"3 ����� ����� �3��� �	�"�#" "������ �������3���

� ��"��� �		���"3 �� �3� #��� �- ��������� "������ �3���1 �� ��	�������� �1 �3�
��������� ���
�������� ������� ������ �0�	��"3�� �� ���� ���%(� �3�� -����2��? ��
����� �� -���������� "����"����� ����� 	�������1� �	�������1 ��� �����������
��� �� ������� �� �3�� 2�1 �""������ �� �3� -�"� �3�� �3� "��������� �� ���
�������
�� �3� ����� �- ����� �1���� 	��	������ ��� ��������� ������

�3� ��������� "������"���� ���3��� 3��� ��"����1 ���� ���� �� ������������ "�����
"������� ��� �� 3�� ���� ��������3�� �3�� �3� ��������� ���	��6-�����"? 0,09 ���6
	���� �-�� ������6��� "������( �� /,/9 �2�6	���� �-�� ����6��� "������( "��	�6
������ �'����������60�3��L� ��� J�����
� �44 (� ���	������� �'����������60�3�6
�L� �� ���� �44$( ��� "��"��� "��	�������6��6���	������� �'����������60�3��L�



!& '3�	��� �� '������ �������3�

�� ���� �44 ( "��������� ��3������ "�� �� ��"������ �1 ����� �- ��������6�����
"���������� 2��3 ������6��"�������
�� ., "��	������� ������� �� � "������ ����6
���3� 2��3H ��( �1�������" ������ ������ ����� -�� ��1 ����"����� �������� �3��
������� ��� ��� �� �3� ����"���� �����- ��� ��� �� �3� ������� ��� ���( ����62����	
"�	������1 ��� �� �3� �������� ���������� �� �3� "����������

��� �� �3� ��������" 	������� �� ����"� "��	������� ������������ ������1 ���6
"����� �� '3�	��� �� ���1 ���	������� "���������� ��� ������	�� �� �3�� �3�����
�� ����� �� ������"��1 �������� "��	�������� �- ��������� �3��� ?��� �- ���	��6
����� "���������� "������"��� �� �3� ����� �- �3� �������������� "��"�	�� ���
������������ 0�"3 "���������� ��� �3� -����2���H

• � ������������ ���������� �� ��	�� 6 � ���	��()

• � ��
���� ���������� �� ��	��� 6 � ���	��()

• � "��"���6�1	� "��������� ����� �� '������ �1�	���� 7��"����� �'�7( ��
��	��� 6 � ���	��(� 23�"3 2��� �� ������� �� #3 �����������

,� �3� -����2���� ��"3 "���������� 2��� ���� �� ������� �� ����������
 �� !&# ���
�
���"� �3��� ���������� �� ����� �� �� �;	��"�� ����� �- �3� �1����� K��� �3��
	������� ��	��6���	�� "�����#"����� �� 3��� ���� -��� �3� 	���� �- ���2 �- �3�
"������ �1���� ��� ��� �""������ �� �3� 	��"���� ������� �3�� ���	��������
��� "�����#�� �� "��������� ��	��� �23��� �3�1 ��� 	��"��� ���	���( ��� A�2� ���
"�����#�� �� "��������� ���	��� �23��� �3�1 ��� 	��"��� ��	���(�

�3� ����� "���������� ��� ��"��	���� �����-1��� �3�� ��"3 /,/9 "��������� �"��6
���������� "��"��� �� '�7( �� ���� �1 �2� ��"�������
�� 0,09 ����� �3��� ���1
�3� ���"��	���� �- 0,09 "������ �������3�� �� ��"�����1 -�� ���"������ ���3 0,09
��� /,/9 ��"��	��� "���������� �-���2���� ������������

,� �3�� '3�	���� #����1 ���� ?�1 "��"�	�� ����� 	�������1 ��� �������"��� ���
�3�� �3� "������ �������3�� ��� 	���������

��� ��

����� ��	����


,� �3�� ��"����� �3� "��"��� 	��	������ �- ��

�	������� �N������� ��%�( ��� 	�

�����
��� ����A1 ����������� -�� ��������� �1����� 0�"3 �������"���� �� ����� �� 0�	��6
"3�� �� ��� ����%(� 23��� � 2���� ��� ���� �������� ���"��	���� �- �3��� "��"�	��
"�� ���� �� -�����

,���������1� � �1���� �� �����	����� �- ��� �����1 ��"����� �� ��� ������ �3�� �3�
������ �- ��		�1 ����� �1 �;������ ����"��� /��� -������1� "������� � �1����
H �� ��������� ��������� ������ ������ �� �+��������� 	����( 2��3 ����� x� ��	��
u ��� ���	�� yH ��"3 �1���� �� ���� �� �� �����	����� �- �3��� �;���� � 	�������



��!� '����������� "��������� !�

������#���� ������� -��"���� S(x) ��� � ��		�1 ���� w(u, y) ��"3 �3��

S(x(T )) − S(x(0)) ≤
∫ T

0

w(u(t), y(t)) dt ∀u, T > 0 ����(

�3� ������� -��"���� S "�� �� ���� �� �3� ������ �- �����1 �2��� �1 �3� �1�����
23��� �3� ��		�1 ���� w ��	������� �3� 	�2�� �������� �3� �1����� 0�"3 �����	�����
�1���� �� ���� 	������ �- �3� -����2��� "�������� 3����H

w(u(t), y(t)) = uT y ����(

.�������1 �� �3� ���� "��"�	� �� ��������� "������"���� �3���1� B�� 231 	�������1
"��"�	�� ��� �� ��	������U 7��� 0�	��"3�� �� ��� ����%( �� "�� �� ���� �3��
����� ���������� "���������� 	�

����� �
	���
 
��������� 0��"� ��������1 �� �3�
	��	���1 ������� -�� �3� �1����� �3���-��� �3� �������� �� �� #����� �3� ��"�����1
��� ��M"���� "��������� ����� 23�"3 ��"3 �1���� "�� �� �������� 	������ �1
����� �- � -�����"? �"����� ,- � �1���� 3�� ��"3 	��	������� �� �� ��#��� ��
�������4 	�

���� �3��� 	��	������ ��� �������� ������ ��� ��� ���4�� 
���
�

	��
�� ��� ��� ������ �� �3� -����2����

&����	�� ������ 11 � �1���� H 3�� �������� ������ r �- �3� ��	�� u �;	��"���1
�		���� �� �3� �+������ �- ���	�� y� 23�� �3� ������ �� ������� 2��3 ���	�"� ��
���� r ������ �3���-���� �3�� ����� �3�� �3� �������� ������ �� ��� 23�� �3�
�+������ -�� �3� #��� ���� ���������� �- y ������ �3� �+������ -�� ẏ( �;	��"���1
"������� � ��	�����"� �� u� 23��� �3� �+������ -�� y ���� ����

2��'� �	�	���(����1 � �1���� �� 2��?�1 ������� 	3��� �- 
���6�1����"�
������ �1���� �1����"� 23�� y = 0( ��� �������

�3��� �2� 	��	������ "�� ��� �� ����#�� �1 -�����"?� ��� �3���-��� ��� ������
-�� ��������� �3� �1���� 	�������1� ��� �3�� ��� ��������1� �� 2��� �� �3�2� ������
�3� ������������ "����� �1���� �����#�� ��"3 	��	������ ��� �3���-��� ���������
"������"���� �		���"3 "�� �� �����

��� ��	��	���	�� ��	�������

�3� ������������ ���������� ���"����� �� �3�� 0�"���� 2�� �������"�� -�� ��������6
���� 	��	���� �� '����������60�3��L� �� ��� ��44$( -�� � �����1 "������ ��� 2��
������	�� �� �3� ����� �- ��������� "������"���� �3���1 �0�	��"3�� �� ���� ���%(�
��� 	�������1 "��"�	��� 0�"3 "��������� �� 3��� �;������ �� �3� �����"��	�����
"���� ��� "������� �� �� ��������6����� ���	������� "��������� 2��3 ���3�� ��6
������ 3��� ���1 Q ���T�� ��A�; ���� R �� ����	������ ���������� 0��� 	�������
"��#��������� -�� ������6��� ��� ����6��� "����������� "���������� ��� ��	�����
�� 7����� ����
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7����� ���H 0"3��� �- � "����������� ���	������� "��������� -�� ������6
��� ���-�( ��� ����6��� ����3�( "��#����������

����� ��
������	

'������� �3� �1����" �- � ���	������� Tk �� �� "���������� ������ �1 � ����	�6
����� ��	�� ul ����3�� Q �� R(� �� �� "�� �� ���� -��� "����� �+������� �!��(� �3�
������������ ���������� ���"����� �� �3�� 0�"���� 2�� �������"�� -�� ������������
	��	���� �� '����������60�3��L� �� ��� ��44$(� ��� 2�� ������	�� �� �3� �����
�- ��������� "������"���� �3���1 �0�	��"3�� �� ���� ���%(� ��� 	�������1 "��"�	���
0�"3 "��������� �� 3��� �;������ �� �3� �����"��	����� "���� ��� "������� �� ��
��������6����� ���	������� "��������� 2��3 ���3�� �������� 3��� ���1 Q �� ��A�;
���� R �� ����	������ ���������� �3� �������� ���2��� �3� #��� ���� ���������� �-
Tk ��� ul �� �M��� ��� �3���-��� �3� ���	������� �1����"� �� ��������� ���������
"�� �� 2������ ��H

ẏ =
∗
au +

∗
b ���!(

23��� �3� �������� ��������� y = Tk − T̄k ��� u = ul − ūl ��� ����� ��� �3�
�1���� �̄·( ������ -�� �3� ������� ����� �� �3� ���6	���� �- �3� ��������� K���
�3��� ��8������1 -��� �3� '3�	��� �������"����� �3� ��	��6���	�� "�����#"����� ��
3��� ���� �� �3� ����� �- �3� 	��"��� �1����� ������� �3�� u �� �3� ��	�� ��� y
�� �3� ���	���

�3� "������ ����� ���!( 3�� �������� ������ �� ���"� �3� ��	�� u �;	��"���1 �		����
�� �3� �+������ �- �3� #��� ����6���������� �- �3� ���	�� y� /�������� �� �� ?��2�



��!� '����������� "��������� ��

-��� ������������ �3���1 �3�� 
���6�1����"� ��� ������ �'����������60�3��L� ��
���� �44$(� ������� �3�� �3� �1���� ��	�������� �1 5+� ���!( �� 	������� ���
�3���-��� ��������� "������"���� ���3��� "�� �� �����

,������ �- "��	����� �3� ���� ����� �-
∗
a ���	 �1 ���	� �� �		��;������� a "��6

	���� �� ������� "��������� "�� �� �������1 ���� �- �3� "�������� a = sign(
∗
a)

3����) ��3��2���� � 	������� -�����"? ���	 2���� ������� 1������� �� �������� �1�6
���� 5+� ���!( "�� �3���-��� �� ����	������ �� -����2�H

ẏ =
∗
au +

∗
b = au + (

∗
a − a)u +

∗
b

= au + b ����(

23��� b = (
∗
a−a)u+

∗
b� ,� �3�� 2��?� �3� ����� �- a 3�� ���� "��	���� �� �������

����� ��� �		��;������ �� �3� ����� �- "����� ����� �!��( �� -����2�H

Q �� ����	������ ��	��� Tk �� "��������� ���	�������

a = − ΔT̄k

H̄kλ̄v,k

ρC∑
j=ρ1

Δv̄j
k

Δc̄j
k

���$�(

R �� ����	������ ��	��� Tk �� "��������� ���	�������

a = C
ΔT̄k

H̄k
���$�(

23��� C �� �3� ������ �- "��	������� ΔT̄k = T̄k+1 − T̄k� Δc̄j
k = c̄j

k+1 − c̄j
k ���

Δv̄j
k = v̄j

k − v̄j
k−1 ��� �3� ���	�������� ��+��� "��	������� ��� ��	�� "��	�������

��������� �� ����� k -�� "��	����� j� Hk �� �3� 3����	 �� k6�3 ����� ��� λv,k �� �3�
3��� �- ��	���
����� �� ����� k� 2��3 ��� �3� ��������� ����� �� ������� "����������
9� �3� ��3�� 3���� �3� ����� �- b 2��� �� ��������� �� ����� �;	�������

,� ����� �� ����� �3� "���������� �3� ���	������� �1����"� ��� -��"�� 2��3 �3�
-����2��� "�����6���	 #��� ����� �1����"�H

ẏ = −Kcy ��� (

Kc �� �3� "��������� ����� ��� 3�� �3� ��������� �- � -��+���"1H �� -�"�� �� �� �3�
������� �- �3� ���� "������� �- 5+� ��� (� ,- �3� �1����"� ����� �� 5+� ��� ( ���
��	���� �� 5+� ����(� �3�� �3� -����2��� "��������� �"���� �� ��������H

− Kcy = au + b, ⇒ u = − (Kcy + b)
a

���%(

9� �3� ��3�� 3���� �3� 	�������� b �� ��?��2�� ��"���� �- �������� ������ ����
�� �3� �		��;������� ����(� ���������� ���������"��� ��� �� ��� D�2����� b
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�� ��������������1 ���������� ���"� �� �� ���+���1 ���������� �1 �3� ����������
��	��6���	�� 	��� ����� �1 u ��� y� ������� �3�� �� "�� �� ��"������"��� �3����3
�3� -����2��� #��� ����� �������� �D������ ��� <������ ��%%(H

˙̂
b = Ko(b − b̂) = Ko(ẏ − au − b̂) ���&(

,� 5+� ���&(� Ko ������� �3� �������� ���� ��� ��	������� �3� ������� �- �3� ����
"������� �- 5+� ����(�

�3� ��� �- �3� ���	������� ����6���������� ẏ �� 5+� ���&( �3���� �� ������� ��
��������� 	������� ��� �� ��8���������� ����� ����������1� �3�� "�� �� ���� #����1
��2������ �3� �������� ���&( �� -����2�H

˙̂
b − Koẏ = −Ko(au + b̂)

,- �3� "��������� "3���� χ = b̂ − Koy �� ����� � ��2 -��� �- ����( �� �������� ��

χ̇ = −Koχ − Ko(au + Koy) ����(

23��� �3� ��� �- �3� ���� ���������� ẏ �� ��� ������ ��1�����

7��� �3� "���������� �- 5+� ���%( ��� 5+� ����(� �3� -����2��� #�����������
���������� �� !&# �	������	 ���
 �� �������

u = −Kcy + b

a
= − (Kc + Ko)y + χ

a
����4�(

χ̇ = −Koχ − Ko(au + Koy) ����4�(

�3� "��������� ����4( �� -����� �1 � �����" 	��� ��3� "��������� u ����� �� 5+� ����4�((
��� � �1����" 	��� ��3� �������� -�� ���������� χ� ��� �3���-��� b� ����� ��
5+� ����4�((� 0�"3 "��������� -��� �� �3� ��� 23�"3 2��� �� ��	�������� �� �����
�� �"3���� "������ ��>�"������

����3�� "��������� -��� "�� �� ������� "���������� �3� -����2��� �;	������� -��
au �������� -��� 5+� ����4�(

au = −(Kc + Ko)y − χ

,�������� �3� �;	������� ����� �� 5+� ����4�( �3� -����2��� �;	������� -�� χ ��
��������H

χ̇ = −Koχ − Ko(au + Koy) = −Koχ − Ko(−Kcy − Koy − χ + Koy)
= KcKoy

⇓
χ = KcKo

∫
y dt �����(
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'�������� 5+� ����4�( ��� 5+� �����(� �3� -����2��� #����������� ���������� ��
���
������	 ���
 �� ��������

u = − (Kc + Ko)y + χ

a

= − (Kc + Ko)y + KcKo

∫
y dt

a
�����(

&����' �1
 5�� ���������� �����( ��� �� ������� �� 
�����
	��� ���
 �
 ������
6

χ̇ = Aχ + By = KcKoy

u = Cχ + Dy = −1
a
χ − Kc + Ko

a
y

5�� ���������� 
�
��
 �
 �� ��� ��
�� �� 
��������� �
 ��� �� 
��� �� ��� ���� ����
detA = 0� 5��
 �
 ���
�� 
���� u �= 0 ���� ��� ���������� �
 ������� ��� ��
���

��������

����� ��������	
� ���� 
�	��	���	�� ��

�-��� ��������
������ 5+� �����( "�� �� ��2������ �� � �������� ., -���

u = − (Kc + Ko)y + KcKo

∫
y dt

a
= −Kc + Ko

a

(
y +

KcKo

Kc + Ko

∫
y dt

)

= −Kp

(
y +

1
τI

∫
y dt

)
����!(

�3� "��������� ����!( �� "�����1 �;	������ �� ., -���� 23��� Kp �� �3� 	��	��������
���� ��� τI �� �3� �������� ����� �""������ �� �3� -����2��� ���������3�	�

Kp =
Kc + Ko

a
, τI =

Kc + Ko

KcKo

K��� �3�� �3� "��������� ���� Kc ��� �3� �������� ���� Ko ��� �����"3��������
���"� �3� ���� ������ -�� Kp ��� τI ��� ���������

����� �	�����	�� �����
�

��� �� �3� "���������� ��	���� �1 �3� �"�������� �3� ���������� 	3������� "��
3�		��� N3�� �3� "��������� �� ����� ����������� �3� 2����	 	������ "����� ��
�����+���� "������ �"����� � "��������� �;	������� 23�"3 ��"����� �3� ����������
�� �3� -����2���H

uS = sat(u, u−, u+) = u + ΔuS �����(

,� 5+� �����( u− ��� u+ ��� �3� ������� ��� ��;���� ���������� ������� uS ��
�3� ���� "������ �"���� ��� �� �3� �"������ "���������� ��� ΔuS �� �3� ��8����"�
���2��� �3� ���� "������ �"���� ��� �3� "��	���� ����
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,- �3� "��������� �� ��� ����� ����������� ����� 23�� �3� "�������� u− ≤ u ≤ u+ ��
����#��� �3� "�������� uS = u 3���� ���"� �3� ���� "������ �"���� "���"���� 2��3
�3� "��	���� ���� ,- u > u+ = uS� �� ����� �3�� �3� "��	���� "������ �"����
�� ������ �3�� �3� ���� ��� ��� �3���-��� ΔuS = u+ − u < 0� 9� �3� "������1�
�- u < u− = uS �3� ���� "������ �"���� �� ������� �3�� �3� "��	���� ��� ���
�3���-��� �3� "�������� u < uS = u− �� ����#��� 2��3 ΔuS = u− − u > 0�

9�� �- �3� ���� ��	������ -������� �- �3� "����������� "��������� �� ,/' -���
���� �- ��� ��������6����� "���������� ����� �� ��������� "������"���� �3���1( ��
�3� ��������" ��"������ �- �� ����62����	 �"����� N3�� ���������� �""���� �3�
"����������� "��������� �� ,/' �	��6���	 -��� ����4( "3����� �� -����2�H

u = − (Kc + Ko)y + χ

a
uS = sat(u, u−, u+) ����$�(

χ̇ = −Koχ − Ko(auS + Koy) = −Koχ − Ko(au + Koy) + KoaΔuS ����$�(

�� �;	������� -�� χ "�� �3���-��� ������� �� -����2�H

χ̇ = −Koχ − Ko(au + Koy) + KoaΔuS

= −Koχ − Ko(−Kcy − Koy − χ + Koy) + KoaΔuS

= KcKoy + KoaΔuS

⇓
χ = KcKo

∫
y dt + Koa

∫
ΔuS dt ���� (

�3� "�����6���	 -��� �+�������� �� 5+� ����$( �� �3�� �������� �3����3 �3� "��6
�������� �- ��� H

u = − (Kc + Ko)y + χ

a

= − (Kc + Ko)y + KcKo

∫
y dt

a
+ Ko

∫
ΔuS dt ����%(

&����' �1� 5�� ���������� ����%( ��� �� ������� �� 
�����
	��� ���
 �
 ������
6

χ̇ = Aχ + ByA =
[

KcKoy Koa
] [ y

ΔuS

]

u = Cχ + DyA = −1
a
χ − [ Kc+Ko

a 0
] [ y

ΔuS

]

�3� ����62����	 -������ ������� ���1 "���� 23�� "���������� �3� "��������� ����$(



��!� '����������� "��������� �$

�� �3� �+�������� ., -���� �-��� ��������
������ 5+� ����$( "�� �� ��2������ ��H

u = − (Kc + Ko)y + KcKo

∫
y dt − Koa

∫
ΔuS dt

a

= −Kc + Ko

a

(
y +

KcKo

Kc + Ko

∫
y dt

)
− Ko

∫
ΔuS dt

= −Kp

(
y +

1
τI

∫
y dt

)
− 1

ττ

∫
ΔuS dt ����&(

23�"3 �� � "�����"�� ����6����� 2����	 -��� �<��3��� �� ���� ����( 23��� ττ �� �3�
����� ���� �- �3� ����62����	 ����� K��� �3�� Kc ��� Ko ��� ��� �����"3���������
��8������1 -��� �3� "��� 2��3��� �����������

����� !�	�	"

�3� '����������� "��������� ����4( "�� �� �����1 ����� �� �3� ����� �- �3� -����26
��� ����� ����� �� '����������60�3��L� �� ��� ��44$(H

Kc ≈ 162ω, Ko ≈ 5610Kc �����(

�3� ������ ����� ����� �� 5+� �����( "�� �� �����1 �����	����� �� -����2�H ��( �3�
"��������� ���� Kc ��	������� �3� "3���"�������" -��+���"1 �- �3� "���������� 23�"3
���� �� -��"�� �� �� �+��� �� �� ���� �2�"� ������ �- �3� "3���"�������" -��+���"1
�- �3� �1���� ω) ���( �3� ��������� ���� Ko ��	������� �3� "3���"�������" -��+���"1
�- �3� ���������� ��� �� �� ������� �3�� �3� ���������� ����� ��"�1 ��"3 -�����
�3�� �3� ���������� ����� �-��� 5 �� 10 ����� +��"?��(�

&����' �1� ���� �� �� ���
 ���4 ��� �����	 ����
��
 ���� ���� ���������� �� �

����� ��������� ���� ��� �
��
���� ���7����� Ko 
����� ��� ������

1
3 �� ��� �����	

����������
��� ���7����� ωH � �� ����� �� 4��	 ��� 
�
��
 
������ *���� � ��	����
����� ��� ��� ������ �
 ωH ≈ 100ω� ��� 	������
 ��7����
��� �
 
���
/���

K��� �3�� �3� "��������� ����4( "�� �� ���	�1 ����� ��"� �3� "3���"�������" -��6
+���"1 �- �3� �1���� �� ?��2�� ,� �3�� �	�"�#" "���� �� �� ?��2� -��� ������������
�3���1 �0?������� ��� /������ ��&&( �3�� � "����� 3�� � ���� ���� "��������
�3� ������ "�� �� �����1 "��	���� 2��3 �	��6���	 ��	�� ���	 ���������� �� ��6
������ 3��� �� ��A�;� �1 ���?��� �� �3� "3���"�������" -��+���"1 �- �3� ���������
���	������� �1����" ���	����� -�� �3� ���1� �- ���������

'��	���� �� �1	�"�� ������ "������� �- ., "���������� �Q������6K�"3���� ��"�(� �3���
����� ��� ��"3 ���	��� �� �		�1� ,� 2��� �� �3�2� �� '3�	��� $ �3�� �3��� �����
���� ���� �� ���1 ���� 	��-�����"��
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7����� ���H 0"3��� �- � "��"��� ���	������� "��������� -�� ������6���
���-�( ��� ����6��� ����3�( "��#���������

��� ��
���� ��	�������

,� �3�� 0�"����� � 	������� "��"��� ���	������� "��������� �� ������	�� -�� � �����6
"��	����� "����� �� �3� ����� �- �3� ��������� "������"���� �3���1 �0�	��"3�� ��
���� ���%( ��� 	�������1 "��"�	��� '��	������� �� ������"��1 "��������� �3����3 �
����	������ ��	�� 23�"3 ��������� � 	�����1 ���	������� �3����3 �3� ��������"�
�- � ��"�����1 ���	������� "������ ���	� �3� ���� �- �3� ��"�����1 ���	�������
�� �3� "��"��� �� �3� -��� ��>�"���� �- -��� ���������"��� 0�"3 "��������� �� 	����6
��� ���"� �3� ����	������ ��	�� �8�"�� ���3 	�����1 ��� ��"�����1 ���	��������
�3����3 	������� #���6����� �+������� ���1���� ��%!(� 0��� 	������� "��#����6
����� -�� ������6��� ��� ����6��� "��"��� "���������� ��� ��	����� �� 7����� ����

����� ��
������	

,� ����� �� ������ �3� ���������� �- �3� "��"��� "��������� �""������ �� �3� ������6
��� "������"���� �3���1 �0�	��"3�� �� ���� ���%(� "������� �3� �1����" �- � 	�����1
���	������� Tk1 ��� � ��"�����1 ���	������� Tk2 ������ �1 � ����	������ ��	��
ul ����3�� Q �� R(H

ẏ1 = a1u + b1 ����4�(



���� '��"��� "��������� �%

ẏ2 = a2u + b2 ����4�(

23��� �3� �������� ��������� y1 = Tk1 − T̄k1 � y2 = Tk2 − T̄k2 ��� u = ul − ūl

��� ����� �� ������1 ������ �� 0�"���� ��!��� �3� ���������3�	� ���2��� �3� #���
���� ���������� �- � ������" ���	������� ��� � ����	������ ��	�� �� �M��� ���
�3���-��� �1����"� "�� �� 2������ �� �� 5+� ����4(� /�������� 5+� ����4( ��
	������� ��� �3���-��� ��������� "������"���� �3���1 "�� �� ���� -�� ������	���
�3� 	��	���� "���������� K��� �3�� 5+� ����4( 3�� ���� ������1 ����	������ ��
�� 5+� ����(� ������� �3�� �3� �"���� 	���������

∗
a1� ���

∗
a2 3��� ������1 ����

����������� 2��3 �������� �		��;�������� 2��3 �3� ���� ���� a1 ��� a2� ���
�3���-��� �3� 	��"����� �� ��� ��	����� ������

,� "��"���6�1	� ���	������� "����������� �3� 	�����1 ���	������� ���������� ��
������ -�� ����"��� �3� "��	������� �8���� 23��� �3� ��"�����1 ���	������� "��6
���� �� ���-�� -�� � -��� ��>�"���� �- ���������"��� �3� ������ "������ �"���� "�� ��
�	��� ���� �2� 	����H � 	�����1 "������ �"���� u∗ ��� � ��"�����1 "������ �"����
ũ�

7�� ��������� �3� 	�����1 "��������� �"���� u∗� 	�����1 ���	������� �1����"�
3�� �� �� -��"�� �� �� 5+� ��� (� ��������� �� �3� -����2��� �;	�������H

u∗ = − (Kc,1y1 + b1)
a1

�����(

�3� 	�����1 "��������� u∗ ��������� �3� ���6	���� �- �3� ��"�����1 ���	 y∗
2 ��

-����2�H
ẏ∗
2 = a2u

∗ + b2 �����(

0�"�����1 ���	������� �1����"� ��� -��"�� �""������ �� �3� -����2��� #��� �����
�1����"�

ẏ2 − ẏ∗
2 = −Kc,2(y2 − y∗

2) ⇒ ė2 = −Kc,2e2 ����!(

23��� e2 = y2 − y∗
2 ������� �3� ��8����"� ���2��� �3� �"���� ��"�����1 ���	��6

����� ��� ��� ��1����"( ���6	���� ����3 �� 	����������� ���������(�

�3� ������ "��������� �� -����� �1 �3� 	�����1 ��� �3� ��"�����1 	��� ��

u = u∗ + ũ �����(

��� ��� �;	������� "�� �� ������� �� -����2� ��?��� ��� �- 5+� �����(� �����( ���
����!(H

ẏ2 = ẏ∗
2 − Kc,2(y2 − y∗

2)
= a2u

∗ + b2 − Kc,2(y2 − y∗
2)

= −a2

a1
(Kc,1y1 + b1) + b2 − Kc,2(y2 − y∗

2)

⇓



�& '3�	��� �� '������ �������3�

a2u + b2 = −a2

a1
(Kc,1y1 + b1) + b2 − Kc,2(y2 − y∗

2)

⇓

u = u∗ + ũ = −Kc,1y1 + b1

a1
− Kc,2(y2 − y∗

2)
a2

����$(

�3� #��� ����� ��������� -�� ������"��1 ���������� b1 ��� b2 "�� �� �������� ��
���� -�� �3� "����������� "��� �� 5+� ����( �� -����2�H

χ̇1 = −Ko,1χ1 − Ko,1(a1u + Ko,1y1), b̂1 = χ1 + Ko,1y1 ���� �(

χ̇2 = −Ko,2χ2 − Ko,2(a2u + Ko,2y2), b̂2 = χ2 + Ko,2y2 ���� �(

7�����1� �3� #�
���� ���������� �� !&# �	������	 ���
 "�� �� �;	������ ��

u = u∗ + ũ, u∗ = − (Kc,1 + Ko,1)y1 + χ1

a1
, ũ = −Kc,2(y2 − y∗

2)
a2

����%�(

ẏ∗
2 = a2u

∗ + χ2 + Ko,2y2 ����%�(

χ̇1 = −Ko,1χ1 − Ko,1(a1u + Ko,1y1) ����%"(

χ̇2 = −Ko,2χ2 − Ko,2(a2u + Ko,2y2) ����%�(

�3� �;	������� -�� "�����6���	 	�����1 ���	������� �1����"� "�� �� ������� ��H

ẏ1 = a1u + b1

= −(Kc,1 + Ko,1)y1 − χ1 − Kc,2
a1

a2
(y2 − y∗

2) + χ1 + Ko,1y1

= −Kc,1y1 − Kc,2
a1

a2
(y2 − y∗

2) ����&(

,� �� 2���3 ������ �� 	�����1 ���	������� �1����"� ��� ��A���"�� �1 �3� ��"6
�����1 ���	������� �����H ��"� �3� ������ ��"�1� �� 
���� �3� �;	������� -�� �3�
�1����"� �� �+�������� �� �3� 	�����1 ���	������� "�����6���	 �1����" �+������
��� (�

&����' �1� 5�� 
���� ��������
 ��� ��� ��
���� ���������� ��� ��� ��� �
��
����
��������
 χ1 ��� χ2 ��� ��� 
�������� 
���	���� y2� !� ����� �� ��� ��� 
�����
	���
��	��
��������� 
���	����� ����� ��
� ���������� ��	��

���
 �
 ������
6

χ̇1 = −Ko,1χ1 − Ko,1(a1u + Ko,1y1)

= −Ko,1χ1 − Ko,1

(
(Kc,1 + Ko,1)y1 + χ1 − Kc,2

a1

a2
(y2 − y∗

2) + Ko,1y1

)

= −Kc,2Ko,1
a1

a2
y∗
2 + Kc,1Ko,1y1 + Kc,2Ko,1

a1

a2
y2

χ̇2 = −Ko,2χ2 − Ko,2(a2u + Ko,2y2)



���� '��"��� "��������� ��

= −Ko,2χ2 − Ko,2

(
−a2

a1
(Kc,1y1 + b1) − Kc,2(y2 − y∗

2) + Ko,2y2

)

= −Ko,2
a2

a1
χ1 − Ko,2χ2 − Kc,2Ko,2y

∗
2 + Ko,2(Kc,1 + Ko,1)

a2

a1
y1

+ Ko,2(Kc,2 − Ko,2)y2

ẏ∗
2 = a2u

∗ + χ2 + Ko,2y2 = −a2

a1
((Kc,1 + Ko,1)y1 + χ1) + χ2 + Ko,2y2

= −a2

a1
χ1 + χ2 − a2

a1
(Kc,1 + Ko,1)y1 + Ko,2y2

5�� ��
���� ���������� ����%( ��� ���� �� ������� �� 
�����
	��� ���
 �
6

⎡
⎣ χ̇1

χ̇2

ẏ∗
2

⎤
⎦ =

⎡
⎣ 0 0 −Kc,2Ko,1

a1
a2

Ko,2
a1
a2

−Ko,2 −Kc,2Ko,2

−a1
a2

1 0

⎤
⎦
⎡
⎣ χ1

χ2

y∗
2

⎤
⎦

+

⎡
⎣ −Kc,1Ko,1 −Kc,2Ko,1

a1
a2−Kc,2(Kc,1 + Ko,1)a2

a1
Ko,2(Kc,2 + Ko,2)

−a2
a1

(Kc,1 + Ko,1) Ko,2

⎤
⎦[ y1

y2

]

[
u∗

ũ

]
=

[
− 1

a1
0 0

0 0 Kc,2
a2

]⎡⎣ χ1

χ2

y∗
2

⎤
⎦+

[
−Kc,1+Ko,1

a1
0

0 −Kc,2
a2

] [
y1

y2

]

����� �	�����	�� �����
�

N3�� ���������� �""���� �3� ����62����	 �"���� �� ������� �1 �3� -�"� �3�� �3�
���������� ���� ( ��� ������ �1 �3� ���� "������ �"���� uS � ��#��� �1

uS = sat(u, u−, u+) = u + ΔuS �����(

23��� �3� ��"�����1 ���6	���� ��������� ����%�( �� ������ �1 �3� ��������� 	�����1
"������ �"���� u∗

S �� -����2�H

u∗
S = sat(u∗, u−, u+) = u∗ + Δu∗

S ���!4(

&����' �1� 5�� �
��
����
 ����
��
 ��� ��� 
�������� ��
	������� 
���	����
��������� ��	��

���
 
�
� �� 
���	������ �
 ������
 �� ����� �� ������ ��� 
�����

	��� ��	��
�������� �� ��� ��
���� ���������� ���� 
��������� �
 	��
���6

χ̇1 = −Ko,1χ1 − Ko,1(a1uS + Ko,1y1)
= −Ko,1χ1 − Ko,1(a1u + Ko,1y1) − Ko,1a1ΔuS

= −Kc,2Ko,1
a1

a2
y∗
2 + Kc,1Ko,1y1 + Kc,2Ko,1

a1

a2
y2 − Ko,1a1ΔuS

χ̇2 = −Ko,2χ2 − Ko,2(a2uS + Ko,2y2)



$4 '3�	��� �� '������ �������3�

= −Ko,2χ2 − Ko,2(a2u + Ko,2y2) − Ko,2a2ΔuS

= −Ko,2
a2

a1
χ1 − Ko,2χ2 − Kc,2Ko,2y

∗
2 + Ko,2(Kc,1 + Ko,1)

a2

a1
y1

+ Ko,2(Kc,2 − Ko,2)y2 − Ko,2a2ΔuS

ẏ∗
2 = a2u

∗
S + χ2 + Ko,2y2 = a2(u∗ + Δu∗

S) + χ2 + Ko,2y2

= −a2

a1
((Kc,1 + Ko,1)y1 + χ1) + χ2 + Ko,2y2 + a2Δu∗

S

= −a2

a1
χ1 + χ2 − a2

a1
(Kc,1 + Ko,1)y1 + Ko,2y2 + a2Δu∗

S

5�� ��
������ 
�����
	��� ���
 �
 ���� ����
������6⎡
⎣ χ̇1

χ̇2

ẏ∗
2

⎤
⎦ =

⎡
⎣ 0 0 −Kc,2Ko,1

a1
a2

Ko,2
a1
a2

−Ko,2 −Kc,2Ko,2

−a1
a2

1 0

⎤
⎦
⎡
⎣ χ1

χ2

y∗
2

⎤
⎦

+

⎡
⎣ −Kc,1Ko,1 −Kc,2Ko,1

a1
a2

−Ko,1a1 0
−Kc,2(Kc,1 + Ko,1)a2

a1
Ko,2(Kc,2 + Ko,2) −Ko,2a2 0

−a2
a1

(Kc,1 + Ko,1) Ko,2 0 a2

⎤
⎦
⎡
⎢⎢⎣

y1

y2

ΔuS

Δu∗
S

⎤
⎥⎥⎦

[
u∗

ũ

]
=

[
− 1

a1
0 0

0 0 Kc,2
a2

]⎡
⎣ χ1

χ2

y∗
2

⎤
⎦+

[
−Kc,1+Ko,1

a1
0 0 0

0 −Kc,2
a2

0 0

]⎡⎢⎢⎣
y1

y2

ΔuS

Δu∗
S

⎤
⎥⎥⎦

����� ��
������	 �� � 
��
��� �� ��
�

=�"��� �3� 	�����1 �������� ���� �(

χ̇1 = −Ko,1χ1 − Ko,1(a1u + Ko,1y1) ���!�(

��� �3� -����2��� �;	������� -�� a1u 23�"3 "�� �� ������� -��� �3� "���������
����%�(H

a1u = a1(u∗ + ũ)

= −(Kc,1 + Ko,1)y1 − χ1 − Kc,2
a1

a2
e2 ���!�(

0����������� 5+� ���!�( ���� 5+� ���!�(� �� �;	������� -�� χ1 "�� �� �������� ��
-����2�H

χ̇1 = −Ko,1χ1 − Ko,1(a1u + Ko,1y1)

= −Ko,1χ1 − Ko,1

(
−(Kc,1 + Ko,1)y1 − χ1 − Kc,2

a1

a2
e2

)

= Kc,1Ko,1y1 + Kc,2Ko,1
a1

a2
e2



���� '��"��� "��������� $�

⇓
χ1 = Kc,1Ko,1

∫
y1 dt + Kc,2Ko,1

a1

a2

∫
e2 dt ���!!(

�3� "���������� �- 5+� ����%�( ��� 5+� ���!!( 1����� �3� -����2��� ��
���� ����
������� �� !&# ���
������	 ���
H

u = u∗ + ũ ���!��(

u∗ = −Kc,1 + Ko,1

a1
y1 − Kc,1Ko,1

a1

∫
y1 dt − Kc,2Ko,1

a2

∫
e2 dt ���!��(

ũ = −Kc,2

a2
e2 ���!�"(

0��"� e2 = y2 − y∗
2 � �� ,/' "�����6���	 �;	������� -�� y∗

2 3�� �� �� �������� ��
����� �� ��� � "��	���� "�����6���	 "��������� �;	�������� 0�"3 �;	������� -�� y∗

2

"�� �� �������� �������� -��� 5+� ����%�(� 23�"3 �� ��"����� ����2H

ẏ∗
2 = a2u

∗ + χ2 + Ko,2y2 ���!$(

5+� ���!$( ��	���� �3��

χ2 = ẏ∗
2 − a2u

∗ − Ko,2y2 ���! (

=�"��� ��2 �3� ��"�����1 �������� ���� �(

χ̇2 = −Ko,2χ2 − Ko,2(a2u + Ko,2y2) ���!%(

� "�����6���	 �;	������� -�� χ2 �� �� ����������� ���� 5+� ���!$( "�� �� �������
�1 >������� ���! ( ��� ���!%( �� -����2�H

χ̇2 = −Ko,2χ2 − Ko,2(a2u + Ko,2y2)
= −Ko,2(ẏ∗

2 − a2u
∗ − Ko,2y2) − Ko,2(a2u + Ko,2y2)

= −Ko,2ẏ
∗
2 − Ko,2a2ũ

= −Ko,2ẏ
∗
2 + Kc,2Ko,2e2

⇓
χ2 = −Ko,2y

∗
2 + Kc,2Ko,2

∫
e2 dt ���!&(

9� �3� ��3�� 3���� �� �;	������� -�� a2u
∗ �� �� ����������� ���� 5+� ���!$( "��

�� ������� -��� �3� 	�����1 "��������� u∗ �� 5+� ���!��( ��

a2u
∗ = −a2

a1

(
(Kc,1 + Ko,1)y1 + Kc,1Ko,1

∫
y1 dt + Kc,2Ko,1

a1

a2

∫
e2 dt

)
���!�(



$� '3�	��� �� '������ �������3�

'�������� 5+� ���!&(� 5+� ���!�( ��� 5+� ���!$(� �3� ,/' "�����6���	 �;	�������
-�� y∗

2 �� �������� ��H

ẏ∗
2 = −a2

a1

(
(Kc,1 + Ko,1)y1 + Kc,1Ko,1

∫
y1 dt + Kc,2Ko,1

a1

a2

∫
e2 dt

)
− Ko,2y

∗
2

+ Kc,2Ko,2

∫
e2 dt + Ko,2y2

= −a2

a1
(Kc,1 + Ko,1)y1 − a2

a1
Kc,1Ko,1

∫
y1 dt + Kc,2Ko,1

∫
e2 dt − Ko,2y

∗
2

+ Kc,2Ko,2

∫
e2 dt + Ko,2y2

=
a2

a1
(Kc,1 + Ko,1)y1 − a2

a1
Kc,1Ko,1

∫
y1 dt + Ko,2e2 + Kc,2(Ko,1 + Ko,2)

∫
e2 dt

⇓

y∗
2 = −a2

a1
(Kc,1 + Ko,1)

∫
y1 dt − a2

a1
Kc,1Ko,1

∫ (∫
y1 dt

)
dt + Ko,2

∫
e2 dt

+ Kc,2(Ko,1 + Ko,2)
∫ (∫

e2 dt

)
dt ����4(

�3� "���������� �- 5+� ���!�( ��� 5+� ����4( "�� �� ��2������ �� .,6��?� -���
��

u = −Kc,1 + Ko,1

a1
y1 − Kc,1Ko,1

a1

∫
y1 dt − Kc,2

a2
e2 − Kc,2Ko,1

a2

∫
e2 dt

= −Kc,1 + Ko,1

a1

(
y1 +

Kc,1Ko,1

Kc,1 + Ko,1

∫
y1 dt

)
− Kc,2

a2

(
e2 + Ko,1

∫
e2 dt

)

= −KP,1

(
y1 +

1
τI,1

∫
y1 dt

)
− KP,2

(
e2 +

1
τI,2

∫
e2 dt

)
������(

y∗
2 =

a2

a1
(Kc,1 + Ko,1)

∫
y1 dt − a2

a1
Kc,1Ko,1

∫ (∫
y1 dt

)
dt + Ko,2

∫
e2 dt

+ Kc,2(Ko,1 + Ko,2)
∫ (∫

e2 dt

)
dt

=
a2

a1
(Kc,1 + Ko,1)

(∫
y1 dt +

Kc,1Ko,1

Kc,1 + Ko,1

∫ (∫
y1 dt

)
dt

)

+ Ko,2

(∫
e2 dt +

Kc,2(Ko,2 − Ko,1)
Ko,2

∫ (∫
e2 dt

)
dt

)

= K∗
I,1

(∫
y1 dt +

1
τ∗
II,1

∫ (∫
y1 dt

)
dt

)

+ K∗
I,2

(∫
e2 dt +

1
τ∗
II,2

∫ (∫
e2 dt

)
dt

)
������(

�3� "��������� ������( �3�2� .,6��?� "��	������ ����3 	��	�������� ��� ����6
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���� �����( -�� ���3 	�����1 ��� ��"�����1 ���	��������� 23��� �3� ���6	����
��������� ������( 3�� , ��� ,, ������� ����������( "��	������ -�� ���3 ���	���6
������ ��8������1 -��� "����������� "���� �3� "��"��� "��������� �������� �� ���
�+�������� �� �3� "�����"�� "��"��� ., -����

����� �#	���
� �	 ��
�	� �
��
 ��
�

,� �� ����������� �� �3�2 3�2 � ��"���6����� �1����" �;	������� �� �������� -��
�3� 	�����1 ���	������� "�����6���	 �1����"� �- >������� 	�����1 ��� ��"�����1
"�����6���	 �;	�������� ����� �� 5+� ����&( ��� ����!( ���	�"�����1� 0�"3 �;6
	������� �� ���-�� �� ����� �� ��������� ��� ����1
� �3� ��"���6����� ���	����
	��������� �"3���"�������" -��+���"1 ��� ���	��� -�"���(� �1 "����"���� �3��
2��3 �3� "��"��� ����� =�"��� #���6����� �1����" �;	�������� -�� ��?�� �- "�����1H

ẏ1 = −Kc,1y1 − Kc,2
a1

a2
e2 ������(

ė2 = −Kc,2e2 ������(

,- 5+� ������( �� ������� 2��3 ���	�"� �� ����� �3� -����2��� ��"��� ����� �+������
�� ��������H

ÿ1 = −Kc,1ẏ1 − Kc,2
a1

a2
ė2 ����!(

��� ���������� 5+� ������( �� 5+� ����!(H

ÿ1 = −Kc,1ẏ1 − Kc,2
a1

a2
ė2

= −Kc,1ẏ1 + Kc,2
2 a1

a2
e2 �����(

7�����1� �1 ��������� �3� �;	������� -�� e2 �;���"��� -��� 5+� ������(� �3� 	�����1
���	������� ��"��� ����� �1����"� ��� ��������H

ÿ1 = −Kc,1ẏ1 + Kc,2
2 a1

a2
e2 = −Kc,1ẏ1 + Kc,2

2 a1

a2

(
−Kc,1y1 − ẏ1

Kc,2
a1
a2

)

= −Kc,1ẏ1 − Kc,1Kc,2y1 − Kc,2ẏ1

= −(Kc,1 + Kc,2)ẏ1 − Kc,1Kc,2y1

0��"� � �������� ��"��� ����� �+������ �� 2������ �� -����2�H

ÿ1 + 2ξωẏ1 + ω2y1 = 0 ����$(

�3� "3���"�������" -��+���"1 ω ��� �3� ���	��� -�"��� ξ ���

ω =
√

Kc,1Kc,2, ξ =
Kc,1 + Kc,2

2
√

Kc,1Kc,2

���� (
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ξ

7����� ��!H ���	��� -�"��� ξ ������ ���� ��	������� -�"��� p -�� �3�
��"��� ����� ���	���� �- � "��"��� "���������

K��� �3�� �3� "��������� ����� Kc,1 ��� Kc,2 ��� �����"3��������� ������� �3�� ��
��8����"� �� �1����"� ������� -��� �;"3������ 	�����1 ��� ��"�����1 "���������
������ ,- � ���� ��	������� -�"��� p �� ��#��� ��"3 �3��

Kc,2 = pKc,1, p > 0

�3� -����2��� �;	�������� -�� �3� "3���"�������" -��+���"1 ��� �3� ���	��� -�"���
��� ��������

ω =
√

pKc,1, ξ =
1 + p

2
√

p
����%(

������� �3�� �3� ���	��� -�"��� ���1 ��	���� �� �3� ��	������� -�"��� p�

7��� �� ����1��� �- �3� ���	��� -�"��� ξ �� � -��"���� �- p� �� -����2� �3��
�3� ��"���6����� ���	���� ����!( �� ��2�1� �������	��� ����� �3�� �3� "��������
ξ ≥ 1 �� ��2�1� ����#��� �3� 	��� �� 7����� ��! �3�2� �3� ���	��� -�"��� ξ ������
�3� ���� ��	������� -�"��� p�

����$ !�	�	"

�3� "��"��� "��������� "�� �� �����1 ����� �� �3� ����� �- �3� -����2��� �����
����� �� '����������60�3��L� �� ��� ��44$(H

Kc,1 ≈ 162ω, Kc,2 ≈ 162Kc,1, Ko,1 = Ko,2 ≈ 5610Kc,1 ����&(
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�3� ������ ����� ����� �� 5+� ����&( "�� �� �����1 �����	����� �� -����2�H ��(
�3� 	�����1 "��������� ���� Kc,1 ��	������� �3� "3���"�������" -��+���"1 �- �3�
	�����1 "���������� 23�"3 ���� �� -��"�� �� �� �+��� �� �� ���� �2�"� ������ �-
�3� "3���"�������" -��+���"1 �- �3� �1���� ω) ���( �3� ��"�����1 "��������� ����
Kc,2 ��	������� �3� "3���"�������" -��+���"1 �- �3� ��"�����1 "���������� 23�"3
���� �� -��"�� �� �� �+��� �� �� ���� �2�"� ������ �- �3� 	�����1 ��� Kc,1) �3�
����( �3� ��������� ����� Ko,1 ��� Ko,2 ��	������ �3� "3���"�������" -��+���"��� �-
	�����1 ��� ��"�����1 ����������� ��� �� �� ������� �3�� �3� ���������� ������
��"�1 ��"3 -����� �3�� �3� 	�����1 ���������� ��� �-��� 5 �� 10 ����� +��"?��(�

�� -�� "����������� "��������� "���� �3� �������� -��+���"��� Ko,1 ��� Ko,2 "��6
��� �;"��� 1

3 �- 3����	 "3���"�������" -��+���"1 ωH � �� ����� �� ����� �1����
���������
������ ,� ��������� �3� "��������� ����%( "�� �� ���	�1 ����� ��"� �3�
"3���"�������" -��+���"1 �- �3� �1���� �� ?��2�� '3���"�������" -��+���"1 "�� ��
-���� �� ������1 �;	������ �� 0�"���� ��!��� ��� �3�� �3� "��������� 	���������
"�� �� �����1 "��	�����

��� �() ��	������� ��
�� �	 ��	���� (���
	��
 
	����	


,� �3�� 0�"����� � 	������� "��"���6�1	� "��������� �� ����� �� �3� ����� �- ���������
"������"���� "������ �3���1 �""������ �� �3� �1�	���� ��������1 "�������� �3� ����
3��� �� �� ������ � "������ -��"���� ��"3 �3�� ��� �		��"����� 1����� � ������ �1����
�� �3� ����� �- �1�	����H ��( #����1� � 	������� ��#���� �1�	���� -��"���� 23�"3
��	������� �3� �����1 �- �3� �1���� 3�� �� �� -����) ���( �3��� � "������ -��"����
3�� �� �� -��"�� �� ����� �� ������ �3� ����6���������� �- ��"3 �1�	���� -��"����
�������� ��#����� 0�"3 "������ -��"���� �� ��#��� �� '������ �1�	���� 7��"����
�'�7(� ��?� -�� �3� "��"��� "��������� 	��	���� �� 	������� 0�"����� "��	�������
�� ������"��1 "��������� �3����3 � ����	������ ��	�� 23�"3 ��������� � 	�����1
���	������� �3����3 �3� ��������"� �- � ��"�����1 ���	������� "������ ���	� �3�
���� �- �3� ��"�����1 ���	������� �� ����� �3� -��� ��>�"���� �- -��� ���������"���
�3�� "��������� 2�� �������"�� �� '����������60�3��L� �� ��� ��4�4( -�� � �����1
"������ ��� �� 3��� �;������ -�� �3� �����"��	����� "���� B���� �3� '�7
"��������� � "��"���6�1	� ���� ��� �"3��� �� �3� ���� �- �3� "��"��� "���������
��	����� �� 7����� ����

��$�� ��
������	

�� ������1 ���� -�� �3� "��"��� "���� "������� ����� �3� �1����"� �- � 	�����1
���	������� Tk1 ��� �- � ��"�����1 ���	������� Tk2 � ������ �1 � ����	������



$ '3�	��� �� '������ �������3�

��	�� ul ����3�� Q �� R(H

ẏ1 = a1u + b1 ������(

ẏ2 = a2u + b2 ������(

23��� �3� �������� ��������� y1 = Tk1 − T̄k1 � y2 = Tk2 − T̄k2 ��� u = ul − ūl

��� ����� K��� �3��� �� 2��� �� -�� "��"��� "���� 5+� �����( 3�� ���� ������1
����	������ �� �� 5+� ����(� ������� �3�� �3� �"���� 	���������

∗
a1� ���

∗
a2 3���

������1 ���� ����������� 2��3 �������� �		��;�������� 2��3 �3� ���� ���� a1 ���
a2� ��� �3���-��� �3� 	��"����� �� ��� ��	����� ������

�3� #��� ���	 23�� �����	���� �� #�� � '�7 -�� �1���� �����(� "������� ��
��������� � "�������� �1�	���� -��"���� V 23�"3 ��	������� �3� �����1 �- ��"3
�1����� V ���� �� 	������� ��#���� �� ������� 00 "���������� ������� �3�� 3��
�� �� ��2�1� 	������� �;"�	� �� ������� 00 23��� 3�� �� �� �+��� �� 
���� �
	������� �1���� �1�	���� -��"���� �� �3� -����2���H

V(y1, e2) =
1
2
(y1

2 + e2
2) � 0 ���$4(

23��� e2 = y2 − y∗
2 � y∗

2 ������� �3� �1����" ��"�����1 ���6	����� 23�"3 �� �����6
���� -��� �3� 	�����1 "��������� u∗ ��

ẏ∗
2 = a2u

∗ + b2 ���$�(

�3� 	�����1 "��������� u∗ ��� �3� ��"�����1 "��������� ũ -��� �3� ������ "������
�"���� u ��

u = u∗ + ũ

K��� �3�� 5+� ���$4( �� 	������� ��#���� �� ������� 00 "��������� ������ �� (y1, e2) =
(0, 0)( ���"� �� ��2�1� 	�������� �;"�	� �� 00� 23��� �� �+��� �� 
��� �V(0, 0) = 0(�

9�"� �3� �1�	���� -��"���� 3�� ���� "3����� �3� "������ �"���� ���� �� -��"��
�� ��"3 � 2�1 �3�� �3� ���� ���������� V̇ �- 5+� ���$4( �� �������� ��#���� �� 00
��� (y1, e2) = (0, 0)(� ������� �3�� V̇ 3�� �� �� ��2�1� ��������� �;"�	� �� 00
"���������� 23��� 3�� �� �� �+��� �� 
���� V̇ "�� �� �������� �� -����2� ��?���
��� �- �3� �;	�������� -�� ẏ1 ��� ẏ2 ����� �� 5+� �����(�

V̇(y1, e2) = y1ẏ1 + e2ė2 = y1(a1u + b1) + e2(a2u + b2 − a2u
∗ − b2)

= y1(a1(u∗ + ũ) + b1) + a2e2ũ

= y1(a1u
∗ + b1) + (a1y1 + a2e2)ũ ���$�(

�3� ���� ����	������� �� 5+� ���$�( �� ������� �� ��"?���		��� 	��"����� �0�	6
��"3�� �� ���� ���%(� ��� "������� �� �	������� �3� -��"���� ẏ �� �2� 	���� �� ��"3 �
2�1 �3�� ��� 	��� �� ���1 -��"���� �- �3� 	�����1 "��������� u� ��� �3� ��3�� ��
���1 -��"���� �- �3� ��"�����1 "��������� ũ� ,� ����� �� ������ 5+� ���$�( ��������
��#����� u∗ ��� ũ ���� �� �		��	������1 -��"��H 3��� �3� ���� �� �� ��������� u∗

�� �3�� �3� ���� y1(a1u
∗ + b1) �� ��2�1� ��������� ��� ũ -�� ����� �3� ���� 2��3
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�3� ���� (a1y1 + a2e2)ũ� � 	������� ����"���� �- 	�����1 ��� ��"�����1 "������
�"����� �� �"3���� �3� ����� ��������� ��� �� �3� -����2���H

u∗ = −Kc,1y1 + b1

a1
���$!�(

ũ = −Kc,2

(
a1

a2
2
y1 +

1
a2

e2

)
���$!�(

,- 5+� ���$!�( ��� 5+� ���$!�( �;	�������� ��� ���� �� 5+� ���$�(� �3� ������ ��6
"���� �������� ��#���� �� 00� �� �3�2� �� �3� -����2���H

V̇(y1, e2) = y1(a1u
∗ + b1) + (a1y1 + a2e2)ũ

= y1

(
a1

(
−Kc,1y1 + b1

a1

)
+ b1

)

+ (a1y1 + a2e2)
(
−Kc,2

(
a1

a2
2
y1 +

1
a2

e2

))

= y1(−Kc,1y1 − b1 + b1) − Kc,2
a1y1 + a2e2

a2

(
a1

a2
y1 + e2

)

= −Kc,1y1
2 − Kc,2

(
a1

a2
y1 + e2

)2

���$�(

,� �� "���� �3�� 5+� ���$�( �� �+��� �� 
��� ���1 �- (y1, e2) = (0, 0) ��� ��������
����23���� ������� �3�� �� �������� ��#���� �� (0, 0)� �� ��+������ �3�� "��������
"�� �� ��2������ �� ���3�����"�� ����� ��

V̇(y1, e2) = −Kc,1y1
2 − Kc,2

(
a1

a2
y1 + e2

)2

≺ 0 ���$$(

'��������� ���$4( ��� ���$$( ���� �3�� �3� "���������

u = u∗ + ũ = −Kc,1y1 + b1

a1
− Kc,2

(
a1

a2
2
y1 +

1
a2

e2

)
���$ (

�� � '�7 -�� �3� �1���� �����(�

�3� "�����6���	 �1����"� -��"�� �1 5+� ���$ ( ���H

ẏ1 = a1u + b1 = a1

(
−Kc,1y1 + b1

a1
− Kc,2

(
a1

a2
2
y1 +

1
a2

e2

))
+ b1

= −Kc,1y1 − b1 − Kc,2

((
a1

a2

)2

y1 +
a1

a2
e2

)
+ b1

= −
(

Kc,1 + Kc,2

(
a1

a2

)2
)

y1 − Kc,2
a1

a2
e2 ���$%�(

ė2 = ẏ2 − ẏ∗
2 = a2u + b2 − a2u

∗ − b2 = a2ũ = −a2Kc,2

(
a1

a2
2
y1 +

1
a2

e2

)
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= −Kc,2

(
a1

a2
y1 + e2

)
���$%�(

�� 2��� �� -�� �3� "��"��� "���� b1 ��� b2 "�� �� ������"��1 ��������� �3����3 �3�
-����2��� #��� ����� ����������H

χ̇1 = −Ko,1χ1 − Ko,1(a1u + Ko,1y1), b̂1 = χ1 + Ko,1y1 ���$&�(

χ̇2 = −Ko,2χ2 − Ko,2(a2u + Ko,2y2), b̂2 = χ2 + Ko,2y2 ���$&�(

7�����1� >������� 5+� ���$�(� 5+� ���$ ( ��� 5+� ���$&(� �3� #������ 3��	����
�������� �#3 � �� �	������	 ���
 �� ������� ��

u = u∗ + ũ = −Kc,1y1 + b1

a1
− Kc,2

(
a1

a2
2
y1 +

1
a2

e2

)
���$��(

ẏ∗
2 = a2u

∗ + Ko,2y2 + χ2 ���$��(

χ̇1 = −Ko,1χ1 − Ko,1(a1u + Ko,1y1) ���$�"(

χ̇2 = −Ko,2χ2 − Ko,2(a2u + Ko,2y2) ���$��(

&����' �1� 5�� 
���� ��������
 ��� ��� ���������� ��
�� �� #3 ��� ��� ���
�
��
���� ��������
 χ1 ��� χ2 ��� ��� 
�������� 
���	���� y∗

2� 5�� 
�����
	���
��	��
�������� �
 
�
���� �� ��� ��
���� ��
�� ��� ��� �� �������� 
���	�������
��
� ���������� ��������
 �
 ������
6

χ̇1 = −Ko,1χ1 − Ko,1(a1u + Ko,1y1)

= −Ko,1χ1 − Ko,1

(
−(Kc,1 + Ko,1)y1 − χ1 − Kc,2

a1

a2
2
(a1y1 + a2(y2 − y∗

2))
)

− Ko,1
2y1

= −Kc,2Ko,1
a1

a2
y∗
2 +

(
Kc,2Ko,1

(
a1

a2

)2

+ Kc,1Ko,1

)
y1 + Kc,2Ko,1

a1

a2
y2

χ̇2 = −Ko,2χ2 − Ko,2(a2u + Ko,2y2)

= −Ko,2χ2 − Ko,2

(
−a2

a1
(Kc,1y1 + b1) − Kc,2

1
a2

(a1y1 − a2e2) + Ko,2y2

)

= −Ko,2
a2

a1
χ1 − Ko,2χ2 − Kc,2Ko,2y

∗
2 + Ko,2

(
(Kc,1 + Ko,1)

a2

a1
+ Kc,2

a1

a2

)
y1

+ Ko,2(Kc,2 − Ko,2)y2

ẏ∗
2 = a2u

∗ + χ2 + Ko,2y2 = −a2

a1
((Kc,1 + Ko,1)y1 + χ1) + χ2 + Ko,2y2

= −a2

a1
χ1 + χ2 − a2

a1
(Kc,1 + Ko,1)y1 + Ko,2y2
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5�� ���������� ���$�( ��� ���� �� ������� �� 
�����
	��� ���
 �
6⎡
⎣ χ̇1

χ̇2

ẏ∗
2

⎤
⎦ =

⎡
⎣ 0 0 −Kc,2Ko,1

a1
a2

Ko,2
a1
a2

−Ko,2 −Kc,2Ko,2

−a1
a2

1 0

⎤
⎦
⎡
⎣ χ1

χ2

y∗
2

⎤
⎦

+

⎡
⎢⎣ Kc,2Ko,1

(
a1
a2

)2

+ Kc,1Ko,1 −Kc,2Ko,1
a1
a2

(Kc,1 + Ko,1)a2
a1

+ Kc,2
a1
a2

Ko,2(Kc,2 + Ko,2)
−a2

a1
(Kc,1 + Ko,1) Ko,2

⎤
⎥⎦[ y1

y2

]

[
u∗

ũ

]
=

[
− 1

a1
0 0

0 0 Kc,2
a2

]⎡
⎣ χ1

χ2

y∗
2

⎤
⎦+

[
−Kc,1+Ko,1

a1
0

−Kc,2
a1
a22 −Kc,2

a2

] [
y1

y2

]

��$�� �	�����	�� �����
�

�� 2��� �� -�� �3� "��"��� "���� �3� ����62����	 �"���� �� ������� 23�� ����������
�""��� ���"� �3� ���������� �� 5+� ���$&( ��� ������ �1 �3� ���� "������ �"���� uS �
��#��� ��

uS = sat(u, u−, u+) = u + ΔuS ��� 4(

��� �3� ��"�����1 ���	������� ���6	���� ��������� �� ������ �1 �3� ���������
	�����1 "������ �"����� ��#��� ��H

u∗
S = sat(u∗, u−, u+) = u∗ + Δu∗

S ��� �(

&����' �1� 5�� �
��
����
 ����
��
 ��� ��� 
�������� ��
	������� 
���	����
��������� ��	��

���
 
�
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�����
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χ̇1 = −Ko,1χ1 − Ko,1(a1uS + Ko,1y1)
= −Ko,1χ1 − Ko,1(a1u + Ko,1y1) − Ko,1a1ΔuS

= −Ko,1χ1 − Ko,1

(
−(Kc,1 + Ko,1)y1 − χ1 − Kc,2

a1

a2
2
(a1y1 + a2(y2 − y∗

2))
)

− Ko,1
2y1 − Ko,1a1ΔuS

= −Kc,2Ko,1
a1

a2
y∗
2 +

(
Kc,2Ko,1

(
a1

a2

)2

+ Kc,1Ko,1

)
y1 + Kc,2Ko,1

a1

a2
y2

− Ko,1a1ΔuS

χ̇2 = −Ko,2χ2 − Ko,2(a2uS + Ko,2y2)
= −Ko,2χ2 − Ko,2(a2u + Ko,2y2) − Ko,2a2ΔuS

= −Ko,2χ2 + Ko,2
a2

a1
(Kc,1y1 + χ1 + Ko,1y1) + Kc,2Ko,2

1
a2

(a1y1 − a2(y2 − y∗
2))

− Ko,2y2 − Ko,2a2ΔuS
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= −Ko,2
a2

a1
χ1 − Ko,2χ2 − Kc,2Ko,2y

∗
2 + Ko,2

(
(Kc,1 + Ko,1)

a2

a1
+ Kc,2

a1

a2

)
y1

+ Ko,2(Kc,2 − Ko,2)y2 − Ko,2a2ΔuS

ẏ∗
2 = a2u

∗
S + χ2 + Ko,2y2 = a2(u∗ + Δu∗

S) + χ2 + Ko,2y2

= −a2

a1
((Kc,1 + Ko,1)y1 + χ1) + χ2 + Ko,2y2 + a2Δu∗

S

= −a2

a1
χ1 + χ2 − a2

a1
(Kc,1 + Ko,1)y1 + Ko,2y2 + a2Δu∗

S
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�������� �
 ��� ���������6

⎡
⎣ χ̇1

χ̇2

ẏ∗
2

⎤
⎦ =

⎡
⎣ 0 0 −Kc,2Ko,1

a1
a2

Ko,2
a1
a2

−Ko,2 −Kc,2Ko,2

−a1
a2

1 0

⎤
⎦
⎡
⎣ χ1

χ2

y∗
2

⎤
⎦

+

⎡
⎢⎣ Kc,2Ko,1

(
a1
a2

)2

+ Kc,1Ko,1 −Kc,2Ko,1
a1
a2

−Ko,1a1 0
(Kc,1 + Ko,1)a2

a1
+ Kc,2

a1
a2

Ko,2(Kc,2 + Ko,2) −Ko,2a2 0
−a2

a1
(Kc,1 + Ko,1) Ko,2 0 a2

⎤
⎥⎦
⎡
⎢⎢⎣

y1

y2

ΔuS

Δu∗
S

⎤
⎥⎥⎦

[
u∗

ũ

]
=

[
− 1

a1
0 0

0 0 Kc,2
a2

]⎡⎣ χ1

χ2

y∗
2

⎤
⎦+

[
−Kc,1+Ko,1

a1
0 0 0

−Kc,2
a1
a22 −Kc,2

a2
0 0

]⎡⎢⎢⎣
y1

y2

ΔuS

Δu∗
S

⎤
⎥⎥⎦
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�3� 	��"����� �3�2� �� 0�"���� ����! "�� ���� �� ���� �� ����� �� ������ � .,6��?�
�;	������� -�� �3� '�7 "��������� ���$ (� 0��"� ����	�������� ��� ������������1
�3� ���� �3�2� �� 0�"���� ����!� ���1 �3� #��� �;	�������� ��� 3��� ��	������

u = −
(

Kc,1 + Ko,1

a1
+ Kc,2

a1

a2
2

)
y1 − Ko,1

a1

(
Kc,1 + Kc,2

(
a1

a2

)2
)∫

y1 dt

− Kc,2

a2
e2 − Kc,2Ko,1

a2

∫
e2 dt

= − 1
a1

(
Kc,1 + Ko,1 + Kc,2

(
a1

a2

)2
)⎛⎜⎝y1 + Ko,1

Kc,1 + Kc,2

(
a1
a2

)2

Kc,1 + Ko,1 + Kc,2

(
a1
a2

)2

∫
y1 dt

⎞
⎟⎠

− Kc,2

a2

(
e2 + Ko,1

∫
e2 dt

)

= −KP,1

(
y1 +

1
τI,1

∫
y1 dt

)
− KP,2

(
e2 +

1
τI,2

∫
e2 dt

)
��� ��(

y∗
2 =

a2

a1
(Kc,1 + Ko,1)

∫
y1 dt
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−
(

Kc,1Ko,1
a2

a1
+ Kc,2(Ko,2 − Ko,1)

a1

a2

)∫ (∫
y1 dt

)
dt

+ Ko,2

∫
e2 dt + Kc,2(Ko,1 + Ko,2)

∫ (∫
e2 dt

)
dt

=
a2

a1
(Kc,1 + Ko,1)

⎛
⎜⎝∫ y1 dt +

Kc,1Ko,1 + Kc,2(Ko,2 − K0,1)
(

a1
a2

)2

Kc,1 + Ko,1

∫ (∫
y1 dt

)
dt

⎞
⎟⎠

+ Ko,2

(∫
e2 dt +

Kc,2(Ko,2 − Ko,1)
Ko,2

∫ (∫
e2 dt

)
dt

)

= K∗
I,1

(∫
y1 dt +

1
τ∗
II,1

∫ (∫
y1 dt

)
dt

)

+ K∗
I,2

(∫
e2 dt +

1
τ∗
II,2

∫ (∫
e2 dt

)
dt

)
��� ��(

��$�� �#	���
� �	 ��
�	� �
��
 ��
�

�� �� "��"��� "��������� "���� � ��"��� ����� �;	������� -�� �3� �1����"� �- �3�
	�����1 ���	������� "�� �� �������� 23�� � '�7 �� ����� 0�"3 �;	������� ��
���-�� -�� ����1
��� ��"���6����� ���	���� 	��������� �"3���"�������" -��+���"1
��� ���	��� -�"���( ��� "����"���� �3�� 2��3 �3� "���������� �����

=�"��� �3� �;	�������� -�� 	�����1 ��� ��"�����1 "�����6���	 �1����"� ����� ��
5+� ���$%(H

ẏ1 = −
(

Kc,1 + Kc,2

(
a1

a2

)2

y1

)
− Kc,2

a1

a2
e2 ��� !�(

ė2 = −Kc,2

(
a1

a2
y1 + e2

)
��� !�(

�������� 5+� ��� !�( 2��3 ���	�"� �� ����� �3� -����2��� ��"��� ����� �+������ ��
��������H

ÿ1 = −
(

Kc,1 + Kc,2

(
a1

a2

)2
)

ẏ1 − Kc,2
a1

a2
ė2 ��� �(

5+� ��� �( "�� �� ��2������ �� -����2�� �1 ����� �;	������� ��� !�(H

ÿ1 = −
(

Kc,1 + Kc,2

(
a1

a2

)2
)

ẏ1 − Kc,2
a1

a2

(
−Kc,2

(
a1

a2
y1 + e2

))

= −
(

Kc,1 + Kc,2

(
a1

a2

)2
)

ẏ1 +
(

Kc,2
a1

a2

)2

y1 + Kc,2
2 a1

a2
e2 ��� $(



 � '3�	��� �� '������ �������3�

�� �;	������� -�� e2 "�� �� �;���"��� -��� 5+� ��� !�(H

e2 = −

(
Kc,1 + Kc,2

(
a1
a2

)2
)

y1 + ẏ1

Kc,2
a1
a2

���  (

9� �3� ����� �- 5+� ��� !�(� 5+� ��� $( "�� �� ����	������ �� -����2�H

ÿ1 = −
(

Kc,1 + Kc,2

(
a1

a2

)2
)

ẏ1 +
(

Kc,2
a1

a2

)2

y1 + Kc,2
2 a1

a2
e2

= −
(

Kc,1 + Kc,2

(
a1

a2

)2
)

ẏ1 +
(

Kc,2
a1

a2

)2

y1

− Kc,2
2 a1

a2

(
Kc,1 + Kc,2

(
a1
a2

)2
)

y1 + ẏ1

Kc,2
a1
a2

= −
(

Kc,1 + Kc,2

(
a1

a2

)2
)

ẏ1 +
(

Kc,2
a1

a2

)2

y1 − Kc,2

(
Kc,1 + Kc,2

(
a1

a2

)2
)

y1

− Kc,2ẏ1

= −
(

Kc,1 + Kc,2 + Kc,2

(
a1

a2

)2
)

ẏ1 + Kc,1Kc,2y1 ��� %(

�""������ �� �3� �������� ��"��� ����� �+������

ÿ1 + 2ξωẏ1 + ω2y1 = 0 ��� &(

�3� "3���"�������" -��+���"1 ω ��� �3� ���	��� -�"��� ξ ���

ω =
√

Kc,1Kc,2, ξ =
Kc,1 + Kc,2 + Kc,2

(
a1
a2

)2

2
√

Kc,1Kc,2

��� �(

K��� �3�� ��8������1 -��� �3� "��"��� "���� �3� ���	��� -�"��� ξ ��	���� ��
�3� ����� ���2��� a1 ��� a2� ��� Kc,1 ��� Kc,2 "�� ��� �� �����"3����� �� ���
�;	��������

,- � ���� ��	������� -�"��� p ��� � ����������1 ����� 	�������� q ��� ��#��� ��"3
�3��

Kc,2 = pKc,1, a2 = qa1, p, q > 0

�3� -����2��� �;	�������� -�� �3� "3���"�������" -��+���"1 ��� �3� ���	��� -�"���
��� ��������

ω =
√

pKc,1, ξ =
1 + p + p

q2

2
√

p
���%4(
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7����� ���H ���	��� -�"��� ξ ������ ���� ��	������� -�"��� p ��� ���6
�������1 ����� q -�� '�7 ��"��� ����� �1����"�

������� �3�� �3� ���	��� -�"��� ���1 ��	���� �� �3� ���� ��	������� -�"��� p
��� �� �3� ����������1 ����� q�

7��� �� ����1��� �- �3� ���	��� -�"��� ξ �� � -��"���� �- p ��� q� �� -����2� �3��
�3� ��"���6����� ���	���� ��� &( �� ��2�1� �������	��� ����� �3�� �3� "��������
ξ ≥ 1 �� ��2�1� ����#��� �3� 	��� �� 7����� ��� �3�2� �3� ���	��� -�"��� ξ ������
�3� ���� ��	������� -�"��� p ��� ����������1 ����� q�

��$�$ !�	�	"

�3� '�7 "��������� "�� �� �����1 ����� �� �3� ����� �- �3� -����2��� ����� �����
�� '����������60�3��L� �� ��� ��44$(H

Kc,1 ≈ 162ω, Kc,2 ≈ 162Kc,1, Ko,1 = Ko,2 ≈ 5610Kc,1 ���%�(

�3� ����� ��� �3� ���� �- �3� "��"��� "���� ��� �3���-��� �3� �;	�������� "�� ��
-���� �� 0�"���� ����$�
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,� �3�� 0����"����� �3� ���� ��8����"�� ���2��� '�7 ��� "��"��� "���������� ��
,/' -��� ��� �3�2�� 0�"3 "���������� ��� ��"����� �� �3� -����2���H

������� �
���
����

u = u∗ + ũ ���%��(

u∗ = −Kc,1y1 + b1

a1
���%��(

ũ = −Kc,2

a2
e2 ���%�"(

ẏ∗
2 = a2u

∗ + Ko,2y2 + χ2 ���%��(

χ̇1 = −Ko,1χ1 − Ko,1(a1u + Ko,1y1) ���%��(

χ̇2 = −Ko,2χ2 − Ko,2(a2u + Ko,2y2) ���%�-(

�34 �
���
����5

u = u∗ + ũ ���%!�(

u∗ = −Kc,1y1 + b1

a1
���%!�(

ũ = −Kc,2

(
a1

a2
2
y1 +

1
a2

e2

)
���%!"(

ẏ∗
2 = a2u

∗ + Ko,2y2 + χ2 ���%!�(

χ̇1 = −Ko,1χ1 − Ko,1(a1u + Ko,1y1) ���%!�(

χ̇2 = −Ko,2χ2 − Ko,2(a2u + Ko,2y2) ���%!-(

�� �� "�� �� ���� -��� 5+� ���%�( ��� ���%!(� �3� ���� ��	������ ��8����"� �� ��
��"�����1 "������ �"����H �� "��"��� "��������� �3� "������ �"���� ���1 ��	���� ��
��"�����1 ���	������� ����� ���� 5+� ���%�"((� 23����� �� '�7 "��������� �3���
�� ���� � ��	�����"� �� �3� 	�����1 ���	������� ����� ���� 5+� ���%!"(( ���
�� ��"?���		���� �3�� ����� �3�� "��"��� ��"�����1 "��������� �"���� �"�� ��
	�����1 ���	������� ����� �� ����� 	������� 23����� �3�� ���������� �� �������
�� '�7 ��"�����1 "���������� 2��3 �3� ������ �3�� � ������ "��	������� ���2���
	�����1 ��� ��"�����1 "������ �"����� �� 	������ �� '�7 "���� 0�"3 ��8����"�
�3���� ���� �� � ������ "������ 	��-�����"� 2��3 ���	�"� �� �3� "��"��� "����������
�3�� 2��� �� �������� �� ��;� ��"����� 23��� "��������� 	��-�����"� 2��� �� �������

��" ������� 

�����

,� �3�� 0�"����� �3� ��������6����� �������3�� ���� �� �3�� �3���� -�� ���	���6
���� "������ 3��� ���� ������������ 0�"3 �������3�� ��� ����� �� 	�������1 "��6
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"�	�� ��� ��������� "������"���� �3���1� ��� ��� �3� -����2���H ��( � "�����������
"���������) ���( � 	������� "��"��� "���������) ����( � '�7 "��������� �"��"���6�1	�
	������� "��������� ����� �� '������ �1�	���� 7��"�����(�

�3� "����������� "��������� �� �+�������� �� � "�����"�� ., 2��3 ����62����	 �"�����
9� �3� ��3�� 3���� "��"��� ��� '�7 "��������� ��� "��"���6�1	� "���������� �3��
��� ���� ����2�� 2��3 ����62����	 �"����� ��� ��� ��� �+�������� �� "�����"��
"��"���6�1	� ., �"3�����

�3� ������ 	��"����� -�� �3�� -����1 �- �������3�� �� ���	��� ��� ���� ���������
"��	���� �� ��3�� 2���6?��2� �������3���
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,� �3�� '3�	���� �3� "������ ����"����� 	������ �� ���������� �3� ����"���� �- �3�
"������ ����"���� "������� �� �3� "3��"� �- ��( ���	������� ������ ��"������� ���(
����	������ ��	���� ��� ����( �3��� 	������ �-�� ����6��� "����������(� �""������ ��
�3� "������ ��>�"���� �� �� �"3������ ,� ����� �� �� 	��� �- �3��� � ��2 "��������
�� ���	���H �3� ���	������� �������� 2��3 	��6"��	����� "����������� �������
�� "��>��"���� 2��3 � �1�������" 	��"������ 0�"3 ���3�� 3�� �3� ��������� �-
����� ���1 �� ���������� ��� �� �		�1� ��� �- ������� �����16����� ��-��������
���1� 7�����1� �3� "�������� ����"����� ��� ����"��� -�� ��"3 "������ �������3��
��� ��� �3�� �������� �3����3 �1����" ������������

��� �	����
����	

�� ����������� �� 0�"���� !��� �3� "������ ��>�"����� �'9( �- �3� 	������ �3���� ���
�3� -��#������� �- �3� ��	������� ���2��� '! ��� �'� �""������ �� �3� -����2���
"���������H

�
���
� /�0���	�� 
 -�/
.� �3�� ��>�"���� �� �3� ���������� �- �'� �� �3�
���������� �3���16?�1 ��	����1( ������ �3� ������� ����� �0.02( 2��3�� � "������
����� �0.005(� ��� 3�� �� �� �"3����� �� �3� ������� "��������� 00� �����		���
��"���� 2��?��� �� 3��36	����1 "���������( ������ �� ����� !���

ciC4
D ∈ c̄iC4

D ± Δc = 0.02 ± 0.005 �$��(

�
���
� /�0���	�� � -�/�.� ������� �� 00� ���� ����� !��(

ciC4
D ∈ c̄iC4

D ± Δc = 0.02 ± 0.005 �$���(

cC3
B ∈ c̄C3

B ± Δc = 0.02 ± 0.005 �$���(
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=�+��������� �$��( ��� �$��( ���� �� �����#�� �3����3 � ������6��� ���	���6
���� "��������� ��� � ����6��� ���	������� "���������� ���	�"�����1� N3����� ��
	������� '3�	��� �3� "������ �������3� 	������ 3�� ���� ����������� ��� �3� ��6
����	���� �- �3� �������3�� 3�� ���� �3�2�� �� �3�� '3�	��� �3� ��������� 	���
�- �3� ������ "������ 	������ �� 	��������� �� �3�� 	����� �3� -����2��� "������
����� ����� 3��� �� �� ���"�����H

• 23�"3 ���	�������� 3��� �� �� "��������� �� ����� �� ������ �3� �������
"��	������� �8����U

• 23�"3 ���	�������� 3��� �� �� "3���� �� ��"�����1 ���� -�� �"3������ �3�
���������"� ��>�"���� ���?U ����1 -�� "��"���6�1	� "����������(

• 23�"3 ����	������ �������� �� ������ �� ���U

• 3�2 �� 	��� ����	������ ��	��� 2��3 "��������� ���	��������U ����1 -��
����6��� "������(

�3� 	��"����� 	����� "��������� �3� ������� 
�������� 	������� � -����������
	��"� �- �3� 23��� "������ ������ 23�"3 ���� �� ������ �� "��>��"���� 2��3 �3�
"������ �������3� 	���� ,� �3�� �3����� �3� 	������ �� #����1 ������ �� "��>��"6
���� 2��3 ����1 ������ "������ �������3�H �� #���� ������� "�������� ����"�����
��� -���� �� �3� ����� �- � ����"����� ����1���) �3��� ��"3 ����"����� ��� ��������
2��3 ���	�"� �� �3� ����� "������ ��>�"����� .��� �- �3� "������ ����"����� �3��
��� �3� ��"����� �- ���	������� ������������� �� ����"��� �3����3 �3� ���	���6
���� �������� 2��3 	��6"��	����� "����������� �������� �� "��>��"���� 2��3 �
�1�������" 	��"������

,� 23�� -����2�� �3� ����"����� ����1��� �� �3�����3�1 ��	�"��� -�� �3� '9�� 23���
� ������ "��������� ����3�� "������������ "��"��� �� '�76�����( �� ���� -�� 	��6
-������ �3� ���������� ��	�������� 9� �3� ��3�� 3���� �3� ���� ����1��� ��
���� 2��3 ���� ������� -�� �3� '9�� ���"� �� �3�� "��� �3� 	������ "�� �� �	���
���� � ��"����62��� -��3���� ����� �3�� � ������ "��������� �� ���� -�� ��"3 ��8�����
��"����� �3�� ����� �3�� �3� ����"����� ����1��� -�� �3� '9� "�� �� ������� ����
�2� 	����� ���"� ��"3 �- �3�� "�� �� "��������� �� � ������ "������ ����"���� �����
��� �3���-��� �� ������ �� �� '9� "����

��� ��	���� 
��
��
��  �� ��	��	���	�� ��	�������

,� �3�� 0�"����� �3� "������ ����"���� 	������ �� ������ �� "��>��"���� 2��3 �3�
"����������� "������ �������3�� 23��� ��� "������ ��	�� ��� ��� "������ ���	��
���� �� -����� �3� ���? �� �� "������ ��� �� �3���-��� �3� ����"���� �- ��� ��
�2� �		��	����� ��	��6���	�� 	���� ������ ��� �� ���� (ul, Tk) 	����� �""������ ��
�������� �� 0�"���� ��!(� �� ����� �� ������ �3� ���� "��������� ��3����� �� �3�
����� �- �3� "������ ��>�"���� �� �� ���"3��� '����������� "��������� �"3���� ���
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,� �3�� 0����"����� �3� ��	��6���	�� 	��� (ul, Tk) �� -���� �� ����� �� �"3����
��>�"���� '9�� �3�� ��� �3� ���������� �- ���������� �'� ������ �3� ������� �����
���� 5+� �$��((� 9��1 ��� 	��� 3�� �� �� -���� ���"� � ������6��� "��������� ��
����� ����� �3�� ���1 ��� ��	����1 �@���� "��	�������� �3� �'� �� �3� �����������
3�� �� �� ����������
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���	
�

� -���������� 	��� �- �3� "������ ����"���� �� �3�� �3� ����"3 �- �3� ���� ���	��6
����� ���1 23��� �3� "��������� 3�� �� �� 	��"��� �� ����� �� ������ �3� �������
"��	������� �8��� -�� �3� ��	����1 �� �� ���������� �����3�� 2��3 � �����-1���
���������"� ��>�"�����

�3� �		��	����� ���	������� �� �� ��������� �� 3��� "3���� �� �3� ����� �- �3�
���	������� �������� 2��3 	��6"��	����� "����������� �������� 23�"3 3�� ����
�������"�� �� 0�"���� !�%� 0�"3 "�������� "������� �� � 	��� 23��� �3� ���	�������
�������� 	��#�� �� �3� ������� 00 �	������� "��������� �� �3�2�� �����3�� 2��3
�3� 	��6"��	����� "������������� �3���-���� �� ����� �� #�� �3� "�������� "��6
���� ����"����� -�� '9� "���� �3� �������� ������� -�� 00� "��������� ���"����� ��
����� $��( ��	����� ����� �� 7����� $�� -�� ��?�� �- "�����1� 3�� �� �� ����1
���

F̄ c̄C2
F c̄C3

F c̄iC4
F c̄nC4

F c̄iC5
F T̄F

88.2 �3 3−1 0.0036 0.281 0.236 0.4746 0.0004 320 <

Q̄ R̄
3876645 ?"�� 3−1 61.62 �3 3−1

����� $��H 9	������� "��������� -�� 00 �

0�"3 "������� -�� �3� ����"���� �- ���	������� ������ ��"������ -�� "������ 	��	����
�� ����� �� �3� ���	�������6���	� ��� ������� ���16��6���1 ���	������� ��������(
���3�� �=�����?�� �� ���� ��%$(� 23��� "������ ������ �� 	��"�� �� �3� ����� 2��3
�3� ������� ��������� ,� =�����?�� �� ��� ���%$( �� ���� ������� -�� � �����"��6
	����� "������ �3�� ������� �3���� �� ��"���� 23��� ���6?�1 "��	�������� ���
������ "�������) �""������ �� ��"3 "������������� ��1��� ��44 ( ��� D��� ���
0?������� ��44%( ������� �3�� ��"������ "���� �� ��	� ������ ��� -��� ������ ��
��������

,� �������� �� �3� ���16��6���1 ���	������� �������� 	���� �3� ���	������� ���6
����� 2��3 	��6"��	����� "����������� ������� ���� "������� �- ���2��� � 	��6
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7����� $��H 0����16����� ���	������� ��������� 2��3 	��6"��	�����
"������������ -�� "��� 00�

"��	����� "����������� �������� 	��#�� 23�"3 ����2�� �� "��>��"���� 2��3 �3�
���	������� �������� 	��#��� �3� ����"���� �- ��"������ 23��� ��������� ��� �����
��� ���6?�1 "������������ ��� ����������� �3� "������� -�� ����"���� ���	�������
������ ��"������ "�� �� �3���-��� ������������ �� �3� ����� �- �3� "������� �- �3�
�������H

• ���	������� ������� 3��� �� �� 	��"�� �""������ �� �3� "������ ��>�"�����
�3�� ��� �� �3� "����� ������ ����"����� �� ��)

• �� ���� 2��3 ����� ���	������� ���������� ��	���� �3�� "��	�������� ���
"3������� ������� �3�� �3� ���� ��������� ������ ��� �3���) 3�2����� �3�
�������� �� �� �3� ��	������� ���2��� ?�1 "��	������ �'! ��� �'�(� ���
�3���-��� �� �� ��������� �3�� ���	������� �� ��������� �� � ����� �� 23�"3
�3� �������� �� �����1 ��� �� �3��� "��	������

9� �3� ����� �- �3� 	��"����� "������������� �� �3� ���3� �- 7����� $��� �3� -��6
��2��� ����"����� ����1��� "�� �� ����H

• ����� �3� "������ ��>�"���� �3� ���������� �- �3� �'� �� �3� ����������� �� ��
"���� �3�� �3� ��"���� �- �������� �� �3� ����"3��� ���� ��� �3�� � ���	�������
3�� �� �� ��������� �� �3�� ��"����)



$��� '������ ����"���� -�� "����������� "��������� %�

• ������� ���	������� ��������� "�� �� -���� ������ 266�3 ��� 336�3 ������
��� �3� 336�3 ����� ����� �� �� �3� ���� "3��"� ���"� �3� �������� �� �3��
��"���� �� ������ "��	�����1 ��� �� '! ��� �'��

7��� �3� ����1��� ���� �""������ �� �3� ���	������� �������� 2��3 	��6"��	�����
"������������ "�������� �� ������� �3�� 336�3 ����� �3���� �� �3� ���� "��������
����� -�� �3� ��"����� �- �3� ���	������� ������� D�2����� ��3�� ������ ��"������
2��� ���� �� ������� ���� �� �3� ����		��� ��"����� �� ����� �� ���� � "��	����
���������� �- 	��	���� ���3������1 -�� ������ ��"������

*��	(������ ���	���� ������	
�

����3�� ��	������ ���	 �� �3� ������ �- �3� "������ ����"���� �� �3� "3��"� �- �3�
����	������ �������� �� �� ���� -�� ���������� �3� ����"��� "������ ���	��������

,� �3�� �3����� �� 3�� ���� ������� �3�� 	�������� ��� �������� ��� "��������
������ ��� ���3� "���������� ������� �2� ��	��� -�� �3� ��� �� ����	������ ���������
-�� "���������� ���	�������� �- ��������� �3��� �2� ��	��� ��� �1	�"���1 ��A�; A�2
���� ��� �������� 3���� ���� �- ��3�� ����"����� ��� 	������� ����������� ��� ������
A�2�(�

� 	������� "������� -�� �3� ����"���� �- ����	������ �������� �� �3� *��
�������
��������� �=�����?�� �� ���� ��%$(� �3� "������� 2�� ���������1 �3���3� -�� �3�
>���� ����"���� �- ���	�������� �� �� "��������� ��� ����	������ ���������� ��� ��
3��� ���� ���1 -�� �3� ������ "3��"�� �""������ �� �3�� �������� 	��"������ � ���1
����� "3���� �≈ 0.1%( �� ���� -�� ��"3 �- �3� �2� ����	������ ��������� �2��3
�3� ��3�� ��� ?�	� "�������( �� ���3 ����"������ �3��� �3� ��	�� 23�"3 "����� �3�
������� ��� ���� ��������"�� ���	������� ���������� �� �3� ������ 23��� �������
2��� �� ��"���� �� "3�����

0�"3 "������� �� �3�2� �� 7����� $�� -�� '9� "���� ,� "�� �� ���� �3�� ���	���6
���� ���������� ��� �� ���3 �������� 3��� Q ��� ��A�; ���� R ��� �����3 �����
�> 1<( ��� �1������"�� -�� �3� ������ �- �������� ����2��� 266�3 ��� 336�3 �����(�
D�2����� �3� ��������� ��� �� Q �� ����3��1 ������� ��� �3���-��� Q �� "3���� ��
����	������ ��������� ���� �- �3� ��	��1���� �- R 2���� ���� �� 	��������
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�3� "�������� ����"����� 2��� �� ������ �� �3� -����2���� �""������ �� �2� ��8�����
�"������� �0'(� ,� ���3 "����� � ���	6	���6���������� "3���� �� ����"��� ��� �3�
�2� �"������� ��8�� ���2��� ��"3 ��3�� -�� �3� ����"���� ��� -�� �3� ���������
�- �3� "3����� �� ����� �� ���� �3� "����� �� ��8����� "���������� � "��� 2��3
"��������� ���������� �� ���� 	��������� �� ����� �� ���� �3� �8�"�������� �- �3�
����62����	 �"�����
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7����� $��H 0���������1 "�������� -�� �3� ����"���� �- �3� ����	������
��������H ������ "����� ���	( ��� ����"3��� ��"���� �������(�

�� #���� �3� ������ 	��"����� ���� -�� ���3 �"������� �� ���"�����) �3��� �3� �2�
�"������� ��� ��	������1 ����1
���

)��	��

'����������� "��������� ������ -�� '9� "��� 3�� ���� ���� �� ����������� ��
5+� �����(� �������� "3���"�������" -��+���"1 ω 3�� ���� "��	���� �� �3� �����
�- � �������� ����� ������#"����� 	��"����� 23��� �	��6���	 "����� ���	�����
�� ���3 �������� ��� 	������� ���	 "3����� �±0.1%( �� ���3 �������� 3��� Q ���
��A�; ���� R ��� ����1
��� 0�"3 ���	����� ��� ����������� �� 7����� $�! -�� �
����� �- �������� 23��� ������ ��"����� �� ��������� �316�� �����(� ��� �3�2 �3�� �
����3 �������� �- �3� ���� ������ �1 �3� �1���� ���	 ���	���� �� ���"3 �3� 98%
�- ��� #��� ����� �� t98% ≈ 43� ��� �3���-���

ω =
4

t98%
≈ 13−1

�3���-���� �3� -����2��� ������ 	��������� ��� "3����H

Kc = 2ω = 23−1, Ko = 10Kc = 203−1



$��� '������ ����"���� -�� "����������� "��������� %!

0 1 2 3 4 5 6

330

330.5

331

331.5

332

332.5

333

t [h]

T 3
1(

t)
[K

]

 

 

+0.1% in Q
−0.1% in Q
+0.1% in R
−0.1% in R

7����� $�!H 9	��6���	 �1���� ���	����� �� ±0.1% "3����� �� ����	�6
����� ����������

&����' �1
 ���� �� �� ���
 ���4 ��� �����	 ����
��
 ���� ���� ����������
�� �
 ����� ��������� ���� ��� �
��
���� ���7����� Ko 
����� ��� ������ 1

3 ��
��� �����	 ����������
��� ���7����� ωH � *���� � ��	���� ����� ��� ��� ������ �

ωH ≈ 100ω ≈ 100�−1� ��� 	������
 ��7����
��� �
 
���
/���

+�����	
 
 -+�
.

,� 0"������ � �0'�(� � ��������� �� �3� "����� �� "����� �1 � ���	6	���6����������
"3���� �� �3� -���

(BD + AD sin(2πωDt))H(t − 1)

23��� H(t − 1) �� �� D������� ���	 �		���� �� t = 13 ����"� ���������"�� �����
�3� "����� �-��� � 3���(� ωD �� �3� ���������"� -��+���"1� BD ��� AD ���
�3� ���������� �- �3� ���	 ��� �3� ���������� ���������"� ���	�"�����1� �3�
	�������� ������ ��� ��	����� �� ����� $��� ��� �3� ���������"� "3����� ���
����������� �� 7����� $��

7��� ��2 ��� �3� ��������
σC[j,i]

2��� �� ���� -�� �������� � ������6��� "������ ����"����� ������� �3�� �3� ��6
��	������ �������� j �� ���� -�� "���������� �3� ���	������� �� i6�3 ������ ,- �3�



%� '3�	��� $� '������ ����"����

03< t < 13 BD AD ωD

F 88.2�3 3−1 6.8�3 3−1 10�3 3−1 3 3−1

cC2
F 0.0036 −0.0016 0 3 3−1

cC3
F 0.281 −0.011 0.02 3 3−1

ciC4
F 0.236 −0.00128 0.02 3 3−1

cnC4
F 0.4746 0.0254 −0.04 3 3−1

ciC5
F 0.004 0 0 3 3−1

cnC5
F 0.0008 0 0 3 3−1

TF 320 < −3 < 10 < 3 3−1

����� $��H ���������"� 	��������� -�� �"������ � �0'�(

��������
σC[j,i]k

�� ������� ����� �3�� ����� �3�� �� ��������� �3� +������1 k �� ?�	� #;���

�� #���� � "��	������ ���2��� ! ����"����� 23��� �3� ���	������� �� "��������� ��
��8����� "����� �������� �� ����� ,� 7����� $�$ �3� �1����" ��3����� �- ����������
�'� �� "��	���� -�� �3� "������ ����"����� σC[Q,17] ����	������� "��������� �� �
����		��� ��"���� �����(� σC[Q,23] ����	������� "��������� �� �� ����"3��� ��"����
����� 2��3 ����� ��������(� σC[Q,31] ����	������� "��������� �� �� ����"3��� ��"6
���� ����� 2��3 ����� ��������(� ��� σC[Q,37] ����	������� "��������� �� �3� ����
����� �- �3� ��	����1 �� �� ���������(� ,� "�� �� ����� �3�� ���3 �����16�����
��� �1����" ���	����� ��� ������ 23�� �3� ���	������� �� "��������� �� � �����
2��3 � ����� ���	������� ��������� ���"� �3�� ��	���� � ������ ����������1� ��-6
-������1 -��� �3� �����1 "��� �'����������60�3��L� �� ���� �44$(� �3� ��"����� �-
�3� ���	������� ������ �� �3� ���� ����� �376�3( �- �3� ��	����1 �� �� ���������
���� ��� ������ �3� ���� ������� �� ����� �- �8���6���� ����������� ��� ���3�� �����
�� �3� 2���� ����) �3�� "�� �� ����� ���� -��� �3� �����"� �- � "������ �"�����
23�"3 ����� -��� �3� ����� ����������1�

�3��� � ���� 23��� ���	�������� ��� "��������� �� � ������ �- �3� ����"3��� ��"����
2��3 ����� ��������� 3�� ���� ����� ,� 7����� $� � �3� "������ ����"����� σC[Q,27]�
σC[Q,31] ��� σC[Q,33] ��� "��	����� �3�2��� �3�� �� 	����"���� ��8����"�� ���
	������ �� �3� �1����" ��3������ �- �'� ����������� �3� ����"���� σC[Q,27] �����
�� ��3��� ����3��1 2����� ��1�� ��"���� �- � ������ ��A���"� �- �'� ����6?�1
"��	�����( "��	���� �� �3� ��3�� ����"������

7�����1� �3� ���� "��	������ �� ���� -�� ��8����� ����	������ ��������� 23��
"���������� ���	������� �� 336�3 ������ �3� ����1
�� "���� ���H ��( ���	�������
"��������� �1 Q� 2��3 R #;�� �σC[Q,33]() ���( ���	������� "��������� �1 R� 2��3 Q

#;�� �σC[R,33]() ����( ���	������� "��������� �3����3 Q� 2��3 R
F #;�� �σC[Q,33] R

F
(�

,� 7����� $�%� �3� "������ ����"����� σC[Q,33]� σC[R,33] ��� σC[Q,33] R
F

��� "��6
	����� �3�2��� ������ �3� ���� ������� ��� �������� 23�� ����� ���3�� Q �� R
�� ����	������ �������� �2��3 �3� ��3�� ��� ?�	� #;��(� 9� �3� ��3�� 3����
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7����� $��H ���������"� "3����� -�� 0"������ � �0'�(

	��-�����"� ���� 2���� 23�� ����	������� Q ��� #;��� R
F �

+�����	
 � -+��.

,� 0"������ � �0'�(� � ��������� �� �3� "����� �� "����� �1 � �������� ��� �	6
	����� ���	6	���6���������� "3����� "��	���� �� �3� ��� �- 0'�� �3� 	��������
������ ��� ��	����� �� ����� $�!� ��� �3� ���������"� "3����� ��� ����������� ��
7����� $�&�

03< t < 13 BD AD ωD

F 88.2 �3 3−1 −22.2 �3 3−1 10 �3 3−1 3 3−1

cC2
F 0.0036 − 0.0016 0 3 3−1

cC3
F 0.281 0.043 0.02 3 3−1

ciC4
F 0.236 0.021 0.02 3 3−1

cnC4
F 0.4746 − 0.0704 −0.04 3 3−1

ciC5
F 0.004 0 0 3 3−1

cnC5
F 0.0008 0 0 3 3−1

TF 320 < 10 < 10 < 3 3−1

����� $�!H ���������"� 	��������� -�� �"������ � 0'�

��?� -�� 0'�� � "��	������ ���2��� � -����2��� ����"����� 2��3 ������� �� ��8�����
"����� ������� ��� Q �� ����	������ �������� �σC[Q,17]� σC[Q,23]� σC[Q,31] ���
σC[Q,37]( �� ����� =������ ��� ����������� �� 7����� $��� ��� "�����1 �3�2 �3��



% '3�	��� $� '������ ����"����
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ciC

4
D

(t)

 

 

Range
σC[Q,17]
σC[Q,23]
σC[Q,31]
σC[Q,37]

0 1 2 3 4 5 6
0.98

1

1.02

1.04

1.06

1.08

t [h]

Q Q̄
(t)

7����� $�$H '9�� 0'�� "��	������ ���2��� �3� "������ ����"�����
σC[Q,17]� σC[Q,23]� σC[Q,31] ��� σC[Q,37]H ���������� �'� ���	(� ��� ��6
������ 3��� ���1 �1����"� �������(

0.005

0.01

0.015

0.02

0.025

ciC
4

D
(t)

 

 

Range
σC[Q,27]
σC[Q,31]
σC[Q,33]

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5 5.5 6
0.98

1

1.02

1.04

1.06

1.08

t [h]

Q Q̄
(t)

7����� $� H '9�� 0'�� "��	������ ���2��� �3� "������ ����"�����
σC[Q,27]� σC[Q,31] ��� σC[Q,33]H ���������� �'� ���	(� ��� �������� 3���
���1 �1����"� �������(
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0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5 5.5 6

0.005

0.01

0.015
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0.025

t [h]

ciC
4

D
(t
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Range
σC[Q,33] R

F

σC[R,33]
σC[Q,33]

7����� $�%H '9�� 0'�H "��	������ ���2��� �3� "������ ����"�����
σC[Q,33] R

F
� σC[R,33] ��� σC[Q,33]

σC[Q,31] �� �1 -�� �3� ���� "3��"��

�3� "��	������ ���2��� "������ ����"����� 2��3 ������� 	��"�� �� �3� ������ 2��3
�3� ������� ��������� �σC[Q,27]� σC[Q,31] ��� σC[Q,33]( �� ����������� �� 7����� $��4�
�3�2��� �3�� �3� ���� ��"����� -�� �3� ���	������� ������ �� �3� 336�� ������ ��
�� 0'� "����

7�����1� ��8����� ����"����� �- ����	������ ��	��� -�� �3� ���� ������ ��"������
3��� ���� ������ �σC[Q,33] R

F
� σC[R,33] ��� σC[Q,33](� '��	������ �� �3�2� ��

7����� $���� ������"��� �3�� �3� ����	������ �������� R �� ����3��1 ������ �3�� Q
-�� �3� �1����" ��3������ 23��� 	��-�����"� 2������ �- R

F �� ?�	� "�������� 2��3
Q ����	�������

+������	
�

,� ����� �� ������ �3� �8�"�������� �- �3� ����62����	 �"����� �3� "����� 2��3
"������ ����"���� σC[Q,33] �� ���>�"��� �� � ���� �� �� 0'�� ��� �� ��������� -���
"��������� ��� �����3� ��"? �� �3� ������� ������ �� t = 63� �3��� �� ����� ��
-��"� �3� ����������� �� �� ������� �3�� �3� ����	������ ��	�� Q ��� ���2��� 0.9Q̄
��� 1.1Q̄H �� "�� �� ���� -��� 7����� $��4� �3� "�������� Q < 0.9Q̄ �� ����#��
�-��� �3� "3���� �� t = 13� ��� �3���-��� �3� ���������� "�������� �� ����
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7����� $�&H ���������"� "3����� -�� 0"������ � �0'�(

�3� ������� ��� �� 7����� $���� ��� �3�2 �3�� �3� "������ �"���� Q +��"?�1 ������
�3� ���������� "�������� �-��� �3� "3���� �� t = 63� �� "�� ���� �� ���� -��� �3�
���� "��������� 	��-�����"� �-��� �3�� �����

/������ �
��	�����	
��

N3�� "���������� �3� �"3�������� �- "������ ��>�"���� '9� ������ ���������� �-
�'� ������ �3� 	���"����� ������ ��� 5+� �$��(( 2��3 � "����������� "����������
���3 �"������� �3�2 �3�� �3� ���� ������ ��"����� �� �3� 336�� ������ �""������
�� �3� ����"����� ����1���� �3�� �3���� �� ��� �� �3� -�"� �3�� �3� "������������
�� �3� ���	������� �������� �� 336�� ����� ��� �����1 ����� �1 ?�1 "��	������
'! ��� �'�� 0�"3 ������� "��#�� �3� "������������� �� ��1��� ��44 ( ��� D���
��� 0?������� ��44%(� 23�"3 ������ �3�� ���	������� ������� ��� �� ��"����
"���� �� ������� ��	� ��� -��� ������ 9� �3� ��3�� 3���� �� "�� �� ���� �3��
�3� "3��"� �- �3� ����	������ �������� �Q �� R( ���� ��� �����#"����1 ��A���"�
"��������� 	��-�����"�� 7�����1� �3� �8�"�������� �- �3� ����62����	 �"���� 3��
���� ��""���-���1 ����#���

$���� ��
�
��
�� �	��#��� ��
 
�	��	���	�� 
�	�
����
 � %*�

,� �3�� 0����"����� ��� ��- ������6��� "���������� ��� ����( �� �2� ��- ����6���
"���������� ��� ����( ��	��6���	�� 	���� (ul, Tk) 3��� �� �� -���� �� ����� ��
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Range
σC[Q,17]
σC[Q,23]
σC[Q,31]
σC[Q,37]

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5 5.5 6
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t [h]

Q Q̄
(t)

7����� $��H '9�� 0'�� "��	������ ���2��� �3� "������ ����"�����
σC[Q,17]� σC[Q,23]� σC[Q,31] ��� σC[Q,37]H ���������� �'� ���	(� ��� ��6
������ 3��� ���1 �1����"� �������(
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t [h]

Q Q̄
(t)

7����� $��4H '9�� 0'�� "��	������ ���2��� �3� "������ ����"�����
σC[Q,27]� σC[Q,31] ��� σC[Q,33]H ���������� �'� ���	(� ��� �������� 3���
���1 �1����"� �������(
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Range
σC[Q,33] R

F

σC[R,33]
σC[Q,33]

7����� $���H '9�� 0'�H "��	������ ���2��� �3� "������ ����"�����
σC[Q,33] R

F
� σC[R,33] ��� σC[Q,33]
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D
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Range
σC[Q,33]

σC[Q,33] with saturation
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t [h]

Q Q̄
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7����� $���H .��-�����"� �- �3� "����������� "��������� 2��3 ����"����
σC[Q,33] 23�� ���������� �� 	������H "��	������� ���	( ��� ����	������
�������� �1����"� �������(�
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7����� $��!H 0����16����� ���	������� �������� 2��3 	��6"��	�����
"����������� ������� -�� "��� 00�

�"3���� ��>�"���� '9�� �3�� ��� �3� >���� ���������� �- ������ '! ��� ����������
�'� �� �3��� ������� ������ ���� 5+� �$��((�

)��(������� ����
� �
���	
�

�3� "������� -�� ����"���� ���	������� ������ ��"������ �� '9� �� ������� �� �3�
��� ��	�"��� -�� �3� '9� "���� �;"�	� �3�� �3� 	��"����� ���� �� 	��-����� -��
��"3 ��"���� �- � ����6��� "��������� �� �����

'9� �� ������� �� 00� "��������� ���"����� �� ����� $��(� ��� �3� ������� ���6
	������� �������� 2��3 	��6"��	����� "����������� ������� �� ��	����� ����� ��
7����� $��!

F̄ c̄C2
F c̄C3

F c̄iC4
F c̄nC4

F c̄iC5
F T̄F

88.2 �3 3−1 0.0036 0.281 0.236 0.4746 0.0004 320 <

Q̄ R̄
2665688 ?"�� 3−1 34.99 �3 3−1

����� $��H 9	������� "��������� -�� 00 �

9� �3� ����� �- �3� ����1��� �- 7����� $��!� �3� -����2��� "������������� "�� ��



&� '3�	��� $� '������ ����"����

����H

• �3� ��"���� �- �������� -�� �3� ���������� �- �3� �'� �� �3� ���������� �� �3�
����"3��� ���� 23��� �3� ����		��� ��"���� �� ������� �� �3� ���������� �- �3�
'! �� �3� ������)

• �� �3� ����"3��� ��"���� �3� ������� ��������� ��� ���2��� 266�3 ��� 336��
������ ��� ����� 33 �3���� �� 	��-����� ��"���� ��� �������� �� �����1 ���
�� ?�1 "��	������)

• �� �3� ����		��� ��"���� �3� ������� ��������� ��� ���2��� 16�� ��� 86�3 ������
��� �3� ������ 2��3 �3� �������� ��A���"� �- ��� ?�1 "��	������ ��� �3�
56�3 ��� �3� 66�3�

*��	(������ 	�(��� ��� (�	�	��

N3�� � ����6��� "��������� �� ����� �3� ���� �	���� �� �3� 	������ �- ��"3 ����	6
������ �������� 2��3 � ���	������� �� �3� "�����	������ ��"����� ������� �3��
� ���	������� �� �3� ����"3��� ��"���� �3���� �� "��������� �3����3 �3� ��A�;
���� R� 23��� � ���	������� �� �3� ����		��� ��"���� �3���� �� "��������� �3����3
�3� �������� 3��� Q� 9�3��2���� �- � ������6��� "��������� �� ����� �3� ����	������
�������� �� �� ���� 3�� �� �� "3���� �� �3� ����� �- �3� ������� ���	������� 	��#��
�-��� ����� ���	 "3����� �±1% �� �3�� �	�"�#" "���( �� ����	������ ���������� ��
-�� '9� "���� 0�"3 ���� �� �3�2� �� 7����� $���� ��� �3�2� �3�� -�� ������6���
"������ �3� ����	������ �������� Q �3���� �� ���� ���"� �3� ������� ���	�������
���������� �� �3� "����� ��� �������

$���� ��
�
��
�� 
������ ��
 
�	��	���	�� 
�	�
����
 � %*�

'�������� ����"����� -���� -�� '9� ��>�"���� ��� ��2 ������� �""������ �� 0"�6
������ � ��� �� 7�����1� ������ 	��"����� �� ������������ ��� �3�� �3� �2� �"�������
��� ��	������1 ����1
���

)��	��

�� -�� '9� "���� �3� ������ 	��"����� ������ 2��3 �3� �������� �- �3� "3���"6
�������" -��+���"1� 7�� '9� "���� ��"3 	��"����� 3�� �� �� "������ ��� -�� ��"3
��"����� ���"� ���	������� ������� "�� �� 	��"�� �� �3� ����		��� ��"�����

D���� �3� ������ 3�� ���� ���� �� �3� ����� �- �3� �	��6���	 �1����" ���	�����
�- �3� "����� �� ���3 �������� ��� 	������� ���	 "3����� �±1%( �� ���3 ��������
3��� Q ��� ��A�; ���� R� �3� ���	����� ��� ����������� �� 7����� $��$� ��� �3�2
�3�� � ����3 �������� �- �3� ���� ������ �1 �3� �1���� ���	 ���	���� �� ���"3
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7����� $���H '9�H ����������1 "�������� -�� �3� ����"���� �- �3� ����	�6
����� ��������H ����		��� ���	( ��� ����"3��� ��"���� �������(�

�3� 98% �- ��� #��� ����� �� t98%,S ≈ 23 -�� �3� ����		��� ��"����� ��� t98%,E ≈ 43
-�� �3� ����"3��� ���� ������� �3��

ωS =
4

t98%,S
≈ 23−1, ωE =

4
t98%,E

≈ 13−1

�3���-���� �3� -����2��� ������ 	��������� ��� "3����H

KE
c = 2ωE = 23−1, KE

o = 10KE
c = 203−1

KS
c = 2ωS = 43−1, KS

o = 5KS
c = 203−1

K��� �3�� �������� -��+���"1 �� �3� ����		��� ��"���� KE
o 3�� ��� ���� ��"������

���� �3�� KS
o �� ����� ��� �� �;"��� �3� �3���3��� ��� �� 3����	 �1����"�� ��

�;	������ �� =����? $���

�3� "�������� ����"����� -�� '9� 2��� �� ������ �� �3� -����2���� �""������ ��
�3� �"������� 0'� ������ $��( ��� 0'� ������ $�!( 	��������1 ������������

7��� ��2 ��� �3� ��������
σC[j1,i1][j2,i2]

2��� �� ���� -�� ����6��� "���������� ������� �3�� �3� ����	������ �������� j1
�� ���� -�� "���������� �3� i16�3 ���	������� ��� �3� ����	������ �������� j2 ��
���� -�� "���������� �3� i26�3 ���	��������
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�""������ �� 0'�� � ���	6	���6���������� "3���� �� ����� 2��3 ���� ����� ��
����� $��� �� #���� ���1 ������6��� ����"����� ��� "��	����� 2��3 �3� �������� 3���
���1 Q ���� �� ����	������ �������� ��� ��������� �1 �3� ����"����� ����1���(�
36�� ��� 56�3 ��"����� ������ -�� ����		��� ��"���� 23��� ���1 336�� ��� �� ������
-�� ����"3��� ��"����� ��� �� ��� ���� 	��-�����"� -�� '9��

,� 7����� $�� � �3� "������ ����"����� σC[Q,3]� σC[Q,5]� ��� σC[Q,33] ��� "��	�����
��� �� "�� �� ����� �3�� ������6��� "���������� ��� ��� ���� �� �"3���� "������ ��6
>�"���� '9� ���� 5+� �$��((H ��( 23�� � ���	������� �� "��������� �� �3� ����"3���
��"���� �336�3 �����(� �3� "�������� �$���( �� ��� ����#�� ���"� �3� "��"���������
�- '! �� �3� ������ �� ������ 0.035) ���( �- �3� ���	������� �� "��������� �� �3�
����		��� ��"���� ����3�� 36�� �� 56�3 �����(� �3� "�������� �$���( �� ��� ����#��
���"� �3� "��"��������� �- �'� �� �3� ���������� �� ������ 0.045�

0��"� �� �� ��� 	������� �� ������ �3� ��>�"���� '9� 2��3 	������� ������6���
"����������� ��3�� �2� ����"����� ��� ������H ��( � ������6��� "��������� 2��3 ���6
	������� #;�� �� 336�� ����� �3����3 �3� �������� 3��� ���1 Q� 2��3 �3� �����
R
F ?�	� #;��) ���( � ����6��� "��������� 2��3 ���	������� #;�� �� 56�3 ��� 336��
������ �3����3 �3� �������� 3��� ���1 Q ��� �3� ��A�; ���� R ���	�"�����1� ,�
7����� $��%� �� "�� �� ���� �3�� ��( 2��3 �3� ����"���� σC[Q,33] R

F
� '! "��"�����6



$��� '������ ����"���� -�� "����������� "��������� &$

0.02

0.03

0.04

ciC
4

D
(t)

 

 

Range
σC[Q,3]
σC[Q,5]
σC[Q,33]

0 1 2 3 4 5 6

0.02

0.03

0.04

t [h]

cC
3

B
(t)

7����� $�� H '9�� 0'�H "��	������ ���2��� �3� "������ ����"�����
σC[Q,3]� σC[Q,5] ��� σC[Q,33]�

���� �� �3� ������ �� �+��� �� 0.013� ������� �3�� 	��-�����"� �� ��	������ ���
��� �����3� ��� �3�� ���( �3� ����6��� "��������� 2��3 ����"���� σC[Q,5][R,33] ��
���� �� �������� �3� "��	�������� �- �������� �� �3� ������� ������ ��3� "���������
cC3
B ≈ 0.02 ��� ciC4

D ≈ 0.02 ��� ��� 2��3�� �3� 	���"����� �������"��(�

+�����	
 � -+��.

�3� ������� �������� -�� �3� ���	6	���6���������� "3���� ���� �""������ �� 0'�
���� ����� $�!( ��� ����������� �� 7����� $��&� 9��1 �3� "������ ����"���� σC[Q,5][R,33]

�� �3�2�� ���"� �� ���� �3� ���� 	��-�����"� -�� 0'� "���� ,� "�� �� ���� �����
�3�� ��+��������� 5+� �$��( ��� �����#���

/������ �
��	�����	
��

N3�� �3� "������ ��>�"���� �� '9�� �3�� ��� �3� >���� ���������� �- ������ '!
��� ���������� �'� ������ �3��� ������� ������ �5+� �$��((� ���3 �"������� �3�2
�3�� � ������ ��"����� 	��� 23�"3 ����2� �3� ���������� �- ��"3 ��>�"���� �� �����
�1 �3� 56�3 ��� �3� 336�� ������ 2��3 �3� -����� ���	������� "��������� �1 ��6
������ ���1 ��� �3� ������ "��������� �1 ��A�; ����� �""������ �� �3� ����"�����
����1���� �3�� �3���� �� ��� �� �3� -�"� �3�� �3� "������������ �� �3� ���	���6
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$�!� '������ ����"���� -�� "��"���6�1	� "���������� &%

���� �������� �� �3��� ������ ��� �����1 ����� �1 ?�1 "��	������ '! ��� �'��
9�"� ������ ���	������� ������� ��� ��� 	��"�� "����� �� ������� ��	� ��� -���
������� ������� �3�� "������������� �- ��1��� ��44 ( ��� D��� ��� 0?�������
��44%( ��� "��#����� 9� �3� ��3�� 3���� ������6��� ����"����� ���� ��� ����2
�3� �"3�������� �- �3� "������ ��>�"����) 3�2����� �3�� �� ��� � ������� ������
-�� "������ 23��� ���3 ?�16��	������� ��� "���������� ��� � "�������� �� �� ����
�� ����� �� ��"��� ���2��� � ������6��� ��� � ����6��� ����"���� ����� 3�� �� ��
-���� ���1���� �44 ) D��� ��� 0?�������� �44%(�

��� ��	���� 
��
��
��  �� ��
����!���� ��	�������


,� �3�� 0�"����� �3� "������ 	������ �� ������ -�� � "��"���6�1	� "��������� �"��"���
�� '�7(� 23��� ��� �� �2� "����������� �- ��� ����	������ �������� ��� �
	�����16��"�����1 ���	������� 	��� 3��� �� �� -���� �ul ��� � 	��� �Tk1 , Tk2((�
�""������ �� �������� �� 0�"����� ��� ��� ��$( �� ����� �� �"3���� �3� ����� "������
��>�"����� �3� 	������ �� ������������1 �3� ���� �- �3� "����������� "���� ��� ��
��������� �3� ����"���� �- ��"�����1 ���	������� ��"������ ���� �� ���������� 9�
�3� ��3�� 3���� �3� ����"���� �- ���3 ����	������ ��	��� ��� ���	������� ������
��"������ 3�� �� �� ����� 2��3 �� ����������� -�� "����������� "���� '��"���6�1	�
"��������� �"3���� ��� ��	����� �� 7����� ���� �-��� �3� ����"���� �- "��������
����"������ ����"����� ������� ��� �������� �3����3 �1����" ������������

$���� ��
�
��
�� �	��#��� ��
 
��
�����# � 
�	�
����
� � %*�

,� �3�� 0����"����� �3� "������ 	������ �� ������ �� ����� �� �"3���� ��>�"���� '9�
������ ���������� �- ���������� �'� ������ ��� ������� ������ ��� 5+� �$��((H ���"� �
������6��� "��������� �� ��M"����� �� ���� -��� "����������� "���� �3�� ����� �3��
���1 �� ��	�� ul ��� � 	�����16��"�����1 ���	������� 	��� (Tk1 , Tk2) 3��� �� ��
-�����

6�	��� ���(������� �
���	
��

.�����1 ���	������� ��"������ 3��� �� �� "3���� �� ���� -�� "����������� "���)
������� �3� �������� �- � ��"�����1 ���	������� ���	 ���� ��� ����-1 �3� 	��6
���1 ���	������� �8��� �- 	�����1 ��"����� ������� �3� ����� ������� �3�� �3�
���� 	�����1 ��"����� �- "����������� "��������� "��� "�� �� ���� -�� "��"���6�1	�
"����������� �3�� ����� �3�� 336�� ���1 3�� ���� "3���� �� �3� 	�����1 ���	��6
����� ��"������ ���"� �� �� �3� ������ 	��"����� 23�"3 ���������� �3� �������
"��	������� �8����
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0�"�����1 ���	������� ��"����� �3���� �� ����"��� �� ��"3 � 2�1 �3�� � -���
��>�"���� �- ���������"�� �� ��������� �""������ �� �3� "������ ��>�"����� �2�
	������������ ��� �3���-��� �3� -����2��� ����H

• ��"����� �- ��"�����1 ������ �� �3� ��"���� �- �������� ����� 23��� �3� "��6
	������� ���� �� ���������( ��� �� �3� ���� ��������� ���� ����� �� �3� ������
2��3 �3� ������� ���������()

• 	��"����� �- �3� ��"�����1 ������ �� �3� ������ �- �������� ��� "���� �� �3�
���������"� ����"�� �3�� ��� "���� �� -��� ������

�3� 	������� "������������� �� "��>��"���� 2��3 �3� ������� �� 7����� !� ����
�� �3� "3��"� �- �3� -����2��� ��"�����1 ���	������� ������ ��"������H ��( �3�
306�3 ����� ���"� �� �� �3� ��� 2��3 �3� ������� �������� �� �3� ����"3��� ��"����)
���( �3� 236�� ������ ��"���� �� �� "���� �� -��� ����� �196�3 ���(�

*��	(������ 	�(���

�3� ����"���� �- ����	������ ��	��� �� �3� ���� �- "����������� "���� ��� �3���6
-��� �3� �������� 3��� ���1 Q 3�� ���� "3���� �� ����	������ ��������� =�"���
�3�� �� ����� ��8����"� �� 	��-�����"� �� �;	�"��� �- ����� �3� ��A�; A�2 ���� R
������� �- Q�

$���� ��
�
��
�� 
������ ��
 %��
��� 
�	�
����
 � %*�

�-��� 3����� ���"����� �3� ����"����� 	������ -�� � "��"���6�1	� "��������� 23��
�3� "������ ��>�"���� �� '9� ������ ���������� �- ���������� �'�(� �3� "��������
����"���� ��� ��2 ������� �""������ �� �3� �2� �"������� 0'� ���� ����� $��( ���
0'� ���� ����� $�!( 	��������1 ���"������ 7�����1� �3� ������ 	��"����� �� �3�2��
��� �3�� �3� �"������� ��� ��	������1 ����1
��� 7�����1� � ���� 2��3 "���������
���������� �� �����

)��	��

�� �� 	������� "���� �3� "��������� 3�� ���� ����� �� �3� ����� �- �3� �	��6
���	 ���	����� ���� 7����� $�!( �- �3� "����� �� ���3 �������� ��� 	������� ���	
"3����� �±0.1%( �� ���3 �������� 3��� Q ��� ��A�; ���� R� �3� "3���"�������"
-��+���"1 �� ω ≈ 13−1� ��� �3���-��� �3� -����2��� ������ 	��������� ��� "3����
�� -����2�� �� �3� ����� �- "��"��� ������ ����� ����� �� 5+� ����&(�

Kc,1 = 2ω = 23−1, Kc,2 = 2Kc,1 = 43−1, Ko,1 = Ko,2 = 10Kc,1 = 203−1



$�!� '������ ����"���� -�� "��"���6�1	� "���������� &�

+�����	
 
 -+�
.

'��"��� "���������� ������	�� �� ����� �� ���"3 �3� ��>�"���� '9� ��� ��2 ������
�3����3 0"������ � �0'�� ��� ����� $��(� �3� -����2��� �������� �� ���� �� �����
�� ��#�� � ������6��� "��"��� "������ ����"���� 23��� �3� ����	������ �������� j
�� ���� -�� ���������� 	�����1 ���	������� TiP 2��3 �3� ��������"� �- ��"�����1
���	������� TiS

σC[j,iP ,iS ]

.�����1 ���	������� T33 ��� Q �� ����	������ �������� 3��� ���� "3���� ��
�3�� ��	��6���	�� "������ 	��� 1������ �3� ���� ������ -�� ������6��� "�����������
"������ "����

�� #���� ��8����� ��"�����1 ���	������� ������ ��"������ 3��� ���� ������H �3�
���� ��������� �1 ����"����� "������������� �σC[Q,33,23] ��� σC[Q,33,31]( 3��� ����
"��	���� 2��3 �3� "����������� "������	��� ����"���� σC[Q,33] ��� 2��3 �3� "��6
"��� ����"���� σC[Q,33,17] 23��� �3� ��"�����1 ������ 3�� ���� ��"���� �� �3�
����		��� ��"����� ��8������1 -��� �3� ��3�� "��"��� ����"������

���� ������� ��� ����������� �� 7����� $���� ��� �3�2 �3�� � ����3��1 ������ 	��6
-�����"� �� �������� 23�� ����� � "��"��� ����"����� D�2����� �� 	����"����
��8����"� �� 	������ ����� �3� ������� 	��	���� "��"��� ����"������

����3�� ���� 3�� ���� ���� 2��3 ������� ��"�����1 ��"������ ������ �3� ���� ���6
������ ���� �- �3� ����"3��� ��"���� ������� 316�� �����(H �3� "��	������ �- ����"6
����� σC[Q,33,27]� σC[Q,33,31] ��� σC[Q,33,34] �� ����������� �� 7����� $��4� �3�2���
�3�� �3� ��8����� ��"������ �- ��"�����1 ���	������� ������� ���� ��� ���� ��
��8����� 	��-�����"��

+�����	
 � -+��.

N3�� �3� "����� �� ���>�"��� �� � ���� �""������ �� 0"������ � �0'�� ��� ����� $�!(
�� "���������� � "��	������ ����� σC[Q,33,17]� σC[Q,33,23]� σC[Q,33,31]� σC[Q,33,34] ��
����������� �� 7����� $���� ,� �� �3�2� �3�� �3� ����"���� �- � 	����"���� ��"�����1
������ ��"����� ���� ��� ��A���"� 	��-�����"�� ��� ����1 "��"��� ����"���� ���6
�1
�� 	��-���� ������ �3�� �3� "����������� "������	���� ������� �3�� � "��"���
�������� 3�� �� �� 	��-������

+������	
�

�� 2��� �� -�� "����������� "��������� "���� �3� �8�"�������� �- �3� ����62����	
�"���� �� ������ -�� �3� "��"��� "���� �3� "����� 2��3 "������ ����"���� σC[Q,33,34]

�� ���>�"��� �� � ���� �� �� 0'�� ��� �� ��������� -��� "��������� ��� �����3� ��"?
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0.005

0.01

0.015

0.02

0.025

0.03
ciC

4
D

(t)

 

 

Range
σC[Q,33]
σC[Q,33,17]
σC[Q,33,23]
σC[Q,33,31]

0 1 2 3 4 5 6
1

1.02

1.04

1.06

t [h]

Q Q̄
(t)

7����� $���H '9�� 0'�� 	��-�����"� �- "��"��� ����"����� σC[Q,33,17]�
σC[Q,33,23]� σC[Q,33,31] ��� "��	������ 2��3 "����������� "������	���
σC[Q,33]H "��	������� ���	( ��� ����	������ �������� �������( �1���6
�"��

0.01

0.015

0.02

0.025

0.03

ciC
4

D
(t)

 

 

Range
σC[Q,33,27]
σC[Q,33,31]
σC[Q,33,34]

0 1 2 3 4 5 6
1

1.02

1.04

1.06

t [h]

Q Q̄
(t)

7����� $��4H '9�� 0'�� "��	������ �- "��"��� ����"����� σC[Q,33,27]�
σC[Q,33,31]� σC[Q,33,34]H "��	������� ���	( ��� ����	������ ��������
�������( �1����"��



$�!� '������ ����"���� -�� "��"���6�1	� "���������� ��

0.02

0.04

0.06

0.08

ciC
4

D
(t)

 

 

Range
σC[Q,33]
σC[Q,33,17]
σC[Q,33,23]
σC[Q,33,31]
σC[Q,33,34]

0 1 2 3 4 5 6
0.85

0.9

0.95

1

t [h]

Q Q̄
(t)

7����� $���H '9�� 0'�� "��	������ ���2��� "��"��� ����"�����
σC[Q,33,17]� σC[Q,33,23]� σC[Q,33,31]� σC[Q,33,34]H "��	������� ���	( ���
����	������ �������� �������( �1����"�

�� �3� ������� ������ �� t = 63� ,� ����� �� -��"� �3� ����������� �� �� �������
�3�� �3� ����	������ ��	�� Q ��� ���2��� 0.9Q̄ ��� 1.1Q̄�

�3� ������� ��� �� 7����� $���� ��� �3�2 �3�� �3� "������ �"���� Q +��"?�1 ������
�3� ���������� "�������� �-��� �3� "3���� �� t = 6� �� "�� ���� �� ���� -��� �3�
���� "��������� 	��-�����"� �-��� �3�� �����

/������ �
��	�����	
��

�3� ������� �� �3�� 0����"���� �3�2 �3�� � "��"��� �������� ������1 	��-���� ���6
��� �3�� �3� "����������� "������	��� 23�� �3� ���� �� �3� �"3�������� �- '9�
������ ���������� �- ���������� �'� ������ ��� ������� �����(� �3�� ��	��������
���� ��� ���� �� ��	��� �� �3� "3��"� �- � 	����"���� ��"�����1 ������ ��"������
��12�1� ���� �3�� �3� ��	�������� 2��3 ���	�"� �� �3� �+�������� "�����������
"��� �� �������� 23�� "���������� 0'�� �3�� ��	���� �3�� � "��"��� �������� �� �-6
-�"���� ��	�"����1 23�� ������ ���������"�� ��� 	������� 7�����1� �3� �8�"��������
�- �3� ����62����	 �"���� 3�� ���� ��""���-���1 ����#���



�� '3�	��� $� '������ ����"����

0.05

0.1

0.15
ĉiC

4
D

(t)

0 1 2 3 4 5 6 7 8 9 10 11
0.85

0.9

0.95

1

1.05

t [h]

Q Q̄
(t)

 

 

Range
σC[Q,33,34]

σC[Q,33,34] with saturation

7����� $���H .��-�����"� �- �3� "��"��� "��������� 2��3 ����"����
σC[Q,33,34] 23�� ���������� �� 	������H "��	������� ���	( ��� ����	�6
����� �������� �1����"� �������(�

$���� ��
�
��
�� �	��#��� ��
 
��
�����# � 
�	�
����
� � %*�

�-��� 3����� ���"����� 3�2 � "��"��� "��������� 	��-���� 23�� �3� "������ ��6
>�"���� �� '9�� 	��-�����"� -�� '9� "��� ������ >���� ���������� �- ������ '! ���
���������� �'� ������ �3��� ������� ������( �� ��2 �3�2��

)��	��

5+���������1 �� "����������� "���� �3� ������ 	��"����� ������ 2��3 �3� ��������
�- �3� "3���"�������" -��+���"1 -�� ��"3 ��"����� 9� �3� ����� �- �3� �	��6���	 �16
����" ���	����� �- �3� "����� �� ���3 �������� ��� 	������� ���	 "3����� �±1%(
�� ���3 �������� 3��� Q ��� ��A�; ���� R �3�2� �� 7����� $��$� �3� ���������
"���"�������" -��+���"��� ��� ωS ≈ 23−1 ��� ωE ≈ 13−1�

�3���-���� �3� -����2��� ������ 	��������� ��� "3����H

KS
c,1 = 2ωS = 43−1, KS

c,2 = 2KS
c,1 = 83−1, KS

o,1 = KS
o,2 = 5KS

c,1 = 203−1

KE
c,1 = 2ωE = 23−1, KE

c,2 = 2KE
c,1 = 43−1, KE

o,1 = KE
o,2 = 10KE

c,1 = 203−1

K��� �3�� �������� -��+���"1 �� �3� ����		��� ��"���� �KE
o ( 3�� ��� ���� ��"������



$�!� '������ ����"���� -�� "��"���6�1	� "���������� �!

"��	���� �� �3� ����"3��� ��� �� ����� �� ��� �;"��� �3� �3���3��� ��� �� 3����	
�1����"�� �� �;	������ �� =����? ��!�

6�	��� ���(������� �
���	
��

�� 2��� �� -�� '9� "���� 	�����1 ���	������� ��"������ 3��� �� �� "3���� �� ����
-�� "����������� "���� ��� �3���-��� 56�3 ��� 336�� ������ 3��� ���� "3����� ���"�
�3��� ������ ��"������ ��������� "������ �- ���3 	����"� "��	�������� 2��3�� �
����� ������

+��
���� ���(������� �
���	
��

0��"� ��"�����1 ���	������� ��"����� ����� ��� �� ��A���"� 	��-�����"� �- "��6
"��� "��������� �� '9� "���� ���1 ��� ��"�����1 ������ -�� ��"3 ��"���� 3�� ����
������� T34� ������1 ������ �� '9� "���� 3�� ���� "3���� -�� �3� ����"3��� ��"6
����) �� �3� ��3�� 3���� T7 3�� ���� "3���� -�� ����		��� ��"���� ��� ���� ��3��
��"������ 2���� �� 	��������

*��	(������ 	�(��� ��� (�	�	��

��?� -�� "����������� "���� �� 23�"3 � ����6��� "��������� �� ����� �3� ���� �	����
�� �� 	��� ��"3 ����	������ �������� 2��3 � ���	������� �� �3� "�����	������
��"����� ������� �3�� � ���	������� �� �3� ����"3��� ��"���� �3���� �� "���������
�3����3 �3� ��A�; ���� R� 23��� � ���	������� �� �3� ����		��� ��"���� �3���� ��
"��������� �3����3 �3� �������� 3��� Q�

$���� ��
�
��
�� 
������ ��
 %��
��� 
�	�
����
 � %*�

�3� -����2��� �������� �� ���� -�� ����6��� "��"��� ����"�����

σC[j1,iP1 ,iS1 ][j2,iP2 ,iS2 ]

������� �3�� �3� ��	�� ji �i = 1, 2( �� ���� -�� "���������� 	�����1 ���	�������
TPi �3����3 �3� ��"�����1 ���	������� TSi �

+�����	
 
 -+�
.

0��"� ������� -�� '9� 3��� �3�2� �3�� "��"��� "��������� 	��-�����"� ���� ���
��	��� �� ��"�����1 ������ ��"������ ���1 �3� ����"���� σC[Q,5,7][R,33,34] 3�� ����
������ ��� "��	���� 2��3 �3� "����������� "������	���� =������ ��� �����������
�� 7����� $��!� ��� �3�2 �3�� � ������ ������ '! ���������� �� �������� �� �3�
�;	���� �- � ����� 2�������� �� ������������ �'� "�������



�� '3�	��� $� '������ ����"����
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ciC
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(t)
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1.05

1.1

t [h]

Q Q̄
(t)

 

 

Range
σC[Q,5][R,33]
σC[Q,5,7][R,33,34]

0 1 2 3 4 5 6

1

1.05

1.1

t [h]

R R̄
(t)

7����� $��!H '9�� 0'�� "��	������ �- "��"��� ����"����
σC[R,5,7][Q,33,34] 2��3 �3� "����������� ����"���� σC[R,5][Q,33]H "��	�6
������ ���	( ��� ����	������ �������� �������( �1����"��

+�����	
 � -+��.

�3� ����"���� σC[Q,5,7][R,33,34] �� �3� ���1 ��� ������ -�� 0'�� �""������ �� �3�
"������������� ����� -�� 0'�� =������ ��� ����������� �� 7����� $���� ��� �3�2 �3��
�3� ��� �- � "��"��� "��������� ��	����� ������ '! ���������� �� �3� �;	����� �-
� 2�������� �� ���������� �'� "�������

/������ �
��	�����	
��

7����� $��! ��� 7����� $��� �3�2 �3�� � ����6��� "��"��� ����"���� �� ��� ������
�3�� ��� "����������� "������	��� 23�� �3� ��>�"���� �� �� �"3����� �� '9� ������
>���� ���������� �- ���������� �'� ��� ������ '!(� �3���-���� �� �� ��������� �3��
� "��"��� "��������� ��� �� ���� �� ����� �� �"3���� ��>�"���� '9�� ��"���� �-
�3� 3��3�� "��	��;��1 �- � "��"��� ����"���� 2��3 ���	�"� �� � "����������� ����

$���$ ��
�
��
�� 
������ ��
 %&' 
�	�
����
 � %*�

�-��� 3����� ����������� "��"��� "��������� 	��-�����"�� '�7 ����"����� �������
��� ��2 �3�2�� �� �3� ������������� �3�� �3� ����"����� ����1��� �� �3� ���� -��



$�!� '������ ����"���� -�� "��"���6�1	� "���������� �$
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cc3 B
(t)

0 1 2 3 4 5 6
0.6

0.8

1

t [h]

Q Q̄
(t)

 

 

Range
σC[Q,5][R,33]
σC[Q,5,7][R,33,34]

0 1 2 3 4 5 6
0.6

0.8

1

t [h]

R R̄
(t)

7����� $���H '9�� 0'�� "��	������ �- "��"��� ����"����
σC[R,5,7][Q,33,34] 2��3 �3� "����������� ����"���� σC[R,5][Q,33]H "��	�6
������ ���	( ��� ����	������ �������� �������( �1����"��

���3 "��"���6�1	� "����������� ,� �3�� �����"����� 	��-�����"� �- '�7 "����������
�� �������� ��� "��	���� 2��3 ���3 "����������� ��� "��"��� "������	���� 23��
�3� ��>�"���� �� �� �"3����� �� '9� ����� ���������� �- ���������� �'� ������ ���
������� �����(� =������ �������� -�� '9� ��>�"���� 2��� �� �3�2� �� � �����+����
0����"�����

)��	��

������ 	��"����� �� �;�"��1 �3� ���� �- "��"��� "��� ��� �3���-��� �3� -����2���
	��������� ��� ����H

Kc,1 = 2ω = 23−1, Kc,2 = 2Kc,1 = 43−1, Ko,1 = Ko,2 = 10Kc,1 = 203−1

+�����	
 
 -+�
.

�� 2��� �� �3� "��"��� "���������� �3� '�7 ��� �� �������� �3����3 ��8����� ���6
�������� 2��3 � �������� ��"����� �- ��"�����1 ���	������� �������

7�����1� �3� "����� �� ���>�"��� �� � ���� �""������ �� 0"������ � �0'�� ���
����� $��(� � "��	������ ����� ����"����� 2��3 ��"�����1 ������� �� ��8����� ��6
����� �- �3� "����� �� ����� �1 ����1
��� 	��-�����"� �- σC[Q,33,17]� σC[Q,33,23]�



� '3�	��� $� '������ ����"����
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t [h]

Q Q̄
(t)

 

 

Range
σC[Q,33,17]

σC[Q,33,23]

σC[Q,33,30]

σC[Q,33,34]

7����� $��$H '9�� 0'�� "��	������ �- '�7 ����"����� σC[Q,33,17]�
σC[Q,33,23]� σC[Q,33,30]� σC[Q,33,34] 2��3 �3� "����������� "������	���
σC[Q,33]H "��	������� ���	( ��� ����	������ �������� �������( �1���6
�"��

σC[Q,33,30]� ��� σC[Q,33,34] ����"�����H "�����	������ ������� ��� ����������� ��
7����� $��$� ��� �3�2 �3�� ��8������1 -��� �3� "��"��� "���� �3� ����"���� �- ��
�		��	����� ��"�����1 ������ ��"����� �� ��������� -�� ��������� ���� 	��-�����"��

7�����1� � "��	������ ���2��� ��� �- �3� ���� '�7 ����"����� �2��3 ��"�����1
������ �� 346�3 �����( ��� ��� "����������� ��� "��"��� "������	���� �� �����
�3� ������� ��� �3�2� �� 7����� $�� � ��� "�����1 �3�2 �� '�7 �������3� �� ��"3
������ �3�� ��� "����������� "������	�����

+�����	
 � -+��.

�3� ���� "��	������� �- 0'� "��� 3�� ���� ���� �� 0"������ � �0'�� ���
����� $�!(� �� #���� � "��	������ ���2��� σC[Q,33,17]� σC[Q,33,23]� σC[Q,33,30]�
��� σC[Q,33,34] ����"����� �� ����� �3� ������� ��� ����������� �� 7����� $��%�
��� �3�2 �3�� �3� ���� ������� ��� �������� 2��3 ���3�� 236�� �� 346�3 ��"�����1
���	��������� �� 2��� �� 0'� "���� 7�����1� � "��	������ ���2��� �3� ���� '�7
�����"���� 2��3 ��"�����1 ������ �� 346�3 �����( ��� ��� "����������� ��� "��"���
"������	���� �� ����� �3� ������� ��� �3�2� �� 7����� $��&� ��� "�����1 �3�2 ��
�3� '�7 �������3� �� ��"3 ������ �3�� ��� "����������� "������	����� ,� �� ��6
	������ �� ���� �3�� �3� ��	�������� ��� �� � '�7 "��������� 2��3 ���	�"� �� �
"����������� ��� �� ������ -�� 0'� �3�� -�� 0'�� �� -�� "��"��� "���� �3�� �����



$�!� '������ ����"���� -�� "��"���6�1	� "���������� �%
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t [h]

Q Q̄
(t)

 

 

Range
σC[Q,33]

σC[Q,33,34] Cascade

σC[Q,33,34] CLF

7����� $�� H '9�� 0'�� "��	������ �- '�7 2��3 ����"���� σC[Q,33,34]

2��3 �3� "����������� ��� "��"��� "������	����H "��	������� ���	( ���
����	������ �������� �������( �1����"��

�3�� � '�7 "��������� �� ��	�"����1 �������� -�� � ������ ���������"� �������� �3�
"������

+������	
�

�3� �8�"�������� �- �3� ����62����	 �"���� �� ��2 ������ -�� �3� '�7 "���� �3�
"����� 2��3 "������ ����"���� σC[Q,33,34] �� ���>�"��� �� � ���� �� �� 0'�� ���
�� ��������� -��� "��������� ��� �����3� ��"? �� �3� ������� ������ �� t = 63�
,� ����� �� -��"� �3� ����������� �� �� ������� �3�� �3� ����	������ ��	�� Q ���
���2��� 0.9Q̄ ��� 1.1Q̄�

�3� ������� ��� �� 7����� $���� ��� �3�2 �3�� �3� "������ �"���� Q +��"?�1 ������
�3� ���������� "�������� �-��� �3� "3���� �� t = 6� �� "�� ���� �� ���� -��� �3�
���� "��������� 	��-�����"� �-��� �3�� �����

/������ �
��	�����	
��

�3� '�7 "��������� ��	������� �� �8�"���� �������� -�� �3� ��>�"���� �- ������6
���"�� �� '9� "���� ��� 	����"�� ������ ������� �3�� � "��"��� "��������� 2��3
�3� ���� ���	������� ������ ��"������� ��	�"����1 2��3 ������ ���������"�� �0'�
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0.01

0.02

0.03

0.04

0.05

0.06
ciC

4
D

(t)

0 1 2 3 4 5 6
0.85

0.9

0.95

1

t [h]

Q Q̄
(t)

 

 

Range
σC[Q,33,17]
σC[Q,33,23]
σC[Q,33,30]
σC[Q,33,34]

7����� $��%H '9�� 0'�� "��	������ �- '�7 ����"����� σC[Q,33,17]�
σC[Q,33,23]� σC[Q,33,30]� σC[Q,33,34]H "��	������� ���	( ��� ����	������
�������� �������( �1����"�

0.02

0.04

0.06

0.08

ciC
4

D
(t)

0 1 2 3 4 5 6
0.85

0.9

0.95

1

t [h]

Q Q̄
(t)

 

 

Range
σC[Q,33]

σC[Q,33,34] Cascade
σC[Q,33,34] CLF

7����� $��&H '9�� 0'�� "��	������ �- '�7 ����"���� σC[Q,33,34] 2��3
��� "����������� ��� "��"��� "������	����H "��	������� ���	( ��� ��6
��	������ �������� �������( �1����"��



$�!� '������ ����"���� -�� "��"���6�1	� "���������� ��

0.05

0.1

0.15

ĉiC
4

D
(t)

0 1 2 3 4 5 6 7 8 9 10 11
0.85

0.9

0.95

1

1.05

t [h]

Q Q̄
(t)

 

 

Range
σC[Q,33,34]

σC[Q,33,34] with saturation

7����� $���H .��-�����"� �- �3� '�7 "��������� 2��3 ����"����
σC[Q,33,34] 23�� ���������� �� 	������H "��	������� ���	( ��� ����	�6
����� �������� �1����"� �������(�

"���(� C���?� �3� "��"��� "���� �3� ��"����� �- �3� ��"�����1 ������ 3�� �� ��6
A���"� �� "��������� ��3������ ��� �3� ��"������ 236�� ��� 346�3 	��-��� "��6
��������1 ������ �3�� ��3���H ��( ����"���� 2��3 236�� ����� �� ��"�����1 ������
��"����� 2��?� ���"� �� �� +���� "���� �� -��� ����� ��������� �3�� �� � ��� "3��"�
-�� � 	�����1 ������ ��"�����() �� �3� ��3�� 3���� ���( 2� "��>�"���� �3�� 346�3
2��?� ���"� �3� �������� �� ��"3 ����� �� �����1 ��� �� ?�1 "��	������� ���� �-
�3�� 3�� ���� ������ �� � "�������� -�� 	�����1 ������ ��"�������� 7�����1� �� 3��
���� ������������ �3�� �3� ����62����	 �"���� �� �8�"�����

$���( ��
�
��
�� 
������ ��
 %&' 
�	�
����
 � %*�

,� �3�� 0����"����� '�7 	��-�����"� �� �������� 23�� �3� ��>�"���� �� �� �"3�����
�� '9� ������ >���� ���������� �- ������ '! ��� ���������� �'�(�

)��	��

������ 	��"����� �� �;�"��1 �3� ���� �- "��"��� "��� ��� �3���-��� �3� -����2���
	��������� ��� ����H

KS
c,1 = 2ωS = 43−1, KS

c,2 = 2KS
c,1 = 83−1, KS

o,1 = KS
o,2 = 5KS

c,1 = 203−1
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0.01

0.02

0.03

0.04
ciC

4
D

(t)

0.01

0.02

0.03

0.04

cc3 B
(t)

0 1 2 3
0.9

1

1.1

t [h]

Q Q̄
(t)

0 1 2 3
0.9

1

1.1

t [h]

R R̄
(t)

 

 

Range
σC[Q,5][R,33]

σC[Q,5,7][R,33,34] Cascade

σC[Q,5,7][R,33,34] CLF

7����� $�!4H '9�� 0'�� "��	������ �- '�7 "��������� 2��3 ����"����
σC[Q,5,7][R,33,34] 2��3 ��� "����������� ��� "��"��� "������	����H "��6
	������� ���	( ��� ����	������ �������� �������( �1����"��

KE
c,1 = 2ωE = 23−1, KE

c,2 = 2KE
c,1 = 43−1, KE

o,1 = KE
o,2 = 10KE

c,1 = 203−1

+�����	
 
 -+�
.

�""������ �� 	������� "�������������� ���1 �3� "������ ����"���� σC[Q,5,7][R,33,34]

�� ������ 3���� ��� "��	���� 2��3 ��� "����������� ��� "��"��� "������	�����
=������ ��� ��	�"��� �� 7����� $�!4� 23��� �� "�� �� ���� �� �3� '�7 "���������
���	��-���� �3� "�����	������ "����������� ��� "��"��� �����

+�����	
 � -+��.

,� 7����� $�!�� 	��-�����"� �- '�7 "��������� �� ����1
�� 23�� ����� �3� ����
"������ ����"���� �- 0'�� =������ ��� �3�2� �� 7����� $�!�� 23��� �� "�� �� ����
�� �3� '�7 "��������� ���	��-���� �3� "�����	������ "����������� ��� "��"���
���� 23�� ���������� ���������� �'�� 23��� 	��-�����"� �� ������������1 �3� ����
�- "��"��� -�� �3� ���������� �- ������ '!�



$��� '3�	��� ������1 �4�

0

0.01

0.02

0.03

0.04

ciC
4

D
(t)

0

0.01

0.02

0.03

0.04

cc3 B
(t)

0 1 2 3
0.6

0.8

1

t [h]

Q Q̄
(t)

0 1 2 3
0.6

0.8

1

t [h]

R R̄
(t)

 

 

Range
σC[Q,5][R,33]

σC[Q,5,7][R,33,34] Cascade

σC[Q,5,7][R,33,34] CLF

7����� $�!�H '9�� 0'�� "��	������ �- '�7 ����"���� σC[Q,5,7][R,33,34]

2��3 ��� "����������� ��� "��"��� "������	����H "��	������� ���	( ���
����	������ �������� �������( �1����"��

/������ �
��	�����	
��

�� �� '9� "���� '�7 "���������� ��	������ �� �8�"���� ����������� �� "�����6
������ ��� "��"��� "���������� 23�� �3� ��>�"���� �� �� �"3����� �� '9�� ���"�
�� �-��� ����2� � -����� ���������"� ��>�"����� �3� ��	����� 	��-�����"� �- �3�
'�7 "��������� "��	���� �� ��� "��"��� "������	��� �3���� �� ��� �� �3� ������
"��	������� ���2��� 	�����1 ��� ��"�����1 �"����� �� �;	������ �� 0�"���� ��$� �

��� ������� 

�����

,� �3�� '3�	���� �3� "������ ����"����� ����1��� 3�� ���� 	��-������ ��� �������
3��� �����+�����1 ���� ���������

� ��2 ���3������1 ����� �� �3� ���	������� �������� 2��3 	��6"��	����� "��6
��������� ������� 3�� ���� 	��	���� ��� ���� -�� �3� ����"���� �- ���	�������
������ ��"������� 9�� ���3������1 3�� ���� ��������� �1 ����"����� �������H 	��6
���1 ���	������� ������� 3��� �� �� 	��"�� ��( �� �3� ��"���� 2��3 �3� ��	����1
�� �� ���������� ���( �� �� ���� 23��� �3� ��������� ��� ������ ��� ����( 23��� �3�
�������� �� �����1 ��� �� ?�1 "��	������� ,� ��������� -�� "��"���6�1	� "��6
��������� ��"�����1 ���	������� ������ ��"����� �3���� �� ���3�� � ����� ����"���



�4� '3�	��� $� '������ ����"����

�� �3� ����� �- �3� "�������� ���� -�� 	�����1 ��"������ �� � ����� "���� �� -���
���� 9� �3� ��3�� 3���� ����	������ �������� ��� 	������ 2��3 ���	�������
�-�� ����6��� "����������( 3��� ���� "3���� �� �3� ����� �- 2���6?��2� ����������1
"��������

�3� ���� 	��-�����"� -�� � "����������� "��������� �� �������� ���������� ���6
	������� �� 336�� ����� �3����3 �3� �������� 3��� ���1 Q -�� �3� ��>�"���� '9�
����������� �- ���������� �'� ������ ��� ������� �����(� ��� ���������� �3� ���6
	������� �� 56�3 ����� �3����3 Q ��� �3� ���	������� �� 336�� ����� �3����3 �3�
��A�; ���� R -�� �3� ��>�"���� '9� �>���� ���������� �- ������ '! ��� ����������
�'� ������ �3��� ������� ������(� �3��� �� 3�� ���� �3�2� �3�� �� ��	����6
���� �� ���������"� ��>�"���� "�� �� �������� �3����3 � "��"��� "��������� -��
'9�� ��� ��� -�� '9�) ��������� "��"��� 	��-�����"� ���� ��� ��	��� �� �3�
��"�����1 ������ ��"������ B��� ������� -�� ���3 ��>�"����� 3��� ���� ��������
2��3 � '�7 "���������� 2��3 ��"�����1 ������ ��"���� �� 236�� �� 346�3 ������ -��
����"3��� ��"����� ��� �� 76�3 ����� -�� ����		��� ��"����) ��8������1 -��� "��"���
"���������� �3� ��"����� �- ��"�����1 ����� 3�� �� ��A���"� �� "��������� 	��-��6
���"�� 7�����1� �3� �8�"�������� �- ����62����	 �"���� 3�� ���� ������������
-�� ��"3 "����������
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�3� ���������� 	������ ���? 3�� ���� �������"�� �� 0�"���� !� H 3��� �� �� ���1
��M"���� �� ��"��� �3�� �3� ��>�"����� "������ �� ��-������ ��� �� �2� ?�1 ��	�������
�- �3� �����"��	����� '!6'� �	������ ���"����� �� 0�"���� !�!� �3�� ��� �3� �'�
�� �3� ���������� ��� �3� '! �� �3� ������� �� ����� �� ������� �3� ��	��������
��?� �3� "������ 	������� ���� �3� ���������� ��� �� ������ �1 	����������� �� ����
� ����"����� ��� �� �������3��" 	����

�3�� ���������� .��� �� ������
�� �� -����2�H

���(��� �1 ,� �3�� '3�	���� �3� ���������� ����"����� ����1��� 	������ �� 	��6
������ ��� ��������� B1 ���������� ����"����� �� �� ����� �3� ����"���� �- ��(
"��	������ �� �� �������� �� �3� ����"�� ������ ���( ������ ��� ��"����� �-
���	������� �������� ����( "��	������� ������ �� �� ���������� ��� ���( ������� ��
23�"3 ���	������� 3�� �� �� ������� "�������� '�������� ����"����� ��� ����"���
�3����3 �3� ���	������� �������� 2��3 	��6"��	����� "����������� ������� ��
"��>��"���� 2��3 � �1�������" 	��"������

���(��� �1 ,� �3�� '3�	���� �3� "������ �������3��� �3�� ��� �3� �1����" 	��6
"������ �3�� 	��-��� �3� ���������� ���?� ��� ������������ ,� �3�� �3����� �3�
:�������" 5�������� �:5( 2��3 	������ ���������� ��� �3� 5;������ <�����
7����� �5<7( 2��3 	������ �� "��	���� ���������� ��� ��	��1���

���(��� "1 ,� �3�� '3�	���� ���������� ����"����� ������� ��� 	�������� ���
���������
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,� �3�� '3�	���� �3� ���������� ����"����� ����1��� 	������ �� ���������� �3�
����"���� �- �3� ���������� ����"���� "������� �� �3� "3��"� �- ��( "��	������ ��
�� �������� �� �3� ����"�� ���������� ������ ���( ������ ��� ��"����� �- ���6
	������� �������� ����( "��	������� ������ �� �� ���������� ��� ���( ������� 23���
�3� ���	������� �� ������� "�������� �3� "�������� ����"����� ��� ����"��� �"6
"������ �� �3� ���������� ��>�"���� �� �� �"3������ �3� ���3������1 �� �������1
����� �� �3� ���	������� �������� 2��3 	��6"��	����� "����������� ������� ��
"��>��"���� 2��3 � �1�������" 	��"������ 0�"3 ������� 3�� ������1 ���� ���� ��
�3�� �3���� -�� ����"���� 	��� �- �3� "������ ����"����� �� 2��� �� -�� ����������
"���� �3�� ���3�� 3�� �3� ��������� �� �� ���1 �� ���������� ��� �� �		�1�

"�� �	����
����	

�� �������"�� �� 0�"���� !� � �3� ���������� 	������ "������� �� ��	������1 �"3���6
��� ���������� ��>�"����� 59� ��� 59�� 23�"3 ��� 3��� ��"�����H

���	���	
� /�0���	�� 
 -�/
.� �3�� ��>�"���� �� �3� ���������� �- ����������
�'� �1����"� 2��3�� �3� 	���"����� ����� 23�� �3� "������ ��>�"���� �� '9� ������
���������� �- ���������� �'�(� ��� 3�� �� �� �������� 2��3 ������� "��������� 00�
�����		��� ��"���� 2��?��� �� 3��36	����1 "���������(� ������ �� ����� !��

ĉiC4
D (t) ∈ ciC4

D (t) ± Δĉ = ciC4
D (t)±0.015 � ��(

���	���	
� /�0���	�� � -�/�.� �3�� ��>�"���� �� �3� >���� ���������� �-
���������� �'� ��� ������ '! �1����"� 2��3�� �3� 	���"����� ����� 23�� �3�
"������ ��>�"���� �� '9� ������ ���������� �- ���������� �'� ��� ������ '!(� ���
3�� �� �� �������� 2��3 ������� "��������� 00� ��� ��"���� 2��?��� �� 3��36	����1
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"���������(� ������ �� ����� !��

ĉiC4
D (t) ∈ ciC4

D (t) ± Δĉ = ciC4
D (t)±0.015 � ���(

ĉC3
B (t) ∈ cC3

B (t) ± Δĉ = cC3
B (t)±0.015 � ���(

�� �� "�� �� ���� -��� 5+� � ��( ��� � ��(� �3� ��	������� �� �� ��������� ��� �3�
���� �� �� "���������� ,������ ��"3 "��	�������� 3��� �� �� ��������� �� �����
�� ������� �3� ������� ��	�������� �3� ��������� �3�� �� ����� �� �� ������	���
"�� �� ��� �� 	������� 2��3 �3� "��������� �� ����� �� ����2 ��"3 �����������

�3� ���������� ����"���� "������� �� �3� ����"���� �- ��( "��	������ �� �� ��������
�� �3� ����"�� ���������� ������ ���( ������ ��� ��"����� �- ���	������� ��������
����( "��	������� ������ �� �� ���������� ��� ���( ������� 23��� �3� ���	�������
�� ������� "�������� 7��� ��2 ��� �3� 	����� ���( ��� ����( 2��� �� >�����1 ��-�����
�� �� 
��
���
��� 
��������� ,� �������� �� �3� �����1 "���� �� �3� �����"��6
	����� "��� 3��� ��������� �3� ���������� ����"���� "������� �3� ����"���� �- �3�
"��	������ �� �� �������� �� �3� ���������� ����� �� � ������ ������ �- -�������
��8������1 -��� �3� �����1 "��� �� 7������S
 ��44%( ��� J�����
 ��� 7������S

��44�(� 23��� ����"�������1 �������� 2��� ����� �3� ����"����� ����1��� �� 3���
���� �3����3 �3� ���	������� �������� 2��3 	��6"��	����� "����������� ���6
���� �� "��>��"���� 2��3 � �1�������" 	��"������ 0�"3 ���3�� �� "����������1
���	��� ��� ���� ���������� ��� ���1 ��+����� �����16����� ��-�������� �� �3�
������� �	������� "����������

"�� ���
��
��� �	���
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,� �3�� 0�"����� �3� ���������� ����"����� ����1��� 	������ �� 	�������� ��� ��	6
������1 ������ -�� ���3 ��>�"����� 59� ��� 59�� �3� "������� -�� ����"���� �3�
���������� ����"���� �� �3�����3�1 ����������� -�� 59�) ���"� �3� �;������� -��
59� "��� �� ������3�-��2���� ���1 � ������ �� ����� -�� ��"3 "����

(���� ��
�
��
�� �	��#��� � �*�

,� �3�� 0����"����� �3� ����"����� ����1��� �� �3�����3�1 ����������� -�� 59� ��6
>�"���� ������ ���������� �- ���������� �'� �1����"�(�
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�3� ���������� ����"����� 	������ ������ 2��3 �3� ������ �- � ����� 2��3 � ��6
��"�� ������ �- "��	������ �3��� ������ �1 �		��	����� ���	������� �������6
������ 2��� �� ���� -�� ��-������ �3� ��	����1 "��	�������� �- ��������� �3� ����"6
���� �� �3� ������ �- "��	������ �� 	��-����� �� �3� ����� �- �3� ���	�������
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�������� 2��3 	��6"��	����� "����������� �������� �3� �	������� "���������
�- �������� -�� 59� "��� ��� �3� ���� �- 00� "��� ����� �� �����  ��� �3� ��6
�������� ��>�"���� 3�� �� �� �"3����� 23�� �3� "����� �� "��������� �� �����
�� ������ "������ ��>�"���� '9� ����������� �- ���������� �'� ������ ��� �������
������ ��� 5+� �$��(() �3� ������� �������� ������� -�� 00� "��� �� ��	����� �����
�� 7�����  �� -�� ��?�� �- "��������"��

F̄ c̄C2
F c̄C3

F c̄iC4
F c̄nC4

F c̄iC5
F T̄F

88.2 �3 3−1 0.0036 0.281 0.236 0.4746 0.0004 320 <

Q̄ R̄
3876645 ?"�� 3−1 61.62 �3 3−1

�����  ��H 9	������� "��������� -�� 00 �

�3� "������� -�� ����"���� "��	������ �� �� ?�	� �� �3� ����"�� ����� "������� ��
��������� �3� ���� �3�� �����1 "��������� �� ������� ���	������� �������� 	��#��
����� �3� "������ ,� "�� �� ���� -��� 7�����  �� �3�� �3��� "��	������ ���
�3� '!� �3� �'� ��� �3� �'�� 9� �3� "������1� '�� �'$ ��� �'$ ��� ���"�����
���"� �3�1 3��� "��	��������1 ����� ����-���������� �3��� �3� ��� �- �������
"��	������ ��

{φ1 φ2} = {'! �'�}



��4 '3�	���  � 5��������� ����"����� ����1���

���"� �'� ���� ��� ���� �� �� ����"��1 ������� ��"���� �- �3� ���� "�����������
"�������� ����������� �� 0�"���� !���

K��� �3�� '� �������1 ��A���"�� ��	 ���	������� ���������� ��� ������3������ ��
3�� ���� ��"���� ��� �� ����� ��) �3� '� ������� ���� �� ��?�� ���� �""���� ��
��;� ���	� �- ���������� ����"���� ����"�����

*���������� ���������

/���������� ����"���� "������� �� �3� >���� ����"���� �- ���	������� ������ ��"�6
����� ��� ������ �� �� ��������� �� �3� ����� �- �3� ���	������� �������� 2��3
	��6"��	����� "����������� ��������

��� ��� ��2 3�2 �� "3���� �3� ������ ��"������ ��� �3� ��������� "��	�������
�������� �1 ���?��� �� 23�"3 ��-�������� �� "�������� �� �3� �������� �������H

• ���	������� ������� 3��� �� �� 	��"�� �""������ �� �3� ���������� ��>�"�����
�3�� ��� �� �3� "����� ��"���� 2��3 �3� ?�1 ��	����1 �� �� ���������)

• �� ���� 2��3 ����� ���	������� ���������� ��	���� �3�� ��	������ "��	�6
������� ��� "3������� ������� �3�� �3� ���� ��������� ������ ��� �3���) ��
�����#�� �3�� ����������� ������� 3��� �� �� 	��"�� �3���)

• � ����� "����������� �- � "��	����� �� �3� ������� �������� �����#�� �3�� �3�
��-�������� "�������� �� �3� ���	������� ����������� �����1 ��A�"�� �3�
��������� �- �3�� "��	������ ��	�1��� �3��H ��( �3� ������ 23��� ���	��6
����� �������� �� ��� �� �� ��������� "��	����� ���� ��� �� ��?�� ����
�""���� �� ������ ��"������ -�� �������� ����� 	��	�������) ���( �3� "��	�6
���� 23�"3 �����1 "���������� �� � �������� ������� �� � ������ ��"����� 3��
�� �� "3���� �� ��������� "��	������ �� ��"3 � 2�1 �� 3��� �3� �������
������ �- ���-�� ��-���������

�3� �������� �� 59� "��� �� �� ���������� ���������� �'� �1����"�� ��� �3���
��� �� ���� ������� 3��� �� �� 	��"�� �� �3� ����"3��� ��"����� 23�"3 �� �3�
������ �- ��������� 9� �3� ����� �- �3� 	��"����� "������������� �� �3� ���3� �-
7�����  ��� �� "�� �� ������ �3��H ��( ������� ���	������� ��������� �� �3� ����"3���
��"���� ��� ���2��� � 6�3 ��� !!6�� ������) ���( �3� ������� "��	����� '� 3��
� ��� ���������� "����������� �� �3� ��	 �- �3� "������ ��� �3���-��� �� �������
3��� �� �� 	��"�� ���2��� !$6�3 ��� !%6�3 �����) ����( �3� '! �����1 "����������
�� �3� ���	������� ��������� ����� �3��� ������� ������� �3�� �3� ��������� ��
���	������� �� �����1 ��� �� ��� ��������� ��� �3���-��� ��"3 "��	����� 3�� ��
�� ��������� 23��� ���	������� ������� ��� 	��"���

�3���-���� �3� "�������� ����������� ����"����� ��"���� ��� �� ���� ���	���6
���� ������� ����� �3� ���� ��������� ����� 2��3 �3� '! �� ��������� "��	�����



 ��� 0���"����� ����1��� ���

-�� ��"3 ���	������� ������������ �3�� ��� �� ���3�����"�� ���������

sk ∈ {26, . . . , 33}, μk = '!, -�� k = 1, . . . , m

������� �3�� �3� "��	����� μk �� ��������� �� sk6�3 ������

�3��� ����"����� 2��� �� �����+�����1 ������ ��� "��	���� 2��3 ��"3 ��3��� ��
����� �� ����"� �3� ���� ����"���� �""������ �� �3� ����� ���������� ��>�"�����

K��� �3�� �3� "�������� -�� �3� ����"���� �- ���	������� ������ ��"������ �� �������
�� �3� ��� �- "������ "���H 3�2����� �� �3� "������ "��� �� �� ��	������ �� 	��"�
������� 23��� ����� ��������� �����1 ��� �� ?�1 "��	������ ��� 	������� 23�����
�� �3� ���������� "��� ������� 3��� �� �� 	��"�� 23��� ����� ��������� ��� ���
��� �� ��������� "��	�������

)��(������� �((�
�	���	
�

� -���3�� ���������� ����� ����"���� �� ��������� �1 �3� ���	������� ��������
	��#�� �� 7�����  ��H �� "�� �� ������ ������� �3�� ���	������� ��������� ���
+���� ����� �� �3� ����		��� ��"����� ���2��� 16�� ��� 176�3 ������� �������
�3�� ���	������� "�� �� ������� "������� �� ��"3 ������) ��������� ����� �3�
���������� �'� �3� ���1 ��	����1 �@���� �� �� ���������� ��"3 �		��;�������
�3���� ��� ��A���"� ���1 ��"3 �3� �������� �- ���������

,� �3�� �3����� ���	�������� ��� �		��;������ �� �;	������ �� �3� -����2���� '��6
����� q ������� 23��� ���	������� 3�� �� �� ������� "�������H �� �3� k6�3 �������
23��� IK ��� FK ��� �3� ������� ��� �3� #��� ����� ���	�"�����1� ���	������� ��
�		��;������ ��

TA,k =
T̂Ik

+ T̂Fk

2
-�� k = 1, . . . , q � �!�(

T̂i = TA,k -�� k = 1, . . . , q, i = Ik + 1, . . . , Fk − 1 � �!�(

23��� TA,k �� �3� ������� ���	������� �� �3� k6�3 ������� K��� �3�� �3� ���6
	������� �		��;������� ����������� �� 5+� � �!( ��	���� �3�� ���	������� �� ?�	�
"������� �� �3� ������� ��� ���1 �� �3� �������� ������ �- ����1 ������ k�

�� ��	������ "����+���"� �- �		��;������� � �!(� �� �3�� � "��	�������� -��
������"� �3� ��� �- �3� �CM −1(6�3 "��	����� �������� �� �3� ���������� ������
"�� �� ������� �3����3 �3� -����2��� ��������" �+������ ������� -��� 5+� �!���(�
�� ������ 23��� ���	������� �� �		��;������H

ĉ
φCM −1

i =
Pi −

∑CM−2
j=1 ĉ

φj

i P̂
φj

i − (1 −∑CM−2
j=1 ĉ

φj

i )P̂φj

i

P̂
φCM −1

i − P̂
φCM

i

-�� k = 1, . . . , q i = Ik + 1, . . . , Fk − 1 � ��(
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K��� �3�� ��"���� �- �3� ���	������� �		��;������� � �!(� ���� �3� 	������ 	���6
���� -�� ��"3 "��	����� ��"���� "�������� �3�� ��H

P̂
φj

i := P
φj

A,k(TA,k) -�� k = 1, . . . , q i = Ik + 1, . . . , Fk − 1

�3�� ����� �3�� �- nk �� �3� ������ �- �������� ������ �� �3� k6�3 �������
∑q

k=1 nk

9�5� ��� ��� ������ ��1�����

(���� ��
�
��
�� �	��#��� � �*�

�-��� 3����� �3�����3�1 ���"����� �3� ���������� 	������ -�� 59� "���� �3�
�+�������� ��� 3�� �� �� ���"����� �� ����� �� �"3���� 59� ������ >���� ���������� �-
������ '! ��� ���������� �'� �1����"�(� �3� ����"����� 	������ �� ������������1
�3� ���� �- 59� "���� ��� �3���-��� ���1 � ����- �;	�������� �� ������

&������ �
���

/���� ����"���� 	��"����� �� �3� ���� �- 59� "���� ��� �3���-��� �3� ����1���
���� �� ���� �� �3� ����� �- �3� �������� �������� 0�"3 ������� -�� 59�
"��� �� �3� ��� ������� �� 00� �	������� "��������� ���"����� �� �����  ��(� ��� ��
��	����� ����� -�� ��?�� �- "�����1 �� 7�����  ���

F̄ c̄C2
F c̄C3

F c̄iC4
F c̄nC4

F c̄iC5
F T̄F

88.2 �3 3−1 0.0036 0.281 0.236 0.4746 0.0004 320 <

Q̄ R̄
2665688 ?"�� 3−1 34.99 �3 3−1

�����  ��H 9	������� "��������� -�� 00 �

9� �3� ����� �- ���� "������������� ����� -�� 59� "���� �� "�� �� ������ �3�� ���1
'!� �'� ��� �'� ��������� �����#"����1 "��������� �� �3� ���	������� ��������
	��#�� ����� �3� "������ ��� �3���-��� �3��� "��	������ ��� ������� �� �3�
����"�� ���������� ������ �3�� ����� �3�� �3� ��� �- ������� "��	������ ��H

{φ1 φ2} = {'! �'�}

���"� �'� ���� ��� ���� �� �� ����"��1 ������� ��"���� �- �3� ���� "�����������
"�������� ����������� �� 0�"���� !���

K��� �3��� �� 2��� �� -�� �3� 59� "���� '� 3�� � �����?���� ��A���"� �� ��	
������� ��� ������3������ �� 3�� ���� ��"���� ��� �� ����� ���
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,� ����� �� ������ �3� ����������� ����"���� -�� 59� "���� �3� ���� ����1���
���� -�� 59� ���� �� ��	����� -�� ��"3 ��"���� ���"� �3� ��>�"���� �� �3� >����
���������� �- ���3 ?�1 ��	�������� �3� ���? "�� �� ������ ��"����62���H #����1�
���	������� ������ ��"������ ��� ������ �� �� ��������� ��� "3���� -�� �3� ��6
��"3��� ��"����) �3��� �3� ���� �� ���� -�� �3� ����		��� ��"�����

9� �3� ����� �- �3� ������� �� 7�����  ��� �� "�� �� ���� �3�� �3� ���� "��"�������
�- 59� "��� ���� �� ���� ������� ���2��� 266�3 ��� 336�3 ������( 3��� -�� �3�
����"3��� ��"���� �� 59� "���� �� ������� �3� ����		��� ��"����� ��� �� ����
������� 3��� �� �� 	��"�� ���2��� 36�� ��� 76�3 ������� 23��� �3� ��������� ���
�3� �������� ,� �	��� �- ����� ���������� 16�� ��� 26�� ������ �3���� �� ��������
��"���� � ����� "����������� �- �'$ ��� �'$ �� 	������� �3� "��	����� �� ��
��������� �� �3� '! �� ���3 ����		��� ��� ����"3��� ��"������ ���"� �� �� �3� ���
23�"3 �����1 "���������� �� �3� ����� ���	������� ��������� ����"��� -�� ������
��"������� /��3�����"���1 �	��?���� 2� 3���

sk ∈ {3, . . . , 7} ∪ {26, . . . , 33}, μk = '!, -�� k = 1, . . . , m

������� �3�� �3� "��	����� μk �� ��������� �� sk6�3 ������



��� '3�	���  � 5��������� ����"����� ����1���
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�

7�� 59� "���� �3� ���	������� �		��;������� ������������1 2��?� �� -�� 59�
"���� 7�����  �� �������� �3�� ���	������� "�� �� �		��;������ �� �3� ����		���
��"���� ���2��� 106�3 ��� 176�3 ������� ��� �� �3� ����"3��� ��"���� ���2���
216�� ��� 236�� ������� D�2����� ���� �3�� �� �3�� "���� ����� �3� ����������
��>�"���� �3� >���� ��-������ �- ������ '! ��� ���������� �'�� ��"3 ���	�������
�		��;������� 2��� 3��� �� ��A���"� �� �3� ��������� �- ���������

"�� ������� 

�����

,� �3�� '3�	���� �3� ���������� ����"����� ����1��� 	������ 3�� ���� ���������� �
��2 ���3������1 ����� �� �3� ���	������� �������� 2��3 	��6"��	����� "�����6
������ ������� 3�� ���� 	��	���� ��� ���� -�� �3� ����"���� �- ������ ����"����H
��( �3� "��	������ �� �� �������� �� �3� ���������� ����� ��� �3� ���� �3��
�����1 "��������� �� �3� ������� ���	������� �������� 	��#�� ����� �3� "�����)
���( ��� �� ���� ���	������� ������� 3��� �� �� 	��"�� �� �� ���� 2��3 ����� ���6
	������� ��������� ����� ��������� ����( ��� ��� �� ��������� "��	������) ����(
�3� "��	����� �3�� �����1 "���������� �� � �������� �� � ����� "3���� �� ������
��"����� 3�� �� �� "3���� �� ��������� "��	����� �� �3�� �����) ���( ���	�������
"�� �� �		��;������ �� �3� ������� ��� �� ������� 23��� ��������� ��� ������

,� �3� ���3� �- 	������� "�������������� '!� �'� ��� �'� 3��� ���� ����"��� �� �3�
"��	������ �� �� �������� �� �3� ���������� ����� ���"� �3�1 �����1 "���������
�� �3� ������� ���������� -�� ���3 ���������� ��>�"������ /�������� ��( -�� 59�
��>�"����� ��� �� ���� ������� 3��� �� �� 	��"�� ���2��� 266�3 ��� 336�3 ������
2��3 '! �� ��������� "��	������ ��� � 	������� ���	������� �		��;������� ��
�3� ������ -��� 16�� �� 166�3 ������ ��� ���( -�� 59� ��>�"����� �� �������� �� 59�
"���� ��� �� ���� ������� 3��� �� �� 	��"�� ���2��� 36�� ��� 76�3 ������ 2��3
'! �� ��������� "��	������ 23��� ���	������� �		��;������� "�� �� ���� -���
106�3 �� 176�3 ����� ��� -��� 216�� �� 236���
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9�"� � ����"�� ������ ���	������� ������ ��"������ ��� "��	������� ������ ��
�� ��������� -�� ���������� 	��	���� 3��� ���� ����"���� � ���3�� �� "����"�
�3�� 3�� �� �� -����� �3�� ����� �3�� �� �		��	����� �
��
����� ��������
�
�3�� ��� � �1����" ���� 	��"����� �3�� 	��-���� �3� ���������� ���?� 3�� �� ��
"3�����

,� �3�� '3�	��� �2� ?���� �- ���������� �������3� ��� "���������H ��( �3� :�6
������" 5�������� �:5(� 23�"3 2��� �� ���� �� � ����"�� ����� �������� ������
2��3 	������ ����������() ���( �3� 5;������ <����� 7����� �5<7(� 23�"3 2��� ��
���� �� ���3 "��	���� ��� ����"�� -��� ������ 2��3 ���3 "��	���� ��� 	������
����������(�

$�� *�������� #
������� +*#,

,� �3�� 0�"����� �3� :�������" 5�������� �:5( �� ��� -��� 2��3 	������ ����������
�� ���"������

+���� ��,	����	

�3� :�������" 5�������� �:5( �J�����
� �444( �� �� �;������� �- �3� ����6
������ �������� ��9( -�� ��������� �1������ ��� 	������� � �1�������" ������
"������"���� ���� ��� ���������� ����"������ "��	��� 2��3 � "��������"� "�������)
�3���-��� �� 3�� ���� "3���� �� �3� 	���"�	�� ���������� �������3� �- �3� 	������
�3����� ,�� -��� ��	����������� 2���� ��+���� "��	������� �- ��� ������������
��"����� �����"����� 2��3 ����� ������� �1	�"�� �- ������ 	��"����� �� �����"��6
	����� ������������ "������� �3���-���� �� ����� �� ����� ��"3 	�������� ���1 �3�
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:5 2��3 ��>������� ����"���� ��� 	������ ���������� �����"� �� ���� �44$) 7��6
����S
� �44%) .����� �44%) J�����
 ��� 7������S
� �44�( �� "��������� �� �3��
�3����� ������� �3�� �� �� ���� �� "��>��"���� 2��3 �3� "3���� "�������� ����"6
����� �������� �� �3� ����� �- "������������� ����� �� '3�	���  �

�3� ����"�� ����� -��� �- �3� :5 �� �3� -����2���H

,�������� ������ �-�� ��1 ��������� ����� ĉμk
sk
� 2��3 k = 1, . . . , m(

˙̂cμk
sk

= f̂μk
sk

(�̂i−1, �̂sk
, �̂sk+1) +

1

β̂′
sk,μk

(
KP,sk

(Tsk
− T̂sk

) + KI,sk
zsk

)
�%���(

K����������� ������ �-�� ��1 ������������ ����� ĉj
i � 2��3 (i, j) �= (sk, μk)(

˙̂cj
i = f̂ j

i (�̂i−1, �̂i, �̂i+1) �%���(

,������� �"����� �k = 1, . . . , m(

żsk
= Tsk

− T̂sk
�%��"(

���	�������� �k = 1, . . . , m(

T̂sk
= β̂(�̂sk

) �%���(

23���

β̂
′
sk,μk

=
∂T̂sk

∂ĉμk
sk

∣∣∣∣
�̂sk

,� 5+� �%��(� �3� :5 �� ����������� �� ��� -��� 2��3 	������ ����������� ����6
��� �3�� ���1 ���� �- �3� ������ ������ �3� "��	����� μk �� sk6�3 ������ -��
k = 1, . . . , m( ��� ���������� �� �3� ����� �- �3� "3���� ����������� ����"6
����� �""������ �� �3� �������� �� 0�"���� !� � x̂I = [ĉμ1

s1
. . . ĉμm

sm
] �� �3� ���������

����� ��"���� 23����� x̂II = x̂ − x̂I �� �3� ������������ ���� 0�"3 ?��� �- :5
�� �3���-��� � ����"�� ����� ��������� ,� "������� � 	��	��������6�������� �.,(
�"����� 2��3 KP,i ��� KI,i ����� �3� �3� 	��	�������� ��� �3� �������� ���� ��
i6�3 ����� ���	�"�����1� �3� �������� �"���� ������� �3� �8���6-��� ���	�������
����������� ������� �3�� � ������ "��	������� ���������� �� �;	�"��� "��	����
�� �3� "��� �- �3� ���1 	��	�������� �.( �"����� �� ������ ��-���� ���1 ��� "��6
	������� ����� 	�� ���	������� ����������� �� ��������� 3���� 0�"3 :5 ��+�����
nM + m 9�5� �� �� ����������� �3�� ����� �3�� -�� �3� "�������� ���������
����"����� ��?�� ���� �""����� 74 + m 9�5� ���� �� �� ����������� K��� �3��
� "��	���� ����� 2��3 ��� "��	������ ������� 2���� ��+���� �3� ����������� �-
n = 185 + m 9�5��
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�3� ��1�	����" ����� 	��	������� ������� -�� � ����� ���������� ����"���� "��
�� -������1 "����"��� 2��3 �3� ���	������� �������� 2��3 	��6"��	����� "��6
��������� ������� 23�� ����� �3� :5 �� ���������� �������3�� ,������ -�� ��"3
��������� ����� �� 5+� �%���(� �3� "�����	������ ����� �1����"� ��� ����� �1H

˙̃cμk
sk

= f̃μk
sk

+
1

β̂′
sk,μk

(
KP,sk

(T̃sk
+ T E

sk
) + KI,sk

zsk

)

≈ f̃μk
sk

+ KP,sk
c̃μk
sk

+ KI,sk

∫
c̃μk
sk

+
1

β̂′
sk,μk

(
KP,sk

T E
sk

+ KI,sk

∫
T E

sk

) �%��(
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T̃sk
= Tsk

− T̂sk
, f̃μk

sk
= fμk

sk
− f̂μk

sk
, c̃μk

sk
≈ T̂sk

β̂′
sk,μk

��� T E
sk

��	������� �3� ���	������� ����������� ����� �� sk6�3 ������ � "��6
��+���� ������� �- �3� ����� "����������� ��� �� T E

sk
�� �����1 ����� ����� 23��

˙̃cμk
sk

= 0( ��

KP,sk
c̃μk
sk

+ KI,sk

∫
c̃μk
sk

= −f̃μk
sk

− 1

β̂′
sk,μk

(
KP,sk

T E
sk

+ KI,sk

∫
T E

sk

)
�%�!(

�3�� ����� �3�� � ����� ����������1 ���� β̂
′
sk,μk

��	���� ����� "����������� �- T E
sk

�� c̃μk
sk
� 0��"� �3� "��	����� "����������� ��	���� �� �3� ����������1 ����� �3��

"������������ -���3�� ��������� �3� ��� �- �3� ���	������� �������� 2��3 	��6
"��	����� "����������� ������� �� � ���� -�� �3� ����"���� �- �3� �����������
����"�����

+���� !�	�	"

�3� ���	�� ��� �1�������" ������ "������"���� -�� ����1 ����� ���������� ����"6
���� �� ��� �- �3� ��	�"�� 23�"3 ��������� �3� ��� �- �3� :5 5+� �%��(� ���"� �3��
����� �3� "�������1 �3�� �3� ��������� -��"������� ������� ��� ��� �� �3� ����"����
��� ��� �� �3� ������ �"3���� �3� ���������� ��� ����� �1 �3� -����2��� �����
�J�����
� �444(H

KP,i = 2ξiλi, KI,i = λi
2, λi = 5 ÷ 10ωi, ξi = 1 ÷ 3 �%��(

,� 5+� �%��(� ωi ��� λi ��� �3� "3���"�������" �1���� ��� ��������� -��+���"����
��� ξi �� �3� ���	��� -�"��� �� i6�3 ������

�3� "3���"�������" -��+���"1 ωi ��� �3� ���	��� -�"��� ξi ��� �3� ���1 	���������
������ -�� �3� ������� ,� ���� �� ��?�� ���� �""���� �3�� �3� ��������� �	���
���� �� ������� �3�� �3� �1���� ���� ��� "����� �;"��� � "������ ����� ����� �1
�3� -��� ��������� 3����	 �1����"�� �� ������1 ���� �� =����? ��!�
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$�� #-��	��� .����	 )�����

�3� 5;������ <����� 7����� �5<7( �I�
2���?1� ��%4( �� � 2���6?��2� ������6
��� ���������� �������3�� ������� �1 � �������
����� 	��"����� -��� �3� <�����
7������ �3� 5<7 �� �1 -�� �3� ���� ���� ���������� �������3� -�� ��-������
"��	�������� �� � ������������ "������ ��"� �� ���������� ����� ��� ���� ���6
	������� ������������ ��� 	������� :���� �3� �����������1 �- ���+���� ������
�0?�������� ���%) B������ �� ���� ���&(� �3� 5<7 3�� ���� ��""���-���1 ��	��6
������ �� �����1 �B������ �� ���� ���$) O��� ��� ���� ���%(� ������1 �B������
�� ���� ���&(� ��� -���6"��	����� �1����� �P��?����2���� ��� <����� �44 (�
�3� ���������� �- �3� 5<7 ���H ��( �3� �""�������� �;	�����"� �� ��� �����6
��� ����������� ��� ���"? �������� �������� ����� "�������"� �����"�� �B������
�� ���� ���&) 7������S
 ��� J�����
� �44%(� ���( �3� ������3�-��2��� "������"����
��"� �3� ����"���� �- �3� ����� "�������"�� �� ?��2�� ��� ����( �3� ������ -��"6
������� �� �3� ����� �- -��"������� ���� �� ��	�� ��� �- "����� �1	��� "���������
��� ��	������� ��;������

+���� �.��	��� /����	 '����
 ���� 
�� ���� �		������	

�3� �������� ��	����������� �- �3� 5<7 �� �� ��� "��	���� -���� �3�� ��� 2��3
"��	���� ����������� ��� �� ��	����� ����2 �� ��� "���������6���"���� -���H

0���� ����������

˙̂x = f̂(x̂, F̂ , x̂F , T̂F , Q̂, R̂) �%�$�(

5���� "�������"� 	��	�������

˙̂
PE = FEPEFE

T + QE �%�$�(

<����� ���� �����;

KE = PEHE(HEPEHE
T + RE)

−1
�%�$"(

0���� �������� �	����

x̂+ = x̂ + KE(T − T̂ ) �%�$�(

5���� "�������"� �	����

PE
+ = (I − KEHE)PE �%�$�(

���	�������

T̂ = β̂(x̂) �%�$-(
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5+� �%�$( �� 2������ �� �����"��� -���� ������� �3�� x �� �3� "��	������� ��"6
���� T = [Ts1 . . . Tsm ] �� �3� ���	������� ��"���� FE ��� HE ��� �3� >�"�����
��� ����������� �����"��� QE ��� RE ��� �3� ����� ��� ����������� �����
"�������"��� PE �� �3� �1���� "�������"� ��� KE �� �3� ���� �����;�

� ������ ����#"����� �� �3� ��#������ �- ����������� ����"���� ����� �� '3�	���  
�� ������ 23�� "���������� �3� 5<7 �� �3� "��	���� -��� �%�$(H ��� "��	�������
������ ��� ��������� �� �3� ������ 23��� ������� ��� 	��"��� ������� �3�� �3�
����������� ����"���� ���1 "������� �� ����"���� �		��	����� ���	������� ������
��"�������

'��	���� �� �3� :5 "���� �3� 5<7 3�� � ��M"��� ������� ���"� QE ��� RE

���� �� ���+�����1 "3���� �� �3� ����� �- �3� �;	�"��� ����� ��� �����������
������� ��������� �� �� �;	������ ����� ��� ����� 	��"������ 7���3������� �3�
5<7 2��3 ����� ���������� �%�$( 	������� �3� ���2��"? �- �3� 3��� ������ �-
9�5� �� �� ���������� ��3� ��������� ����� ����� �� nM (nM+1)

2 + nM (� ��� ��
�3� "��	������� �- �3� 3��36����������� ���� �����; PE �3����3 �3� =�""���
�+������ �%�$�(� ,������ �� �3� 	������ "���� 2849 9�5� ���� �� �� �����������

�3� ���� "�������������� �����3�� 2��3 �3� ����"����� "������������� ����� ��
'3�	���  ������ ���1 ���� "��	������� ������ ���� �� �� ��������� �3����3 ���6
	������� ������������(� ������� �3�� � ������� �- �3� 5<7 2��3 	������ ����6
������ �� ����"�� ����� ��������( �� "���������) �3�� ������� �� �3� 5;������
<����� 7����� �=5<7( 2��3 	������ ����������� 23��� -���������� �� ����� ��
��;� �����"�����

+���� �.��	��� /����	 '����
 ����  �
���� �		������	
01�/'2

,� �3�� �����"���� �3� 5<7 2��3 	������ ���������� �=5<7( �� 	��������� �3�
���� �� �3�� �3� ����������� ��>�"���� �� ��� "��	������� ������ ���� ��� �����-6
�"����1 "��������� �� �3� �@���� ���������� ���?� '��	���� �� �3� 5<7� �3�
=5<7 	������� � 	������ ���������� �"3���H ���1 ���� �- �3� "��	������� ������
��� ���������� �""������ �� �3� ����"��� ����������� ����"����� �3� =5<7 ��
2������ �� -����2�H

,�������� ������ �-�� ��1 ��������� ����� ĉμk
sk
� 2��3 k = 1, . . . , m(

˙̂cμk
sk

= f̂μk
sk

(�̂sk−1, �̂sk
, �̂sk+1) �%� �(

K����������� ������ �-�� ��1 ������������ ����� ĉj
i � 2��3 (i, j) �= (sk, μk)(

˙̂cj
i = f̂ j

i (�̂i−1, �̂i, �̂i+1) �%� �(
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5���� "�������"� 	��	������� �-�� k = 1, . . . , m(

˙̂
Pμk

E,sk
= Fμk

E,sk
Pμk

E,sk
Fμk

E,sk
+ Qμk

E,sk
�%� "(

<����� ���� �����; �-�� k = 1, . . . , m(

Kμk

E,sk
=

Pμk

E,sk
Hμk

E,sk

Hμk

E,sk
Pμk

E,sk
Hμk

E,sk
+ Rμk

E,sk

�%� �(

0���� �������� �	���� �-�� k = 1, . . . , m(

ĉμk +
sk

= ĉμk
sk

+ Kμk

E,sk
(Tsk

− T̂sk
) �%� �(

5���� "�������"� �	���� �-�� k = 1, . . . , m(

Pμk +
E,sk

= (I − Kμk

E,sk
Hμk

E,sk
)Pμk

E,sk
�%� -(

���	�������� �k = 1, . . . , m(

T̂sk
= β̂(�̂sk

) �%� �(

5+������� -�� "�������"� 	��	�������� ���� "��	�������� "�������"� ��� "��	�6
������ �	����� ��� �3� ���� �- �3� 5<7 "���� �;"�	� -�� �3� -�"� �3�� ���1 �3�
"�������"� ����� ������� �� ��������� ������ ��� 	��	������� �3� 	��	������� �-
��"3 "�������"� ���� �� ��"��	���� ��������� �� � ����� 2��3 ��2�� ���������� ,�
-�"�� "��	���� �� �3� 5<7� �3� ������ �- 9�5� �� �� ���������� �� �3� =5<7
�� "����������1 �������H nM + m 9�5� 3��� �� �� ����������� ������� �3�� �3�
:5 ��� �3� =5<7 3��� "��������� 3��� �3� ���� �������������1�

$�� ������� 

�����

,� �3�� 0�"����� �3� �2� ���������� �������3�� ��	��1�� �� �3�� �3���� 3��� ����
���"�����H �3� :�������" 9������� �:5( 2��3 	������ ���������� ��� �3� 5;6
������ <����� 7����� �5<7( 2��3 ���3 	������ ��� "��	���� ����������� =�6
�������� �- �3� �������3�� �3� 	������ ���������� 	������ � "����������� ����"����
�- �3� ������ �- 9�5� �� �� ����������H �- �3� ����� �- �3� ���������� ����� ��
nM ��� m ���	������� ������� ��� ���� -�� ����������� �3� ����� �- �3� 	������
��������� �� nM + m� 23��� �3� ����� �� nM (nM+1)

2 + nM �- "��	���� ����������
�� ����� �� ������� �3� �������3�� �3� ���� ��������� �- �3� :5 "��	���� ��
5<7 �� ��� �1�������" ������ 	��"����� -�� ����1 ���������� ����"����� 23��� �3�
5<7 3�� �� ���� ����� 2��3 � ���� �;	������ ����� ��� ����� ��"3��+���



���

������� �

�����
���� ��	����	
� 	������

,� �3�� '3�	���� �3� ���������� ����"����� ������� ��� ��������� �3� "��������
����"����� ����"��� �3����3 �3� ����1��� �- �3� ���	������� �������� 2��3 	��6
"��	����� "����������� ������� ��� 3��� �������� �3����3 �1����" ������������
�� �3� ���� "��	������ ����� �	���� ���	��"��1 ��� ����������� �3� :�������"
5�������� �:5( �� "��������� �� �3� ���� ���������� �������3� ��� �� ���� ��
����� �� "��	��� �3� ��8����� ����"������ 23��� �3� 5<7 2��3 	������ �� "��	����
���������� �� ���� -�� ��?�� �- "��	������ ���2��� �������3��� "���������� ���1
�3� ���� ���������� ����"������

'�� �	����
����	

�3� "�������� ���������� ����"����� �������� �3����3 �3� ���	������� �����6
��� 2��3 	��6"��	����� "����������� ������� ��� �������� -�� ���3 ����������
��>�"����� 59� ��� 59�� 23�"3 ��� 3��� ��"����� -�� ��?�� �- "�����1H

���	���	
� /�0���	�� 
 -�/
.� �3�� ��>�"���� �� �3� ���������� �- ����������
�'� �1����"� 2��3�� �3� 	���"����� ����� 23�� �3� "������ ��>�"���� �� '9� ������
���������� �- ���������� �'�(� ��� 3�� �� �� �������� 2��3 ������� "��������� 00�
�����		��� ��"���� 2��?��� �� 3��36	����1 "���������(� ������ �� ����� !��

ĉiC4
D (t) ∈ ciC4

D (t) ± Δĉ = ciC4
D (t)±0.015 �&��(

���	���	
� /�0���	�� � -�/�.� �3�� ��>�"���� �� �3� >���� ���������� �-
���������� �'� ��� ������ '! �1����"� 2��3�� �3� 	���"����� ����� 23�� �3�
"������ ��>�"���� �� '9� ������ ���������� �- ���������� �'� ��� ������ '!(� ���
3�� �� �� �������� 2��3 ������� "��������� 00� ��� ��"���� 2��?��� �� 3��36	����1



��� '3�	��� &� 5��������� ����"����� �������

"���������(� ������ �� ����� !��

ĉiC4
D (t) ∈ ciC4

D (t) ± Δĉ = ciC4
D (t)±0.015 �&���(

ĉC3
B (t) ∈ cC3

B (t) ± Δĉ = cC3
B (t)±0.015 �&���(

,� ����� �� ���� �3� ����"������ �3� "����� �� ���>�"��� �� � "3����� �� �	�������
"��������� �� �� 0"������ � �0'�� ��� ����� $��( ��� 0"������ � �0'�� ����� $�!(�
�3� ���� "��������� �� "������ "���� 7�� ���3 0"�������� �� �� ������� �3�� ����
8�� ��� ��
	������� ��� 
��
����� 23��� ���� ��
	�
����� �
 ���� ���"� ������
"��	������� ����1
��� ��� ��� ���������� �3� ��������� �!��4( �� ��2�1� ��� 2��3H
��( ������� "��������� �+��� �� ��������� �����16�����) ���( -��� "��	������� �� ���
������� �����) ����( ���	������� ����������� ����� �		��;������ 2��3 � ����6
������ 2��� �- ��	������ 0.2 < ��� -��+���"1 603−1) ���( �3�����1����"� �����
�1 �3� �������� !6"������� ������� 5+������ �=��� �� ���� ���&(� ��� �3���-���
�		��;������ 2��3 ���	�"� �� �3� �;������ %6"������� �+������ ���� -�� �3� -���
����� �� 5+� �!��(�

5�"3 ���������� ����"���� 3��� "��������� �� ����� �� �3� ����"�� ����� �!��4(
2��3 ���1 '!� �'� ��� �'� �� ������� "��	������� 0�"3 ����� �� ���� ��
"��>��"���� 2��3 ��8����� ����������� ����"������ 23�"3 -��� ��2 �� 2��� ��
������� ��

σE[μ,s1,...,sm]

������� �3�� �3� "��	����� μ �� ��������� �� �3� ������ s1, . . . , sm� �3� ���� ��6
�������� ����"����� ��� �3�� "��	���� 2��3 ��8����� ���	������� �		��;��������
���� �� ����������� �� 5+� � �!(� � ����"���� 2��3 ���	������� �		��;�������
2��� �� ������� ��

σE[μ,s1,...,sm]T [I1,F1,...,Iq .Fq]

�- ���	�������� ��� �		��;������ -��� Ik6�3 �� Fk6�3 ������ -�� k = 1, . . . , q�

'�� #
�������	 /�0������ � +#/�,

�""������ �� �3� ���������� ��>�"���� 59�� �3� ���� �� �� ��-�� ���������� �'� "��6
	�������� �3�� ��� �3� ?�1 ���������� ��	����1� 59� ��>�"���� �� ������� �� "������
��>�"���� '9�� ���"� �3� ��	����1 �� �� ��������� �� '9� "��� �� �3� ��� �� ��
��������� �� 59� "���H �� �� ������� 3��� �3�� �3� "����� �� 2��?��� �� "�����6
���	� 2��3 �3� ���	������� �� 336�� ����� "��������� �3����3 �3� �������� 3���
���1 Q 2��3 � "����������� ������6��� "��������� ������ 2��3 � "������ ����"����
σC[Q,33]� ��� '3�	��� $(� B��3 0"������ � �0'�( ��� 0"������ � �0'�( "���������
��� "���������H �� #���� �3� :�������" 5�������� �:5( �� ������ �� ���������� ��6
�����3�� �� "��>��"���� 2��3 ������� "�������� ���������� ����"����� ����������
�� 0�"����  ����� 23�"3 ��� "��	���� �� ����� �� #�� �3� ���� ����"����) �3��� �3�
���� ���������� ����"���� �� ������ 2��3 5;������ <����� 7������ �2��3 	������
�� ����"�� ����������(� ��� "��	���� �� �3� :5 "����
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3���� -� ��
�
��
�� 
������ � �*�

:�������" 5�������� �:5( ����"����� ������� ��� ��2 �������� -�� 59� "���� 2��3
���	�"� �� 0'� ��� 0'��

)��	��

������ 	��������� ��� "3���� �""������ �� ���������� ����� �� 0�"���� %���!� 5�6
������� -��+���"1 λ �� "3���� 10 ����� ������ �3�� �3� "3���"�������" -��+���"1
ω = 13−1 �� �3� ����"3��� ��"���� �������1 "��	���� �� 0�"���� $����(� �������
�3�� λ = 103−1 23��� ���	��� -�"��� ξ �� "3���� �+��� �� 3� �3� ��������� ������
	��������� ��� �3���-��� �3� -����2���H

KP = 60 KI = 100

+�����	
 
 -+�
.

�""������ �� 0'�� �3� "����� �� ������ �� � ���	6	���6���������� "3���� �� �3�
-���H

(BD + AD sin(2πωDt))H(t − 1)

23��� H �� �� D�������� ���	 ��� t = 13 ���"� �3� ���������"� �� �		���� �� �3��
����(� ωD �� �3� ���������"� -��+���"1� BD ��� AD ��� �3� ���������� �- �3�
���	 ��� �- �3� ���������� ���������"�� ���	�"�����1� �3� ���������"� 	��������
������ ��� ��	����� ����� �� ����� &��� =�"��� �3�� -��� A�2 ���� ��� ���	���6
���� ��� ��������� 23����� -��� "��	������� �� ���� ������� �3�� �3� ���������
���� ��� 3��� ��-�������� ����� ��� "3���� ��� �3���-��� �� ��2�1� ��� 2��3 -���
"��	������� �� ��� ������� ������ �� �3�2� �� 7����� &���

03< t < 13 BD AD ωD

F 88.2�3 3−1 6.8�3 3−1 10�3 3−1 3 3−1

cC2
F 0.0036 −0.0016 0 3 3−1

cC3
F 0.281 −0.011 0.02 3 3−1

ciC4
F 0.236 −0.00128 0.02 3 3−1

cnC4
F 0.4746 0.0254 −0.04 3 3−1

ciC5
F 0.004 0 0 3 3−1

cnC5
F 0.0008 0 0 3 3−1

TF 320 < −3 < 10 < 3 3−1

����� &��H ���������"� 	��������� -�� 0"������ � �0'�(

7�����1� ������� ����"����� 2��3 ��� ���	������� ������� 2��3 ��"3 ������ ��"����
�� ��8����� "����� ������� �� ���3�� ����		��� �� ����"3��� ��"����� ��� ������ ��
����� �� #�� ��� 23��3�� �3� ����"����� "������������� ���� �� '3�	���  ���
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C3
iC4
nC4

7����� &��H �"���� ���	( ��� ������� �������( "��	������� -��� ��6
3����� -�� 0"������ � �0'�(�

������ 9��1 '! �� ���������� ���"� �� �� �3� "��	����� 23�"3 �����1 "����������
�� �3� ���	������� �������� ��� �3���-��� "�� 	������ �3� ������� ������ �-
��-��������� ,� 7����� &��� ����������� ����"����� σE[C3,17]� σE[C3,23]� σE[C3,30]

��� σE[C3,37] 3��� ���� ������ ��� "��	����� �3�2��� �3��H ��( �� �;	�"��� �3�
��"����� �- ������ �� ���3�� 176�3 �� 376�3 ����� ���� ��� 1���� �� �""�	�����
��������� ����� �3�� �� ���� �������� �� �������� �� ���3 ��������� ��� �����16
�����) ���( �3� ����"���� 2��3 ������ �� 306�3 �� �1 -�� �3� ���� ��� ����� �3�
����"����� "��	���� ���"� ���3 ��������� ��� �����16����� ���"?��� ��� ���������
�� �;	�"��� -��� �3� ����"����� ����1���� �3� ��������� 2��?� ������ �- �3� ������
�� ��"���� �� �3� ���� 2��3 �3� ������� ��������� �� �3� ��"���� �- �������� ��3�
����"3��� ��� �� �3�� "���(� /�������� ����"���� 2��3 ������ �� 376�3 ����� ����
��� 	����� �3� �"3�������� �- ��>�"����� ��"���� �- �3� ��3��� ��A���"�� ���"�
�� �� � ������� "��	����� �� ����"�� ��������� ����� �!��4(�

� -���3�� ���� �� ���� "���������� �3� ��"����� �- �3� ���	������� ������ �� �3�
���� 2��3 ������� ��������� ������� 306�3 �����(� �� ��8����� ��"������ �306�3� 316
�� ��� 336�� ������(� �3� "��	������ ���2��� σE[C3,30]� σE[C3,31] ��� σE[C3,33]

����"����� �� 7����� &�! �3�2� �3�� �� �����#"��� ��8����"�� ��� 	������ �� �3�
��������� 	��-�����"��

,� ����� �� ��� 23��3�� �3� �������� �- ���� ������� ��	����� 	��-�����"�� ���6
�������� ����"����� 2��3 � �������� ������ �- ������� �-��� 1 �� 4( �� �3� ����
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Range
Plant
σE[C3,17]
σE[C3,23]
σE[C3,30]
σE[C3,37]

7����� &��H 59�� 0'�H "��	������ ���2��� �3� ����������� ����"�����
σE[C3,17]� σE[C3,23]� σE[C3,30] ��� σE[C3,37]
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Range
Plant
σE[C3,30]
σE[C3,31]
σE[C3,33]

7����� &�!H 59�� 0'�H "��	������ ���2��� �3� ����������� ����"�����
σE[C3,30]� σE[C3,31] ��� σE[C3,33]
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t [h]

ĉiC
4

D
(t

)

 

 
Range
Plant
σE[C3,30]
σE[C3,30,31]
σE[C3,30,31,33]
σE[C3,30,31,32,33]

7����� &��H 59�� 0'�H "��	������ ���2��� �3� ����������� ����"�����
σE[C3,30]� σE[C3,30,31]� σE[C3,30,31,33] ��� σE[C3,30,31,32,33]

�- �3� ����"3��� ��"���� 2��3 �3� ������� ��������� ��� ������ ��� "��	�����
,� 7����� &��� �3� "��	������ ����� σE[C3,30]� σE[C3,30,31]� σE[C3,30,31,33] ���
σE[C3,30,31,32,33] �� �3�2�� ,� "�� �� ���� �3�� �3��� �� �� ��	�������� �� ��6
�������� �3� ������� �����16����� 23�� ����� ���� ������� �- 2 �� 3 ������� ���
���� �23��� �3� 46�3 ������ �� ������ �������(� 9� �3� ��3�� 3���� ������� �� ���
"3���� -�� ��������� ��� #��� �����16����� �����������

�3� 36������ ����"���� σE[C3,30,31,33] 3�� ���� ���� ������ 2��3 �� ����������
����� 2��3 ��8����� ���	������� �		��;�������� �� �� 5+� � �!(� ���	�������
��������� �� 7�����  �� 2���� ������� �3�� ���	������� �� �		��;������ -���
16�� �� 166�3 ������) 3�2����� -�� ��?�� �- "��	������� ���� �3� �		��;�������
-��� 16�� �� 126�� ��� 236�� ������ ���	�"�����1 3��� ���� ������� 2��3 �������
�3�2� �� 7����� &�$� ,� "�� �� ����� �� �3� ���	������� �		��;������� �� �3�
����		��� ��"���� ���1 ���� ��� 1���� � ��8����� ��3�����) �� �3� ��3�� 3���� �3�
�		��;������� -��� 16�� �� 236�� ����� 	����"�� � ��"3 ������ ������ �3�� "����
�� �;	������ �1 �3� ��"������ �- -��� ����� �� �3� ������ 23��� ���	�������� 3���
���� �		��;�������
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Range
Plant
σE[C3,30,31,33]
σE[C3,30,31,33]T [1,12]
σE[C3,30,31,33]T [1,16]
σE[C3,30,31,33]T [1,23]

7����� &�$H 59�� 0'�H "��	������ ���2��� �3� ����������� ����"�����
σE[C3,30,31,33]T [1,12]� σE[C3,30,31,33]T [1,16] ��� σE[C3,30,31,33]T [1,23]

�

+�����	
 � -+��.

=�"��� 0'�� 23�"3 "������� �� ������� �3� "����� �� � ���	6	���6���������� "3����
�� �3� -���

(BD + AD sin(2πωDt))H(t − 1)

23��� H �� �� D�������� ���	 ��� t = 13 ���"� �3� ���������"� �� �		���� ��
�3�� ����(� ωD �� �3� ���������"� -��+���"1� BD ��� AD ��� �3� ���������� �-
�3� ���	 ��� �- �3� ���������� ���������"�� ���	�"�����1� �3� "3���� �� 0'� ��
�������� ��� 3�� �		����� ����"���� 2��3 ���	�"� �� 0'� "���� ��� �3� ���������"�
	�������� ������ ��� ��	����� ����� �� ����� &��� =�"��� ����� �3�� -��� A�2 ����
��� ���	������� ��� ��������� 23����� -��� "��	������� �� ���� ������� �3��
�3� ��������� ���� ��� 3��� ��-�������� ����� ��� "3���� ��� �3���-��� �� ��2�1�
��� 2��3 -��� "��	������� �� ��� ������� ������ �� �3�2� �� 7����� &� �

,� 7����� &�% �3� "��	������ ���������������� ����"����� σE[C3,30]� σE[C3,30,31]�
σE[C3,30,31,33] ��� σE[C3,30,31,32,33]H ��8������1 -��� 0'� "���� �� ����� 2 �������
��� ������ -�� ��������� �� �""�	����� ������� ��� #��� �����16����� 	��-�����"�)
-���3������ 2 ������� ������ � ���� ��������� ���"?���� K��� �3�� �� �� 0'� "����
�3� �������� �- �3� 46�3 ������ ���� ��� 	����"� ��1 ��8����"� "��	���� �� �3�
36������ 	��-�����"��

0����+�����1� ����"���� σE[C3,30,31,33] 3�� ���� ������ 2��3 �� ���������� �����



��& '3�	��� &� 5��������� ����"����� �������

03< t < 13 BD AD ωD

F 88.2 �3 3−1 −22.2 �3 3−1 10 �3 3−1 3 3−1

cC2
F 0.0036 − 0.0016 0 3 3−1

cC3
F 0.281 0.043 0.02 3 3−1

ciC4
F 0.236 0.021 0.02 3 3−1

cnC4
F 0.4746 − 0.0704 −0.04 3 3−1

ciC5
F 0.004 0 0 3 3−1

cnC5
F 0.0008 0 0 3 3−1

TF 320 < 10 < 10 < 3 3−1

����� &��H ���������"� 	��������� -�� 0"������ � �0'�(

2��3 ��8����� ������ �- ���	������� �		��;��������� -��� 16�� �� 126��� 166�3 ���
236�� ���	�"�����1� �� �� 0'� "���� =������ ��� ��	�"��� �� 7����� &�& �3�2���
�3��� �� �� 0'� "���� ���1 �3� �		��;������� -��� 16�� �� 236�� ����� 1�����
� ��8����� ��3����� "��	���� �� �3� ��� 2��3��� ���	������� �		��;��������
K��� �3�� �� �3�� "���� ��8������1 -��� 0'� "���� �3� ���	������� �		��;�������
����"�� � "��	�������� �- �3� #��� �����16����� ���������� �����) 3�2����� �� ��
��	������ �� 3��3���3� �3�� �3�� �� ��� � ������� "���� �� "�� �� ����"�� -���
0'� "����

�
�(��	�
� ������� 7� ��� �84 , �/


� "��	������ ���2��� ���������� �������3�� �� ��2 ���� 23�� "���������� �3�
���������� ����������� ����"���� 2��3 3 ������� ��"���� �� 306�3� 316�� ��� 336
�� ������ ��� '! �� ��������� "��	������ =������ ��� ��	����� �� 7����� &�� -��
0"������ �� �3�2��� �3�� � 	������ ���������� �� ��M"���� �� ����� �� �"3���� �3�
���������� ��>�"����� �3�� "�� ���� �� ����"�� -��� �� ����1��� �- �3� <�����
:��� /����; �� �3� 5<7 2��3 "��	���� ����������� 23�"3 �3�2� �3�� �3� ����6
������ �����1 �"�� -�� �3� '! �� �3� ���� 23��� ���	������� ������� ��� ��"�����

/������ �
��	�����	
��

,� �3�� 0�"����� �� 3�� ���� �3�2� 3�2 � :5 ����� �� � ����"�� ����� 2��3 3
������� "��	������ �'!� �'� ��� �'�( �� "��>��"���� 2��3 ���	������� ���6
���� �� ���� �� ��-�� �3� "��	������� �- �'� �� �3� ����������� �""������ �� ��>�"����
59�� � ����"���� 2��3 2 ������� �� 306�3 ��� 316�� ����� 	������ �3� �"3��������
�- �3� ��>�"���� �� ���3 0'� ��� 0'� "���� 23��� �3� �������� �- ���� �������
�-��� �3� 36�� ��� ���� ��� ������ �� ��1 ��	��������� /�������� ���	�������
"�� �� ������� "������� �� � ������ -��� 16�� �� 166�3 ������ �2��3 ����� �����6
���� ��� ������ ��-�������� "����������� -�� �3� ���������� ��>�"���� �- ��������(�
2��3��� �������� ��������� 	��-�����"�� /�������� �3� "��	������ 2��3 5<7
�������3�� �3�2� �� 	������ ���������� ��M"�� �� ����� �� ���+�����1 	��-���
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C3
iC4
nC4

7����� &� H �"���� ���	( ��� ������� �������( "��	������� -��� ��6
3����� -�� 0"������ � �0'�(�

�3� ���������� ���?�

'�� #
�������	 /�0������ � +#/�,

�3� ���������� ��>�"���� � �59�( "������� �� �3� >���� ��-������ �- ���3 ?�1 ��	�6
���1 �@���� "��	��������� �3�� ��� '! �� �3� ������ ��� �'� �� �3� ����������� �3�
"����� 2��?� �� "�����6���	� ���"� �3� ���	�������� �� 56�3 ��� 336�� ������ ���
"��������� �3����3 �3� �������� 3��� ���1 Q ��� �3� ��A�; ���� R ���	�"�����1 2��3
� "����������� ������6��� "���������� �3�� ��� �3� "������ ����"���� σC[Q,5][R,33] ����
'3�	��� $( �� ����� �� -�� 59� "���� ���3 0"������ � �0'�( ��� 0"������ � �0'�(
"��������� ��� "���������� ��� #����1� �3� :�������" 5�������� �:5( �� ������ ��
���������� �������3�� �� "��>��"���� 2��3 �3� "�������� ���������� ����"�����
���������� �� 0�"����  ����) �3��� �3� ���� ���������� ����"���� �� �������� 2��3
5;������ <����� 7������ 2��3 	������ �� "��	���� ����������� ��� "��	���� ��
�3� :5 "����
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ĉiC
4

D
(t)

 

 
Range
Plant
σE[C3,30]
σE[C3,30,31]
σE[C3,30,31,33]
σE[C3,30,31,32,33]

7����� &�%H 59�� 0'�H "��	������ ����� �3� ����������� ����"�����
σE[C3,30]� σE[C3,30,31]� σE[C3,30,31,33] ��� σE[C3,30,31,32,33]
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Range
Plant
σE[C3,30,31,33]
σE[C3,30,31,33]T [1,12]
σE[C3,30,31,33]T [1,16]
σE[C3,30,31,33]T [1,23]

7����� &�&H 59�� 0'�H "��	������ ���2��� �3� ����������� ����"�����
σE[C3,30,31,33]T [1,12]� σE[C3,30,31,33]T [1,16] ��� σE[C3,30,31,33]T [1,23]

�
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Range
Plant
σE[C3,30,31,33] GE
σE[C3,30,31,33] REKF
EKF

7����� &��H 59�� 0'�� ����"���� σE[C3,30,31,33]H "��	������ ����� :5�
5<7 ��� =5<7

�

3���� -� ��
�
��
�� 
������ � �*�

:�������" 5�������� �:5( ����"����� ������� ��� ��2 �������� -�� 59� "���� 2��3
���	�"� �� 0'� ��� 0'��

)��	��

������ 	��������� ��� "3���� �""������ �� ���������� ����� �� 0�"���� %���!� 5�6
������� -��+���"��� λS �����		��� ��"����( ��� λE �����"3��� ��"����( ��� "3����
10 ����� ������ �3�� �3� "3���"�������" -��+���"��� ωS = 23−1 ��� ωE = 13−1

�������1 "��	���� �� 0�"���� $���� ��� $���� ���	�"�����1( �� �3� ���� ��"������
23��� ���	��� -�"��� �� ������� �� �� ξi = 3�

�3� ��������� ������ 	��������� ��� �3���-��� �3� -����2���H

KS
P = 60 KS

I = 100

KE
P = 120 KE

I = 400
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Range
Plant
σE[C3,5,30,31,33]
σE[C3,5,7,30,31,33]
σE[C3,3,5,7,30,31,33]
σE[C3,3,5,6,7,30,31,33]
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7����� &��4H 59�� 0'�H "��	������ ����� �3� �����������
����"����� σE[C3,5,30,31,33]� σE[C3,5,7,30,31,33]� σE[C3,3,5,7,30,31,33] ���
σE[C3,3,5,6,7,30,31,33]

+�����	
 
 -+�
.

B���� �3� ���� �3� >���� ���������� �- ���3 ������ '! ��� ���������� �'� "��6
	��������� ���	������� ������� ���� �� �� 	��"�� �� ���3 ����		��� ��� ����"3���
��"����� :���� �3�� -�� 59� "��� �3� 36������ ����"���� 2��3 30� 31 ��� 33 1�����
�3� ���� 	��-�����"� �""������ �� �3� ��>�"������ �3��� ��"������ 3��� ���� "3�6
��� ���� -�� 59� "���� ,� �������� �� �3��� ��� �� ���� ������� �-��� � �� �(
3��� ���� ����� �� �3� ����		��� ��"����� �� �3� ���� 2��3 �3� ������� ���������
������� �3� 56�3 �����(� �� ����� �� #�� �3� ���� ���������� ����"����� 0���"�����
σE[C3,5,30,31,33]� σE[C3,5,7,30,31,33]� σE[C3,3,5,7,30,31,33] ��� σE[C3,3,5,6,7,30,31,33] 3���
���� ������ ��� "��	���� �� 7����� &��4� ,� "�� �� ����� �� � ������ �� �3� ����	6
	��� ��"���� ��M"�� �� ������ ���� ��������� ��� �����16����� �1����"� -�� ���3
��	������� �� �� ����������

�3��� �3� ����"���� σE[C3,5,30,31,33]� �� ������ 2��3 �2� ��8����� ���	�������
�		��;��������H ��( -��� 106�3 �� 176�3 ����� ��� -��� 216�� �� 236�� �����
��		��;������� �� � �������(� ��� ���( -��� 106�3 �� 236�� ����� ��		��;���6
���� �� � ������ 23�"3 ��"����� �3� � ������� �- �3� �		��;������� �� 	����
��((� =������ ��� �3�2� �� 7����� &���� ��� �3�2� �� �3� #��� �		��;�������
�σE[C3,5,30,31,33]T [10,17,21,23] ����"����( 	����"�� �3� ���� 	��-�����"� �- �3� ��6
������� 2��3��� ���	������� �		��;�������) �� �3� ��3�� 3���� �3� ��"��� �	6
	��;������� �σE[C3,5,30,31,33]T [10,17,21,23] ����"����( ������� �� � 	��-�����"� 2���6
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7����� &���H 59�� 0'�H "��	������ ����� �3� ����������� ����"�����
σE[C3,5,30,31,33]� σE[C3,5,30,31,33]T [10,17,21,23] ��� σE[C3,5,30,31,33]T [10,23]

������ 	������1 ��� �� �3� -�"� �3�� �3� ������ �� 23�"3 ���	������� �� �		��;�6
����� ��"����� �3� -��� ������

+�����	
 � -+��.

,� 0'� "���� �3� ���� ����� �� �� 0'� ��� ��� ����� 7�����1� �3� ����"����� 2��3
� �������� ������ �- ������� �-��� � �� �( �� �3� ����		��� ��"���� ������ 56�3
����� ��� ! ������� �� �3� ����"3��� ��"���� ��� 306�3� 316�� ��� 336�� ������( 3���
���� ������ ��� "��	����� =������ ��� ����� �� 7����� &���� ��� �3�2� �� ���1
� ������ �� �3� ����		��� ��"���� �� ��M"���� -�� ��������� ���� 	��-�����"�)
���3��� 	��-�����"� ���� 2���� 23�� ���3�� ! �� � ������� ��� 	��"�� �� �3�
����"3��� ��������

'������� ��2 σE[C3,5,30,31,33] ����"����H �- ���	������� �		��;������� �� ���� ��
�� 0'� "���� ���������� 	��-��� �� �3�2� �� 7����� &��!� 0��� "�������������
�- 0'� "��� 3���� ������� �3�� ��������� 	��-�����"� �������� �- -��� ����� ��
��"����� �� �3� ������ �- �		��;��������
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�@���� "��	�������� ������ �3� 	���"����� ������ -�� � ����� ��	�������� �� �	���
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���� "������ ��� ���������� 2��3��� �8����
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��"������ �� � ����� "���� �� -��� ���� 9� �3� ��3�� 3���� ����	������ ��������
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�4��� '��"������� ��%

5;"������ "������ 	��-�����"� 3�� ���� �������� 2��3 ��� "����������� ,� 3�� ����
�3�2� �3�� �3� ���� ������ ��"����� -�� �"3������ '9� ��>�"���� ������ ����������
�- ���������� �'� 2��3�� � 	���"����� �����( �� �3� 336�� ����� �� ������6��� "��6
������� 3�� ���� ���� 2��3 Q �� ����	������ ��������(� 23��� �� '9� "��� ������
>���� ���������� �- ������ '! ��� ���������� �'� 2��3�� 	���"����� ������(� ����
������ ��"������ ��� �3� 56�3 ��� �3� 336�� ������ �� ����6��� "��������� 3�� ����
����(� '��"��� "���������� �� ��������� ������ �3�� ��� "����������� "������	���
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